HONDA

G0D1100-GD1 250

PREFACE

This manual covers the construction, func-
tion and servicing procedure of the Honda
GD1100-GD 1250 diesel engine. Careful
obsorvance of these instructions will result in
better, safer service work.

| ALL INFORBAATION, ILLUSTRATIONS, DIREC-
TIONS AND SPECIFICATIONS INCLUDED 1N
THIS PUBLICATION ARE BASED OM THE LATEST
PRODUCT INFORMATION AVAILABLE AT THE
TIME OF APPROVAL FOR PRINTING. HOMDA
MOTOR CO., LTD RESERVES THE RIGHT TO
MAKE CHAMGES WITHOUT INCURRING AMNY
OBLIGATION WHATEVER. NO PART OF THIS
PUBLICATION MAY BE REFRODUCED WITHOUT
WRITTEN PERMISSION.

HOMDA MOTOR CO_, LTD.
SERVICE PUBLICATIONS OFFICE

CONTENTS

SPECIFICATIONS

SERVICE INFORMATION

MAINTENANCE




HONDA
GD1100-GD1250

PREFACE SOMMAIRE

Ce manuel donne le détml des procédes d’agencement, i -
de fonctionnement <t d'entretien des moteurs diesel |\(— ARACTERISTIQUES
Honda GDII00 ¢ G250, Le fait d"observer soignew- i —— —
sement ces instructions apportera un fonctionnement | INFORMATIONS D'EMTRETIEN E

meeilleur et plus siir,
—

TOUTES LES INFORMATIONS, ILLUSTRA- | ENTRETIEN

TIONS, DIRECTIVES ET CARACTERISTIQUES b — —

{ PESENTEES DANS CETTE BROCHURE REPO-
SENT SUR LES RENSEIGNEMENTS LES PLUS
RECENTS CONCERMNANT LE MODELE AU

! MOMENT DE L’APPROBATION DE MISE S0OUS
FRESSE. LA SOCIETE HONDA MOTOR CO.,
LTD 5E RESERYE LE DROIT IYEFFECTUER DES
MODIFICATIONS SANS ENGAGEMENT
INMAUCUNE SORTE DE SA RESPONSABILITE.
TOUTE REFRODVUCTION PARTIELLE OU COM-
FLETE DE CETTE PUBLICATION EST INTER-

| DMTE SANS AUTORISATION ECRITE,

HOMNDA MOTOR COL, LTD, 19849
SERVICE DES PUBLICATIONS




HONDA
GD1100-GD1250

VORWORT

Chiesas Werkstatt-Handouwch bebandelt aufeau, Funktion
und ‘Wartungseerfahren der Honda-Oiessimotoran GO 100-
GD1250. Eine sorgfiltige Befoigung dar in diesem Hand-
buch gegebenen Anleitungen wird sich in basserer, sicharer
WiartengEartait auszahlan,

I
{ ALLE IMFQREMATIOMERN, ABBILDUNGEM, HICHT-
{ LIMIEN UND TECHMISCHEM DATEM IM DIESER
VEAGCFFEMTLICHUMG  BASIEREM AUF  DEA
MNEUESTEM PRODUETINFORMATION, DIE ZUM
ZEITPUNET DER DRUCKGEKWEHMIGUMNG ERHALT-
LICH WAR., HOMDA MOTOR CO., LTD. BEHALT
SICH DAS RECHT WOR, ANDERUMGEN JECERZEIT
COHME YVIDRAMEONDLGUNG WORAZUNEHMER,
OHME IRGEMDWELTHE YERFFLICHTUMNGEN EIR-
ZUGEHEMW. KEIM TEIL DIESER WVERQFFENT-
LICHUNG DaRF  OHNE  SCHRIFTLICHE GE

INHALT

TECHNISCHE DATEN

WARTUMNG

MEHMIGUNG REPRODUZIERT WERDER.

HONDA MOTOR CO, LTD.
LSERVICE-VEROFFEMTLICHUMGSBURD

WARTUNGSINFORMATION




HONDA
GD1100-GD1250

FROLOGO INDICE

En este manual se describe el procedimiento de construg- R
citn funcionamiento y servicio del Motor Honda Diesel ESPECIFICACIONES
G0« G250, Para obtener buenos resultados v Ry T Y

INFORMACION DE SERVICIO

un servicio seguro v eficiente lea con atencidn estas
AP 0L,

| TODA LA INFORMACION, ILUSTRACIOMES,
ORIENTACIONES Y ESPECIFICACIOMNES INCLLIDIAS
EN ESTA PUBLICACION SE BASAMN EN LA MAS RE-
CIENTE INFORMACION DEL PRODUCTO DISFO-
MIBLE AL TIEMPO DE LA APROBACION OBTEMNIDA
FARA LA IMPRESION, HONDA MOTOR CO. LTD,
SE RESERVA EL DERECHO DE HACER CAMBIOS SIN |
INCLERIE EM MNINGUMA OBLIGACION DE
NINGUN GENERD. NO SE PUEDE REFRODUCIR
MNINGLUMNA PARTE DE ESTA PUBLICACION SIN EL |
COMPETENTE PERMISO DADOD POR ESCRITO,

MANTENIMIENTO

HOMDA, MOTOR CO, LTD
OFICINA DE PUBLICACIONES DE SERVICIO




HONDA

GD1100-GD1250

SPECIFICATIONS

SPECIFICATIONS ... 1-2

PERFORMANCE CURVES ........... 1-4

DIMENSIONAL DRAWINGS ........ 1-8

P.T.O. DIMENSIONAL

DRAWINGS ..o 1-9
CARACTERISTIQUES TECHNISCHE DATEN ESPECIFICACIONES

TECHNISCHE DATEN . ... ... ... 1-2
CARACTERISTIQUES ....evveereeeenenen 12 ESPECIFICACIONES +.eevveeeomeoeeeeeerensseesscs 1-2
COURBES DE PERFORMANCES ...... 1-4 bﬂgggggﬁﬁm\éim """"" ]g CURVAS DE FUNCIONAMIENTO ........ 1-4
SCHEMAS DE DIMENSIONNEMENT 18 | WASSZEIHN JROER -coeev e - - 8 | PLANOS DIMENSIONALES occvcerverreveeeen 1-8
SCHEMAS DE DIMENSIONNEMENT AW LIE 1o | PLANOS DIMENSIONALES
DE PRISE DE FORCE ...evveenen... 1.9 | ABTRIEBSWELLE ............ DE TOMA DE FUERZA oooevereeeeersoscrensen 1-9

1-1



HONDA
GD1100-GD1250

SERVICE INFORMATION

GENERAL SAFETY . 2-2

SERVICERULES ......coovviiiiineee 2-2

SERIAL NUMBER LOCATION ...... 2-2

MAINTENANCE STANDARDS ..... 2-3

TORQUE VALUES ....cccoiiviinne. 2-5

SPECIALTOOLS ... 2-6

TROUBLESHOOTING ...\t 2-7

MAINTENANCE SCHEDULE ........ 2-17
INFORMATIONS WARTUNGSINFORMATION INFORMACION DE SERVICIO
D’ENTRETIEN ALLGEMEINE SICHERHEIT ...... 2-2

WARTUNGSVORSCHRIFTEN .. ... 2-2 | SEGURIDAD GENERAL .eeeveerrerenrecrsnnen 22

SECURITE GENERALE .......cc0ceeneee. 22 ﬁviﬂgimggﬁyg l:‘lViEN ----------- 12’§ NORMAS DE SERVICIO ...ucvevrrecmerrerrnnes 22
REGLES D’ENTRETIEN ......cccccevnee. 22 | ANZUGSWERTE .. . .. 7777 5% | LOCALIZACION DE NUMERO
EMPLACEMENT DU NUMERO SPEZIALWERKZEUGE . . . .. ..... 2-6 DE SERIE 22
DE SERIE ....ovvveerreereineverernvenseanaeens 22 | STORUNGSBESEITIGUNG . ...... 2-7 | NORMAS DE MANTENIMIENTO ........... 23
NORMES D’ENTRETIEN .......cccccveeee 2-3 | WARTUNGSPLAN ............ 2-17 | VALORES DE APRIETE .....ccocvrrrenerrererenne 2-5
COUPLES DE SERRAGE .......ccoeuuuee. 2-3 HERRAMIENTAS ESPECIALES .....ccouvenn.. 2-6
OUTILS SPECIAUX ...ooeevveerenveeeenneas 1-5 LOCALIZACION DE AVERIAS ................ 2-7
DEPISTAGE DES PANNES ......c....... 2-6 PROGRAMA DE MANTENIMIENTO .... 2-17
PROGRAMME D’ENTRETIEN ........ 2-17

2-1




HONDA

GD1100-GD1250

MAINTENANCE

ENGINEOIL ..cccoiiiiiiiieeen
AIRCLEANER ...
OIL FILTER CARTRIDGE .............
FUELFILTER ..oiviiiiiiiiee
ALTERNATORBELT ......ccccceeeel.
INJECTION NOZZLE ..................
VALVE CLEARANCE .................
RADIATOR COOLANT ...............
ENTRETIEN WARTUNG
MOTOROL ................. 3-2
HUILE MOTEUR ...c.ccoiiviiiniincncnianeens - LUFTFILTER . .. o v v i v i .. 32
FILTRE A AIR .....ccciviviinvinninnnnns OLFILTERPATRONE .. ........ 33
ELEMENT DE FILTRE A HUILE KRAFTSTOFFILTER........... 3-3
FILTRE A CARBURANT ......cc.couvneneee - LICHTMASCHINENRIEMEN . ... .. 34
COURROIE D’ALTERNATEUR ......... - EINSPRITZDUSE ............. 34
INJECTEUR ....cociiiiiiiiiininiinnnnnnnnen 3-4 | VENTILSPIEL . . ... .......... 35
JEU AUX SOUPAPES ........cccovnvnnneee 35 | KOHLMITTEL . .. oo v i e e v e .. 36
LIQUIDE DE REFROIDISSE-
MENT DU RADIATEUR ......c.cccevennen 3-6

3-2

3-2

3-3

3-3

3-4

3-4

3-5

3-6

MANTENIMIENTO

ACEITE DE MOTOR ... 32
DEPURADOR DE AIRE ..ccoocrrreeren « 32
CARTUCHO DE FILTRO DE ACEHITE ..... 3-3
FILTRO DE COMBUSTIBLE ...cvrevvrnee 3-3
CORREA DEL GENERADOR ELECTRICO 3-4
BOQUILLA DE INYECCION ..ccerrrvrrren 34
TOLERANCIA DE VALVULA .ooeccrrvrne 35
ENFRIANTE DE RADIADOR ....covrcvrren 36

3-1



HONDA
GD1100-GD1250

SPECIFICATIONS

GD1100
Model GD1100
Type SH1 SH2 SH3
Power product description GRA
code
Engine type 4-Stroke, OHC 3 cylinder, water cooled

Combustion method

Direct injection

Displacement

1,061 cm?3 (65.0 cu in)

Bore x Stroke

76 x 78 mm (2.99 x 3.07 in)

Rated output continuous

18HP/2,600 min-* (rpm)

20HP/3,000 min-* (rpm)

22HP/3,600 min-" (rpm)

Maximum torque

6.0 kg-m (43.39 ft-lb)/
1,800 min-' {rpm)

5.7 kg-m (41.22 ft-lb)/
2,000 min-" (rpm)

5.3 kg-m (38.33 ft-ib)/
2,200 min-"' (rpm)

Fuel consumption

184 g/psh [18HP/
2,600 min~? {rpm)]

194 g/psh [20HP/
3,000 min-"' {rpm)]

214 g/psh [22HP/
3,600 min-" {rpm)]

Compression ratio

18 : 1

Firing order

1-3-2 (1-2-3 from timing belt side)

Cooling system

Liquid-cooling

Injection timing

B.T.D.C. 15°

B.T.D.C. 18°

Air cleaner

Dual + Cycione

Governor

Mechanical centrifugal

Lubrication system

Forced oil by trochoid pump

Engine oil capacity

2.9/ (3.07 US qt,
2.55 Imp. qt)

4.8/¢ (5.07 US qgt, 4.22 Imp. qt)

Starting system

Starter motor

Fuel

Diesel fuel

Fuel tank capacity

20 ¢ (5.28 US gal, 4.40 Imp. gal) [Optional part]

P.T.O. shaft rotation

Counter-clockwise

DIMENSIONS AND WEIGHT

Type
SH1 SH2 SH3
Item
Length mm (in) 520 (20.5)
Width mm (in) 415 (16.3)
Height mm (in) 540 (21.3) 555 (21.9)
Dry weight kg (Ib) 100 (220.5)

1-2




HONDA
GD1100-GD1250

GD1250
Model GD1250
Type SH1 SH2 SH3
Power product description GRB

code

Engine type

4-Stroke, OHC 3 cylinder, water cooled

Combustion method

Direct injection

Displacement

1,235 cm3 (75.6 cu in)

Bore x Stroke

82 x 78 mm (3.23 x 3.07 in)

Rated output continuous

20HP/2,600 min-' (rpm)

22HP/3,000 min-' (rpm)

24HP/3,600 min-' (rpm)

Maximum torque

6.6 kg-m (47.73 ft-Ib)/
1,600 min-" {rpm)

6.3 kg-m (45.56 ft-Ib)/
2,000 min-1 (rpm)

5.7 kg-m {41.22 ft-b)/
2,200 min-! {rpm)}

Fuel consumption

180 g/psh [20HP/
2,600 min- {rpm)]

194 g/psh [22HP/
3,000 min~" (rpm)]

214 g/psh [24HP/
3,600 min-" {rpm}]

Compression ratio

18 : 1

Firing order

1-3-2 (1-2-3 from timing belt side)

Cooling system

Liquid-cooling

Injection timing

B.T.D.C. 15° B.T.D.C. 18°

Air cleaner

Dual + Cyclone

Governor

Mechanical centrifugal

Lubrication system

Forced oil by trochoid pump

Engine oil capacity

2.9/ (3.07 US qt,
2.55 Imp. qt)

4.8 1 (5.07 US gt, 4.22 Imp. qt)

Starting system

Starter motor

Fuel

Diesel fuel

Fuel tank capacity

20 ¢ (5.28 US gal, 4.40 Imp. gal) [Optional part]

P.T.0O. shaft rotation

Counter-clockwise

DIMENSIONS AND WEIGHT

Type
SH1 SH2 SH3
Item
Length mm (in) 520 (20.5)
Width mm (in) 415 (16.3)
Height mm (in) 540 (21.3) 555 (21.9)
Dry weight kg (Ib) 100 (220.5)

1-3



i
l
l

HONDA

GD1100-GD1250

CARACTERISTIQUES

GD1100
Modele GD1100
Type SH1 SH2 SH3
Code de description des produits GRA

électriques

Type de moteur

Refroidi par eau, 3 cylindres, ACT, 4 temps

Méthode de combustion

Injection directe

Cylindrée

1061 cm?®

Alésage et course

76 x 78 mm

Sortie nominale continue

18 HP/2 600 min™* (tr/mn) 20 HP/3 000 min™ (tr/mn) 22 HP/3 600 min™ (tr/mn)

Couple maximum

6,0 kg-m/1 800 min~* (tr/mn) 5,7 kg-m/2 000 min™! (tr/mn) 5,3 kg-m/2 200 min™! (tr/mn)

Consommation de carburant

184 g/psh [18 HP/2 600 min™* (tr/mn)]{194 g/psh [20 HP/3 000 min™ (tr/mn)]|214 g/psh [22 HP/3 600 min™! (tr/mn)]

Taux de compression

18 : 1

Ordre d’allumage

1-3-2 (1-2-3 depuis le coté courroie de distribution)

Systéme de refroidissement

Refroidissement par liquide

Avance a l'injection

15° avant le PMH 18° avant le PMH

Filtre a air

A double élément + cyclone

Régulateur

Meécanique centrifuge

Circuit de graissage

Graissage forcé par pompe trochoidale

Contenance en huile

2,9¢ 4.8¢

Systéme de démarrage

Moteur de démarreur

Carburant utilisé

Carburant diesel

Capacite du réservoir de
carburant

20¢ [piéce en option]

Rotation de I’arbre de prise
de force

Dans le sens contraire des aliguilles d’une montre

DIMENSIONS ET POIDS

Description Version SH1 SH2 SH3
Longueur mm 520

Largeur mm 415

Hauteur mm 540 555

Poids a sec kg 100

1-2



HONDA

GD1100-GD1250

GD1250
Modele GD1250
Type SH1 SH2 SH3
Code de description des GRB

produits électriques

Type de moteur

Refroidi par eau, 3 cylindres, ACT, 4 temps

Méthode de combustion

Injection directe

Cylindrée

1235 cm

Alésage et course

82 x 78 mm

Sortie nominale continue

20 HP/2 600 min™ (tr/mn)

22HP/3 000 min™! (tr/mn)

24 HP/3 600 min™! (tr/mn)

Couple maximum

6,6 kg-m/1 600 min™ (tr/mn)

6,3 kg-m/2 000 min™! (tr/mn)

5,7 kg-m/2 200 min™! (tr/mn)

Consommation de carburant

180 g/psh [20 HP/2.600 min™! (tr/mn)]

194 g/psh [22 HP/3 000 min-t /o

214 g/psh [24 HP/3 600 min™ (tr/mn)]

Taux de compression

18 : 1

Ordre d’allumage

1-3-2 (1-2-3 depuis le cbté courroie de distribution)

Systéme de refroidissement

Refroidissement par liquide

Avance 3 l’injection

15° avant le PMH

18° avant le PMH

Filtre a air

A double élément + cyclone

Régulateur

Mécanique centrifuge

Circuit de graissage

Graissage forcé par pompe trouchoidale

Contenance en huile 2,9¢ 4.8¢
Systéme de démarrage Moteur de démarrage
Carburant utilisé Carburant diesel
Capacité du réservoir de 20¢ [piéce en option]
carburant P P
Rotation de I'arbre de prise Dans le sens contraire des aiguilles d’une montre
de force
DIMENSIONS ET POIDS
Description
Version SH1 SH2 SH3
Longueur mm 520
Largeur mm 415
Hauteur mm 540 555
Poids a sec kg 100

1-3



HONDA

GD1100-GD1250

TECHNISCHE DATEN
GD1100

Modell GD1100
Typ SH1 SH2 SH3
Kraftmaschinen-Kennung GRA

Motortyp Wassergekihlter 4-Takt-Dreizylinder mit obenliegender Nockenwelle
Verbrennungsverfahren Direkteinspritzung

Hubraum 1061 cm? o ]
Bohrung x Hub 76 x 78 mm

Nenndauerleistung 18 PS/2600 min! (U/min) 20 PS/3000 mir* (U/min) 22 PS/3600 min! (U/min)
Maximales Drehmoment 6,0 kg-m/ 5,7 kg-m/ 5.3 kg-m/

1800 min™? {(U/min) 2000 min! (U/min) 2200 min™ {U/min)

Kraftstoffverbrauch

184 g/PSh [18 PS/
2600 min! {(U/min)}

194 g/PSh (20 PS/
3000 min! (U/min)]

214 g/PSh [22 PS/
2600 min™ (U/min)]

Verdichtungsverhaltnis

18:1

Ziindfolge 1-3-2 {1-2-3 von Steuerriemenseite aus)
Kiihisystem Flissigkeitskihlung
Einspritzversteliung 15° vor o.T. l 18° vor o.T.
Luftfilter Doppelfilter + Zyklonfilter
Regler Mechanischer Fliehkraftregler
Schmiersystem Druckdischmierung tUber Trochoidenpumpe
Motorélfillmenge 29 Liter 4,8 Liter
Anla3system Anlassermator
Kraftstoff Dieselkraftstoff
\I;rra:]t;;c;;ftank-Fassungs- 20 Liter [Sonderzubehér]
Drehrichtung der Abtriebswelle Entgegen dem Uhrzeigersinn
ABMESSUNGEN UND GEWICHTE
Gegsnstand Typ SH1 SH2 SH3
Gesamtlange mm 520
Gesamtbreite mm 415
Gesamthdhe mm 540 555
Leergewicht kg 100

1-2



HONDA

GD1100-GD1250

GD1250
Modell GD1250
Typ SH1 SH2 SH3
Kraftmaschinen-Kennung GRB

Motortyp

Wassergekiihlter 4-Takt-Drejzylinder mit obenliegender Nockenwelle

Verbrennungsverfahren

Direkteinspritzung

1600 min? {U/min)

2000 min* (U/min}

Hubraum 1235cm

Bohrung x Hub 82 x 78 mm

Nenndauerleistung 20 PS/2600 min™! (U/min) 22 PS/3000 min! (U/min) 24 PS/3600 min™ (U/min)
Maximales Drehmoment 6,6 kg-m/ 6,3 kg-m/ 5,7 kg-m/

2200 min™ {(U/min)

Kraftstoffverbrauch

180 g/PSh {20 PS/
2600 mir! (U/min}]

194 g/PSh [22 PS/
3000 min™* (U/min)]

214 g/PSh [ 24PS/
3600 min! {(U/min)]

Verdichtungsverhéltnis

18: 1

Ziindfolge 1-3-2 {1-2-3 von Steuerriemenseite aus)
Kiihisystem Flussigkeitskiihlung
Einspritzverstellung 15° vor o.T. 18° vor o.T.
Luftfilter Doppelfilter + Zyklonfilter
Regler Mechanischer Fliehkraftregler
Schmiersystem Druckdlschmierung dber Trochoidenpumpe
Motorélfiillmenge 2.9 Liter 4.8 Liter
Anlallsystem Anlassermotor
Kraftstoff Dieselkraftstoff
\Z'fnitgggzﬁa”k":ass“”gs' 20 Liter [Sonderzubehor ]
Drehrichtung der Abtriebswelle Entgegen dem Uhrzeigersinn
ABMESSUNGEN UND GEWICHTE
Gogensand Tvp SH1 SH2 SH3
Gesamtlange mm 520
Gesamtbreite mm 415
Gesamthdhe mm 540 5556
Leergewicht kg 100

1-3



HONDA

GD1100-GD1250

ESPECIFICACIONES

GD1100
Modelo GD1100
Tipo SH1 SH2 o
Codigo de descripcion de GRA

productos de potencia

Tipo de motor

Cilindro OHC3 de 4-tiempos enfriado por agua

Método de combustién

Inyeccién directa

Desplazamiento

1.061 cm?®

Calibre x carrera

76 x 78 mm

Potencia de régimen continua

18HP/2.600 min™ (rpm)

20HP/3.000 min™! (rpm)

22HP/3.600 min™ (rpm)

Par torsor maximo

6,0 kg-m/1.800 min™ (rpm)

5,7 kg-m/2.000 min™ (rpm)

5,3 kg-m/2.200 min™ (rpm)

Consumo de combustible

184 g/psh[18HP/2.600 min™ (rpm)]

194 g/psh [20HP/3.000 min™ (rpm)]

214 g/psh [22HP/3.600 min™ (rpm))]

Relacion de compresion

18 : 1

Secuencia del encendido

1-3-2 (1-2-3 desde el lado de la correa de sincronizacién)

Sistema de enfriamiento

Enfriamiento por liguido

Sincronizacién de inyeccién B.T.D.C. (Antes del punto muerto superior) 15° B.T.D.C.18°
Filtro deaire Doble + Ciclon
Regulador Centrifugo mecanico
Sistema de lubricacion Aceite forzado mediante bomba trocoidal
Capacidad de aceite de motor 2,9¢ 4.8¢
Sistema de arranque Motor de arranque
Combustible Combustible diesel
fj:‘ﬁfgslje' tanque de 20¢ [Pieza opcional]
Rotacién del eje de toma . - -
de fuerza En direccion levégira
DIMENSIONES Y PESO
tem Tipo SH1 SH2 SH3
Longitud mm 520
Anchura mm 415
Altura mm 540 555
Peso muerto kg 100

1-2




HONDA

GD1100-GD1250

GD1250
Modelo GD1250
Tipo SH1 SH2 SH3
Codigo de descripcién de GRB

productos de potencia

Tipo de motor

Cilindro OHC3 de 4-tiempos enfriado por agua

Método de combustién

Inyeccién directa

Desplazamiento

1.235 ¢cm

Calibre x carrera

82 x 78 mm

Potencia de régimen continua

20HP/2.600 min™! (rpm) 22HP/3.000 min™ (rpm)

24HP/3.600 min™! (rpm)

Par torsor maximo

6,6 kg-m/1.600 min™ (rpm) 6,3 kg-m/2.000 min™ (rpm)

5,7 kg-m/2.200 min™! (rpm)

Consumo de combustible

180 g/psh[20HP/2.600 min™ (rpm)] | 194 g/psh [22HP/3.000 min™? (rpm)] | 214 g/psh [24HP/3.600 min™ (rpm)]

Relacion de compresion

18 : 1

Secuencia del encendido

1-3-2 (1-2-3 desde el lado de la correa de sincronizacién)

Sistema de enfriamiento

Enfriamiento por liguido

Sincronizacién de inyeccién B.T.D.C. {Antes del punto muerto superior) 15° B.T.D.C.18°
Filtro deaire Doble + Ciclén
Regulador Centrifugo mecanico
Sistema de fubricacion Aceite forzado mediante bomba trocoidal
Capacidad de aceite de motor 2,9¢ 4.8¢
Sistema de arrangue Motor de arranque
Combustible Combustible diesel
Sjr:f:::gl:el tanque de 20¢ (Pieza opcional)
Rotacion del eje de toma . - -
de fuerza En direccion levégira
DIMENSIONES Y PESO
tem Tipo SH1 SH2 SH3
Longitud 520
Anchura 415
Altura 540 555
Peso muerto 100

1-3



HONDA
GD1100-GD1250

PERFORMANCE CURVES

Tests were conducted according to SAE standard No. J607a. Power curves are for a standard sea level atmospheric pressure
of 29.92 in. 760 mm Hg at a temperature of 80°F (15.6°C). Power curves are of a standard test engine equipped with stan-
dard aircleaner, muffler, and other power consuming devices. Power output will decrease 3.5% for each 1,000 ft. (305 m) of
elevation above sea level and 1% for each 10°F (5.6°C) rise above the standard temperature of 60°F (15.6°C)}. As shipped,
production engines will develop not less than 90% of the ’"Maximum B.H.P.”" After being run-in, they will develop not less
than 95% of the ““Maximum B.H.P.”’ For practical operations, the B.H.P. load and engine speed should be within the limits
defined by the “Recommended Maximum Operating B.H.P.”” curve. Continuous operation should be within 85% of the
“Maximum B.H.P.”’

GD1100
[SH1 TYPE]

(KW] [HP] [ft-Ib] [kg-m]
20 LZO_ r50 [ 7
121
TORQUE
18118 \ - 6
_40
16 |
€ 16 \ 5
3 S
o) Q
a A
& 14 - S L 30
€ 14+ A -4
S $
T S
" S
X >
< < (Ib/HP-h] [g/PS-h]
&
= -0.45_ 200
[4] SPECIFIC FUEL f - 1390
CONSUMPTION 180
AT CONT. OUTPUT .40/
170
)i J
2,000 2,600 3,000

[5] ENGINE SPEED

1-4



HONDA
GD1100-GD1250

COURBES DE
PERFORMANCES

Les essais ont été conduits selon la norme SAE
n° J607a. Les courbes de performances sont
basées sur une pression atmosphérique au niveau
de la mer de 760 mmHg a une température de
15,6° C. Les courbes de puissance sont établies
pour un moteur standard équipé d’un filtre & air,
d’un silencieux et d’autres piéces standard con-
sommant de ’énergie. La sortie de puissance
diminue de 3,5 % pour toue élévation d’altitude
de 305 m au-dessus du niveau 0 et de 1 % pour
toute élévation de température au-dessus de la
tempéature de référence de 15,6 C. Au moment
de leur livraison, les moteurs ne développeront
pas moins de 90 % de leur puissance maximum
au frein. Aprés le rodage, ils ne produiront pas
de puissance inférieure a 95 % de leur puissance
maximum au frein. Pour un fonctionnement
normal, la charge de puissance au frein e le
régime du moteur doivent étre maintenus dans
les limites définies par la courbe ‘‘Puissance
maximum au frein recommandée’’. Le foncion-
nement en continu doit étre de 85 % environ de
la ‘‘Puissance maximum au fein”’.

GD1100

I[TYPE SH1]

[1] PUISSANCE AU FREIN

[21 COUPLE

[3] SORTIE EN CONINU

[4] CONSOMMATION SPECIFIQUE DE
CARBURANT A LA SORTIE EN
CONTINU

[51 REGIME DU MOTEUR

LEISTUNGSKURVEN

Alle Tests wurden gemdR SAE-Norm Nr.
J607a ausgefiihrt. Die Leistungskurven gelten
fur einen atmospharischen Druck von 760 mm
Hg in Meereshdhe bei einer Temperatur von
156°C. Die Leistungskurven beziehen sich
auf einen Testmotor in Standardausfiihrung,
ausgertistet mit Standard-Luftfilter, Schall-
démpfer und anderen Leistung verbrauchen-
den Vorrichtungen. Die Leistung nimmt alle
305 m Hohe Gber dem Meeresspiegel um 3,5%
ab, sowie um 1% fir jede Zunahme der Um-
gebungstemperatur um 56°C lber dem
Standardwert von 156°C. Bei der Aus-
lieferung liefern die Motoren mindestens 90%
der ‘‘Hoéchstleistung in Brems-PS*’, Nachdem
sie eingelaufen sind, liefern die Motoren
minimal 95% der ‘“Hochstleistung in Brems-
PS". Beim praktischen Einsatz sollen Brems-
PS-Last und Motordrehzahl die Werte der
Kurve ‘“Maximal empfohlene Betriebs-Brems-
PS” nicht Uberschreiten, Bei Dauerbetrieb
sollen die Werte 85% der Kurve ‘‘Hochst-
leistung in Brems-PS'* nicht lberschreiten,

GD1100

[sH1-TYP]

{11 BREMS-PS

[2] DREHMOMENT

[3] DAUERLEISTUNG

[4] SPEZIFISCHER KRAFTSTOFFVER-
BRAUCH BEI DAUERLEISTUNG

[5] MOTORDREHZAHL

CURVAS DE FUNCIONAMIENTO

Las pruebas se ejecutaron de acuerdo al estran-
dar SAE No.J607a. Las curvas de potencia son
para presion atmosférica al nivel del mar estan-
dar de 760 mm Hg a una temperatura de 15,6°C.
Las curvas de potencia son para un motor de
prueba estandar equipado con filtro de aire es-
tandar, silenciador y otros dispositivos de con-
sumo de potencia. La potencia desarrollada dis-
minuird 3,5% por cada 305 m de elevacién sobre
el nivel del mar y 1% por cada subida de tem-
peratura de 5,6°C sobre la temperatura estandar
de 15,6°C. En condiciones de embarque, los mo-
tores desarrollar&n no menos del 90% de la po-
tencia BHP (potencia caballo-vapor al freno) ma-
xima. Después de estar en marcha, los motores
desarrollaran una potencia de no menos del 95%
de la BHP maxima. Para operaciones practicas,
la carga de BHP y la velocidad del motor debe-
ran estar dentro de los limites definidos por la
curva de “BHP de Operacién Maxima Recomen-
dada”. La operacion continua debera estar dentro
del 85% de la BHP méaxima".

GD1100

[TIPO SH1]

[11 POTENCIA CABALLO AL FRENO

[21 PAR TORSOR

[3] RENDIMIENTO CONTINUO

[4] CONSUMO DE COMBUSTIBLE ESPECI-
FICA EN RENDIMIENTO CONTINUO

[5] VELOCIDAD DE MOTOR




HONDA

GD1100-GD1250

[SH2 TYPE]

[Kw]

20

14

[1] BRAKE HORSEPOWER

[SH3 TYPE]

[Kw]
24 A

22+

[1] BRAKE HORSEPOWER

18

16 ¢

20

]
18
16 -

14

20

[HP] [ftdb] [k
&
N
<%
‘0° - 50
40
30
[Ib/HP-h] [g
-0.45
[4] SPECIFIC FUEL
CONSUMPTION
2,000 3,000
(5] ENGINE SPEED
[HP]
124 [ft-Ib] [kg-m]
—422 A
NS
<
R
-7
-6
- 5
- a

[Ib/HP-h] [g/PS-
[4] SPECIFIC FUEL

CONSUMPTION o.45] 200
AT CONT. OUTPUT r190
6.40( 180

r170

2,600 3,000 3,600

[5] ENGINE SPEED

g-m]

-7

/PS-h]

- 200
- 190
180
170

h]

1-5



HONDA

GD1100-GD1250

[TYPE SH2}

(]
[21
[31
41

151

PUISSANCE AU FREIN

COUPLE

SORTIE EN CONTINU
CONSOMMATION SPECIFIQUE DE
CARBURANT A LA SORTIE EN
CONTINU

REGIME DU MOTEUR

[TYPE SH3]

(1
(21
[31
41

{51

PUISSANCE AU FREIN

COUPLE

SORTIE EN CONTINU
CONSOMMATION SPECIFIQUE DE
CARBURANT A LA SORTIE EN
CONTINU

REGIME DU MOTEUR

[SH2-TYP]

(1] BREMS-PS

[21] DREHMOMENT

[3] DAUERLEISTUNG

[4] SPEZIFISCHER KRAFTSTOFFVER-
BRAUCH BE| DAUERLEISTUNG

{5] MOTORDREHZAHL

[SH3-TYP]

{1] BREMS-PS

(2] DREHMOMENT

[3] DAUERLEISTUNG

f4] SPEZIFISCHER KRAFTSTOFFVER-
BRAUCH BEI DAUERLEISTUNG

[6] MOTORDREHZAHL

[TIPO SH2]

{1
(2]
[3]

POTENCIA CABALLO AL FRENO
PAR TORSOR
RENDIMIENTO CONTINUO

[4] CONSUMO DE COMBUSTIBLE ESPECI-
FICA EN RENDIMIENTO CONTINUO

[5] VELOCIDAD DE MOTOR

[TIPO SH3]

(1
(2]
[3]
(41

[51

POTENCIA CABALLO AL FRENO

PAR TORSOR

RENDIMIENTO CONTINUO
CONSUMO DE COMBUSTIBLE ESPECI-
FICA EN RENDIMIENTO CONTINUO
VELOCIDAD DE MOTOR

1-5




HONDA
GD1100-GD1250

GD1250
[SH1 TYPE]

[SH2 TYPE]

(1] BRAKE HORSEPOWER

[1] BRAKE HORSEPOWER

[KW] [HP] [ft-Ib] [kg-m]
17 | 177 50r 7
16 | 167 L6

L40
15 | 15 - 5
141147 30| ,
[Ib/HP-h] [g/PS-h]
[4] SPECIFIC FUEL o.a5] 200
CONSUMPTION 1190
AT CONT. ouTPUT /
\_/ pag 17
1170
{ i J
2,000 2,600 3,000
(5] ENGINE SPEED

[KW] [HP]

22 [ft-Ib] [kg-m]

20 - 50 F 7

18 6

- 40 L
16 5
14 14 T30 La
[Ib/HP-h] [g/PS-h]
(4] SPECIFIC FUEL i | 200
CONSUMPTION 0.45
AT CONT. OUTPUT - 190
__/ -0.40 | 180
L170
2,000 3,000 3,600

[6] ENGINE SPEED

1-6



HONDA

GD1100-GD1250

GD1250
[TYPE SH1]

3Y]
21
131
4

[5]

PUISSANCE AU FREIN

COUPLE

SORTIE EN CONTINU
CONSOMMAION SPECIFIQUE DE
CARBURANT A LA SORTIE EN
CONTINU

REGIME DU MOTEUR

[TYPE SH2]

m
(21
(31
4

(51

PUISSANCE AU FREIN

COUPLE

SORTIE EN CONTINU
CONSOMMATION SPECIFIQUE DE
CARBURANT A LA SORTIE EN
CONTINU

REGIME DU MOTEUR

GD1250
[SH1-TYP]

(1]
(2]
(3]
[4]

[5]

BREMS-PS
DREHMOMENT
DAUERLEISTUNG

SPEZIFISCHER KRAFTSTOFFVER-

BRAUCH BE! DAUERLEISTUNG
MOTORDREHZAHL

[SH2-TYP]

(1}
(21
[3}
(4l

{5]

BREMS-PS
DREHMOMENT
DAUERLEISTUNG

SPEZIFISCHER KRAFTSTOFFVER-

BRAUCH BEI DAUERLEISTUNG
MOTORDREHZAHL

GD1250
[TIPO SH1]

(1]
[2]
31
4

[51

POTENCIA CABALLO AL FRENO

PAR TORSOR

RENDIMIENTO CONTINUO
CONSUMO DE COMBUSTIBLE ESPECI-
FICA EN RENDIMIENTO CONTINUO
VELOCIDAD DE MOTOR

[TIPO SH2]

(1
(2]
(3]
41

[51

POTENCIA CABALLO AL FRENO

PAR TORSOR

RENDIMIENTO CONTINUO
CONSUMO DE COMBUSTIBLE ESPECI-
FICA EN RENDIMIENTO CONTINUO
VELOCIDAD DE MOTOR

1-6




HONDA
GD1100-GD1250

[SH3 TYPE]

{1] BRAKE HORSEPOWER

[g/PS-h]

200
190
180
170

[KW] [HP] [ft1b] [kg-m]
24 124
22 |22
20 |20 - 50
18 18]
L 40
16 16
14 14 130 |
[Ib/HP-h]
[4] SPECIFIC FUEL
CONSUMPTION 0.45
AT CONT. OUTPUT
[0.40
2,000 3,000 3,600

[6] ENGINE SPEED

1-7



HONDA

GD1100-GD1250

[TYPE SH3]

(B
121
131
14]

[51

PUISSANCE AU FREIN

COUPLE

SORTIE EN CONTINU
CONSOMMATION SPECIFIQUE DE
CARBURANT A LA SORTIE EN
CONTINU

REGIME DU MOTEUR

[SH3-TYP]

[11 BREMS-PS

[2] DREHMOMENT

[3] DAUERLEISTUNG

[4] SPEZIFISCHER KRAFTSTOFFVER-
BRAUCH BE! DAUERLEISTUNG

{51 MOTORDREHZAHL

[TIPO SH3]

(1]
2]
31
(4]

[51

POTENCIA CABALLO AL FRENO

PAR TORSOR

RENDIMIENTO CONTINUO
CONSUMO DE COMBUSTIBLE ESPECI-
FICA EN RENDIMIENTO CONTINUO
VELOCIDAD DE MOTOR

1-7




HONDA
GD1100-GD1250

DIMENSIONAL DRAWINGS

SCHEMAS DE DIMENSIONNEMENT

MASSZEICHNUNGEN
PLANOS DIMENSIONALES

~——216 (8.5)———216.67 (8.530)
146 (5.75)"
r72.31 ‘
gR
oy
! T%Lﬂ
oMM
6 | i
Q
D
| |
N
L]
0
o
[
\

327 (12.9)
202.64 (7.978)~

f
67467
~(2.6}(2.6)
-127 (5.0)127 (5.0)" _‘
251 (9.9) ~167.1 (6.58)

151.5 {5.961
n
N
~
H
=]
N
§
e
[Te]
+
!I 8

Unit: mm (in) Unité: mm
Einheit: mm Unidad: mm




HONDA
GD1100-GD1250

P.T.O. DIMENSIONAL DRAWINGS Unit: mm (in) Unité: mm

Einheit: mm Unidad: mm
SCHEMAS DE DIMENSIONNEMENT DE PRISE DE FORCE
MASSZEICHNUNGEN DER ABTRIEBSWELLE
PLANOS DIMENSIONALES DE TOMA DE FUERZA

[1] Housing type 7128

53.5)
[11 Type carter (2.1 1_)130 2 (1.19)
[1] Gehdusetyp --123.2 (0.91)

[1] Tipo de envoltura H 10 (0.4)

0.13

(052H7" 0%
0
9314.32° 37
/‘\

6214.9*

|

_r o | ]
@ g'g:g
‘ OO0
| :
50.8} i
(2.00) | --—187.3 (7.37)-- --——187.3 (7.37) —
~93.7 -
(3.69)

[2] Plate type

|
[2] Type plaque i

[2] Plattentyp iss 3.3
2] Tipo de placa --95 (3.7) S .

167 (6.6)

138.5 (5.45) ..
45 (5.7)

3
45
e

g
.

10 (0.4}
158 (6.2)

L-125 (4.9) (2.4)
162 (6.4)— 168.5 (6.63)

1-9



NOTE




HONDA

GD1100-GD1250

GENERAL SAFETY

Pay attention to these symbols and their meanings:

Indicates a strong possibility of severe personal injury or death if instructions are not followed.

CAUTION: Indicates a possibility of personal injury or equipment damage if instructions are not followed.

A WARNING
+ Stop the engine, and set the stop lever (control lever) at the stop position.

+ If the engine must be running to do some work, make sure the area is well ventilated. Never run the engine in an enclos-
ed area; the exhaust contains poisonous carbon monoxide gas.

+ Diesel fuel is flammable and is explosive under certain conditions. Do not smoke or allow flames or sparks in your work-
ing area.

CAUTION

* Keep away from rotating or hot parts and when the engine is running.

SERVICE RULES

1. Use genuine Honda or Honda-recommended parts and lubricants or their equivalents. Parts that do not meet Honda’s
design specifications may damage the unit.

2. Use the special tools designed for the product.

3. Install new gaskets, O-rings, etc. when reassembling.

4. When torquing a series of bolts or nuts, begin with larger-diameter or inner bolts first and tighten to the specified torque
diagonally, unless a particular sequence is specified.

5. Clean parts in cleaning solvent upon disassembly. Lubricate any sliding surfaces before reassembly.

6. After reassembly, check all parts for proper installation and operation.

7. Many screws used in this machine are self-tapping. Be aware that cross-threading or overightening these screws will

strip the female threads and ruin the hole.
8. Use only metric tools when servicing this unit. Metric bolts, nuts and screws are not interchangeable with nonmetric
fasteners. The use of incorrect tools and fasteners may damage the unit.
9. Follow the instructions represented by these symbols when they are used:
10. Clean hands are essential when working on fuel injection components.
CAUTION

* Used motor oil may cause skin cancer if repeatedly left in contact with the skin for prolonged periods. Although this is
unlikely unless you handle used oil on a daily basis, it is still advisable to thoroughly wash your hands with soap and
water as soon as possible after handling used oil.

NOTE

 Dispose of used motor oil in a manner that is compatible with the environment. We suggest that you take it in sealed
container to your local waste disposal site, or service station for reclamation.

* Do not throw it in the dustbin or pour it on to the ground, down sewers or drains.

 Draining can be performed rapidly and completely while the engine is still warm.

E Indicates the reference page.

0 x 0 {O): Indicates the type, length, and number of the flange bolt used.
-@ : Apply grease : Use special tool : Apply oil
SERIAL NUMBER LOCATION

The engine serial number and the type are stamped on the cylinder block. Refer to these numbers when ordering parts or mak-
ing technical inquiries.

e




HONDA
GD1100-GD1250

SECURITE GENERALE

Préter une attention particuliére a ces symboles et & leurs signification:

V' UN R ENRRION Indique un risque important de blessures corporelles graves ou d’accident mortel si les instructions ne sont
pas respectées.

PRECAUTION:Indique un risque de blessures corporelles graves ou d’accident mortel si les instructions ne sont pas respectées.

AANTTENTION
*

Arréter le moteur et posittionner le levier d’arrét (levier de commande) sur Arrét.
Si, pour exécuter certains entretiens, le moteur doit touner, veiller 4 ce que le local soit bien ventilé. Ne jamais faire touner un moteur
dans un local clos; Les gaz d’échappement contiennent du monoxyde de carbone nocif.

e Le carburant diesel est inflammable et explosif dans certaines conditions. Ne pas travailler 4 proximité de flammes ou d’étincelles et ne
pas fumer.

PRECAUTION

e Se tenir a distance des piéces rotatives ou chaudes quand le moteur tourne.

REGLES D’ENTRETIEN

1. Nutiliser que des piéces d’origine Honda ou des piéces et des lubrifiants préconisés par Honda ou leur équivalent. Les pi¢ces qui ne sont pas
conformes aux caractéristiques de Honda peuvent endommager le produit.

2. Utilieser les produits spéciaux congus pour le produit.

3. Lors du remontage, poser des joints et joints toriques neufs.

4. Lors du serrage d’une série de boulons ou d’écrous, commencer par le boulon au plus grand diamétre ou par le boulon intérieur et serrer en
diagonale au couple prescrit 8 moins qu’un ordre de serrage particulier ne soit spécifié.

5. Au démontage, laver les piéces dans du solvant. Graisser toutes les surfaces de glissment avant le remonage.

6. Apres le remontage, vérifier toutes les piéces sont bien en place et qu’elles fonctionnent correctement.

7. De nombreuses vis utilisées dans ce produit sont des vis taraudeuses. Un mauvais engagement du fileage ou un serrage excessif de ces vis risque
de fausser le filetage et de détériore ’orifice.

8. Nutiliser que des outils métriques pour entretenir ce produit. Les vis, les écrous et les boulons métriques ne peuvent pas étre remplacés pa
des fixations non métriques. L’utilisation d’outils ou de fixations non conformes peut endommager le produit.

9. Suivre les instructions reprfésentées par ces symboles quand ils sont mentionnés:

10. 1l est indispensable de se netoyer les mains lorsque I’on travaille sur les pi¢ces d’injection de carburant.

PRECAUTION

e L’huile moteur usée peut provoquer un cancer de la peau si elle est souvent en contact avec celle-ci pendant des périodes prolongées. Bien
que ce risque soit trés limité si ’on ne manipule pas d’huile tous les jours, il est vivement recommandé de se laver les mains avec de I’eau
et du savon dés que possible aprés avoir touché de I’huile usée.

NOTE

e Jeter I’huile moteur usée en respectant l0environnement. Il est conseillé de la récupérer dans un récipient scellé et de I’entreposer dans un
local prévu a cet effet ou de I'apporter a sa staion service, pour la faire régénrer.

* Ne pas la jeter dans une poubelle et ne pas la verser sur le sol.

e La vidange peut &tre exécutée rapidement et complétement quand le moteur est encore chaud.

Iz Indique la page de référence.

0x0(©): Indique le type, la longueur et le nombre de boulons a collerette utilisés.

_@ : Appliquer de la graisse :Utilier les outils spéciaux . Appliquer de la graisse

EMPLACEMENT DU NUMERO DE SERIE

Le numéro de série du moteur et son type sont estampés sur le bloc-cylindres. Se référer & ces numéros lors d’une commande de piéces ou pour
toute demande de renseignement technique.

2-2




HONDA

GD1100-GD1250

ALLGEMEINE SICHERHEIT

Die nach den folgenden Symbolen aufgefiihrten:
Zeigt mégliche persénliche Verletzungs- oder Lebensgefahr an, falls Anweisungen nicht beachtet werden.

VORSICHT: Zaigt mdgliche persdnliche Verletzungsgefahr oder Beschidigung der Maschine an, falls Anweisungen nicht befolgt
werden.

Vor Wartungsarbeiten den Motor abstsllen und den Absteilhebel (Steuerhebel) auf STOP einstellen.
Wenn Arbeiten bei laufendem Motor ausgefiihrt werden miissen, sicherstellen, daR ausreichende Beliiftung vorhanden ist. Niemals den
Motor in einem geschlossenen Raum laufen lassen, Die Auspuffgase enthalten giftiges Kohlenmonoxid.

Dieselkraftstoff ist entflammbar und unter bestimmten Bedingungen explosiv. Am Arbeitsplatz nicht rauchen und Flammen oder Funken
fernhalten. |

VORSICHT

{ - Bei laufendem Motor eine Beriihrung von Dreh- oder heiRen Teilen vermeiden. J

WARTUNGSVORSCHRIFTEN

1. Stets Original-Honda- oder von Honda empfohiene Teile und Schmiermitte! oder gleichwertige Mittel verwenden, Teile, die nicht den Aus-
fihrungsvorschriften von Honda entsprechen, kénnen die Maschine beschidigen,

2. Die fiir dieses Produkt entwickelten Spezialwerkzeuge verwenden.

3. Beim Zusammenbauen der Teile stets neue Dichtungen, O-Ringe usw. verwenden.

4. Beim Anziehen von Schrauben und Muttern mit den gréReren oder inneren Schrauben beginnen, dann diagonal in 2--3 Schritten auf das

vorgeschriebene Anzugsmoment anziehen, falls keine bestimmte Reihenfolge angegeben ist.

Nach dem Zerlegen die Teile in Reinigungsldsung reinigen. Vor dem Zusammenbauen samtliche Gleitflichen schmieren.

Nach dem Zusammenbauen alle Teile auf einwandfreien Sitz und Funktion tiberpriifen,

Bei dieser Maschine finden eine Anzahl von Schneidschrauben Anwendung. Dabei ist zu beachten, daR bei einem Uberschneiden des Ge-

windes oder UberméRigem Anziehen das Innengewinde ausgerissen werden kann, wodurch die Bohrung ruiniert wird.

8. Beim Warten dieser Maschine nur metrische Werkzeuge verwenden, Metrische Schrauben und Muttern sind nicht mit nichtmetrischen Be-
festigungsteilen austauschbar. Die Verwendung von falschen Werkzeugen und Befestigungsteilen kann eine Beschadigung der Maschine ver-
ursachen,

9. Die nach den folgenden Symbolen aufgefihrten Anweisungen sorgfaltig beachten:

10. Arbeiten an Bauteilen der Kraftstoff-Einspritzanlage miissen mit sauberen Hinden ausgefiihrt werden,

Noo

VORSICHT

Wenn gebrauchtes Motor6l wiederholt iiber langere Zeit mit der Haut in Kontakt gerit, kann dies Hautkrebs verursachen. Obwohl diese
Gefahr an sich nur bei taglicher Handhabung von gebrauchtem Motordl besteht, empfiehit es sich dennach, sich sofort nach jedem Umgang
mit gebrauchtem Motordl die Hande griindlich mit Wasser und Seife zu waschen.

ZUR BEACHTUNG

Gebrauchtes Motoré| unter Beachtung der Umweltschutz-Bestimmungen wegwerfen. Wir empfehlen, es in einem verschiossenen Behilter
der zustandigen Stelle der Millabfuhr zu Gbergeben,

Den Behélter nicht in den Abfall werfen und gebrauchtes Ol nicht auf den Boden verschiitten und nicht in Abwasseraniagen oder Abflisse
schitten,

Das Motordl &Rt sich bei warmem Motor schnell und vollstiandig ablassen,

[P Gibt die Bezugsseite an.

0x0(0}) Gibt GroRe und Anzahl der verwendeten Flanschschrauben an.

-ﬁ : Fett auftragen : Spezialwerkzeug benutzen : Eindlen

LAGE DER SERIENNUMMER

Motorseriennummer und Typ sind auf dem Zylinderblock eingestanzt. Diese Nummern bei der Bestellung von Ersatzteilen oder bei Anfragen
bitte angeben.

S 4\
MOTORSERIENNUMMER




HONDA
GD1100-GD1250

INFORMACION DE SERVICIO

Fijese bien en los siguientes simbolos y en sus significados:
Y UYDNIINTENIGEY Indica una gran posibilidad de serios dafios personales o de muerte si no se siguen las instrucciones.

PRECAUCION: Indica una posibilidad de dafio personal o dafio del equipo si no se siguen las instrucciones.

A ADVIRTINCIA

* Apaque el motor, y posicione la palanca de parada (palanca de control) en la posicion de parada.

* Si el motor debe estar en marcha para hacer algin trabajo, asegiirese de que el drea estd bien ventilada. Nunca ponga en marcha el
motor en dreas cerradas; el escape contiene gases de monéxido de carbono venenosos.

El combustible diesel es inflamable y explosivo en ciertas condiciones. No fume ni permita que haya llamas o que se produzcan chispas
en el drea de trabajo.

PRECAUCION

* Cuando el motor esté en marcha mantenga lejos las piezas calientes o rodantes.

NORMAS DE SERVICIO

1. Utilice lubricantes y piezas quinuinas Honda o recomendadas por Honda o sus equivalentes. Las piezas que no satisfagan las especificaciones

de diseno de Honda pueden daiiar la unidad.
Utilice las herramientas especiales disefiadas para el producto.
Instale nuevas empaquetaduras, juntas toricas, etc. cuando haga el reensamble.

W

4. Cuando apriete una serie de pernos o tuercas, comience por las de mayor didmetro o por los pernos interiores y apriete al par torsor especificado

diagonalmente, a no ser que se especifique otra secuencia especial.
Limpie las piezas en un disolvente al hacer el desensamble. Lubrique todas las superficies deslizantes antes de hacer el reensamble.
Después del reensamble, compruebe todas las piezas para ver si estan bien instaladas y su funcionan bien.

Now

de estos tornillos estropeara las roscas hembra y arruinaré el agujero.

8. Utilice solamente herramientas métricas cuando preste el servicio a esta unidad. Los pernos, tuercas y tornillos métricos no son intercambiables

por sujetadores no métricos. El uso de herramientas y piezas de sujecién impropias pueden dafar la unidad.
9. Siga las instrucciones representadas por estos simbolos cuando se utilicen.
10. El tener las manos limpias es esencial cuando manipule componentes de inyeccién de combustible.

PRECAUCION

Muchos de los tornillos que se utilizan en esta maquina son de tipo autoenroscado. Advierta que un enroscado transversal o apriete excesivo

y agua lo antes posible desqués de haber tocado aceite usado.

¢ El aceite usado de motor puede producir cincer en la piel si se toca repetidamente con la piel por tiempo prolongado. Aunque esto no
es facil que suceda a no ser que usted maneje aceite usado diariamente, con todo, se recomienda lavar las manos completamente con jab6n

NOTA

y lo lleve al lugar destinado para ello en la localidad, o a la estacién de servicio para su recuperacion.
¢ No lo vierta en cubos de basura ni en el suelo,ni en las alcantarillas.
* El drenaje se puede ejecutar rapida y completamente cuando el motor estd todavia caliente.

¢ Cuando tire el aceite usado de motor, hagalo de tal modo que no contamine el ambiente. Le sugerimos que lo ponga en un recipiente sellado

|:] Indica la pagina de referencia

0x0©O: Indica el tipo, longitud, y namero de perno de la brida que se utiliza.

_@ : Aplique grasa :Use herramienta especial : Apligue aceite

LOCALIZACION DE NUMERO DE SERIE

El nimero de serie del motor y el tipo estan estampados en el bloque de cilindros. Cuando haga pedidos de piezas o cuando haga

alguna pregunta técnica, mencione estos nimeros.

Ay i !
NN . S
i R
g

>

2

NUMERO DE SERIE DEL MOTOR




HONDA
GD1100-GD1250

MAINTENANCE STANDARDS

GD1100 GD1250
Part item
Standard Service limit Standard Service limit
Engine Maximum rpm SH1 type 2,750 min=1 {rpm) — 2,750 min~* {rpm) —
SH2 type 3,120 min=" (rpm) — 3,120 min~" {(rpm) —
SH3 type 3,740 min~" (rpm) — 3,740 min~" (rpm) —
Idle rpm 800 min~" (rpm) — 800 min~' (rpm) —
Cylinder compression 2647.8 kPa b 2647.8 kPa —
(27 kg/em, 384.0 psi) (27 kg/cm, 384.0 psi)
at 200 min=" (rpm) at 200 min~' (rpm)
Valves Valve clearance IN./EX. 0.2 + 0.02 mm —_— 0.2 £ 0.02 mm —_—
(0.0078 + 0.0008 in) (0.0078 + 0.0008 in)
Stem 0.D. IN. 6.575—6.590 mm 6.55 mm 6.575—6.590 mm 6.55 mm
{0.2589—-0.2594 in) (0.258 in) (0.2589—-0.2594 in) (0.258 in)
EX. 6.545—6.560 mm 6.52 mm 6.545—6.560 mm 6.52 mm
(0.2577-0.2583 in) (0.257 in) (0.2577—0.2583 in) (0.257 in)
Guide 1.D. IN. 6.600—6.615 mm 6.66 mm 6.600—6.615 mm 6.66 mm
{0.2598-—-0.2604 in) (0.262 in) (0.2598--0.2604 in) (0.262 in)
EX. 6.600—6.615 mm 6.72 mm 6.600—6.615 mm 6.72 mm
(0.2598-—-0.2604 in) (0.265 in) (0.2598—-0.2604 in) (0.265 in)
Stem-to-guide clearance IN. 0.010—0.040 mm 0.11 mm 0.010—-0.040 mm 0.11 mm
{0.0004—0.0016 in) (0.004 in) {0.0004—0.0016 in) {0.004 in}
EX. 0.040—-0.070 mm 0.20 mm 0.040—0.070 mm 0.20 mm
{0.0016—0.0028 in) (0.008 in) (0.0016—-0.0028 in) {0.008 in)
Seat width IN./EX. 1.25—1.55 mm 2.0 mm 1.25—1.55 mm 2.0 mm
(0.049—-0.061 in) {0.08 in) (0.049—0.061 in) (0.08 in)
Spring free length 38.1 mm 37.1 mm 38.1 mm 37.1 mm
(1.50 in) (1.46 in} (1.50 in) (1.46 in)
Valve rocker Rocker arm 1.D. 16.012—16.030 mm 16.04 mm 16.012—16.030 mm 16.04 mm
arm (0.6304—-0.6311 in) (0.631 in) (0.6304—0.6311 in} (0.631 in}
Rocker arm Arm shaft O.D. 15.976—16.994 mm 15.96 mm 156.976—16.994 mm 15.96 mm
shaft {0.6290—-0.6691 in) (0.628 in) (0.6290—0.6691 in) (0.628 in)
Arm shaft-to-valve rocker arm 0.018—0.054 mm 0.08 mm 0.018—0.054 mm 0.08 mm
clearance (0.0007 —0.0002 in) (0.003 in) {0.0007-0.0002 in) {0.003 in)
Camshaft Shaft axial runout 0.05—0.25 mm 0.5 mm 0.05—0.25 mm 0.5 mm
{0.002—0.010 in) {0.020 in} {0.002—-0.010 in) {0.020 in}
Shaft runout 0.015 mm 0.03 mm 0.015 mm 0.03 mm
(0.0006 in) (0.001 in) (0.0006 in) {0.001 in)
Shaft oil clearance 0.050—0.098 mm 0.15 mm 0.050—0.098 mm 0.15 mm
(0.0020—-0.0040 in) {0.006 in) {0.0020—0.0040 in) (0.006 in)
Cam lobe height IN./EX. 39.538—-39.938 mm 39.0 mm 39.538—-39.938 mm 39.0 mm
(1.5566—1.5724 in) (1.54 in) (1.5566—1.5724 in) (1.54 in)
Piston Piston O.D. Skirt 76.93—-76.95 mm 76.90 mm 81.93-81.95 mm 81.90 mm
(3.029—3.030 in) (3.028 in) (3.225—-3.226 in) (3.224 in)
Piston pin bore I.D. 23.002—23.008 mm 23.03 mm 23.002—-23.008 mm 23.03 mm
(0.9056—0.9058 in) (0.907 in} (0.9056-0.9058 in) (0.907 in)
Piston-to-piston pin clearance 0.002—-0.014 mm 0.04 mm 0.002—-0.014 mm 0.04 mm
(0.00008—0.00055 in)| {0.002 in} |(0.00008—0.00055 in)| (0.002 in)
Piston-to-cylinder sleeve clearance 0.050—-0.087 mm 0.15 mm 0.050—-0.087 mm 0.15 mm
(0.0020—0.0034 in) {0.001 in) {0.0020-0.0034 in) (0.001 in)
Piston ring Ring side clearance Top 0.065—0.095 mm 0.15 mm 0.085—-0.115 mm 0.17 mm
(0.0026—0.0037 in) {0.006 in} (0.0033-0.0045 in) | (0.007 in)
Second 0.055—0.085 mm 0.13 mm 0.055-0.085 mm 0.13 mm
(0.0022—-0.0033 in) {0.005 in) (0.0022-—-0.0033 in) (0.005 in)
Oil 0.020—0.055 mm 0.09 mm 0.020—0.055 mm 0.09 mm
(0.0008—0.0022 in} {0.004 in) (0.0008-0.0022 in) (0.004 in)
Ring end gap Top 0.20—-0.35 mm 0.6 mm 0.25—0.40 mm 0.6 mm
{0.008—0.014 in) {0.02 in} (0.010—0.016 in) (0.02 in)
Second 0.20—0.35 mm 0.6 mm 0.25-0.40 mm 0.6 mm
{0.008—0.014 in) {0.02 in) {0.010—-0.016 in) (0.02 in)
Oi! 0.20—0.40 mm 0.6 mm 0.20—0.40 mm 0.6 mm
{0.008—0.016 in) (0.02 in) (0.008—0.016 in) (0.02 in)




HONDA
GD1100-GD1250

GD1100 GD1250
Part ltem
Standard Service limit Standard Service limit
Piston pin Piston pin O.D. 22.994—-23.000 mm 22.98 mm 22.994—-23.000 mm 22.98 mm
(0.9053—0.9055 in) (0.905 in) (0.9053—-0.9055 in) {0.805 in)
Piston pin-to-connecting rod small 0.010—-0.034 mm 0.06 mm 0.010—-0.034 mm 0.06 mm
end clearance {0.0004—0.0013 in) (0.002 in) (0.0004—0.0013 in) (0.002 in)
Connecting Small end I.D. 23.010—23.028 mm 23.04 mm 23.010—23.028 mm 23.04 mm
rod {0.9059—0.9066 in) (0.907 in) (0.9059—0.9066 in) (0.907 in)
Connecting rod bearing oil clearance 0.026—0.044 mm 0.07 mm 0.026—0.044 mm 0.07 mm
{0.0010—0.0017 in) (0.003 in) (0.0010—0.0017 in) (0.003 in}
Big end side clearance 0.15—0.30 mm 0.40 mm 0.15—0.30 mm 0.40 mm
{0.006—0.012 in} (0.016 in) (0.006—0.012 in) (0.016 in)
Crankshaft Shaft axial clearance 0.10—0.35 mm 0.45 mm 0.10—0.35 mm 0.45 mm
{0.004—0.014 in) (0.018 in) (0.004—0.014 in) (0.018 in)
Main bearing oil clearance 0.026—-0.044 mm 0.07 mm 0.026—-0.044 mm 0.07 mm
{0.0010—0.0017 in) (0.003 in) (0.0010—0.0017 in) (0.003 in)
Shaft runout 0.015 mm max. 0.03 mm 0.015 mm max. 0.03 mm
(0.0006 in max.) {0.001 in) (0.0006 in max.) (0.001 in)
Qil pump Tip clearance 0.02—0.14 mm 0.20 mm 0.02—-0.14 mm 0.20 mm
(0.0008—0.0055 in} {0.008 in) {0.0008—0.0055 in) {0.008 in)
Quter rotor clearance 0.100—0.175 mm 0.20 mm 0.100—0.175 mm 0.20 mm
(0.0039-0.0069 in) (0.008 in) {0.0039-0.0069 in) (0.008 in)
Rotor-to-body cover clearance 0.030—-0.080 mm 0.15 mm 0.030—0.080 mm 0.15 mm
(0.0012—-0.0031 in) {0.001 in) (0.0012—0.0031 in) {0.001 in)
Cylinder Cylinder sleeve 1.D. 76.000—76.017 mm 76.10 mm 82.000—-82.017 mm 82.10 mm
block, (2.9921-2.9928 in) {2.996 in) (3.2283—-3.2290 in) {3.232in)
cylinder head Distortion of cylinder block 0.08 mm 0.10 mm 0.08 mm 0.10 mm
(0.003 in} (0.0039 in) (0.003 in) (0.0039 in)
Distortion of cylinder head 0.05 mm 0.05 mm 0.05 mm 0.05 mm
{0.002 in) (0.002 in) (3.002 in) (0.002 in)
|.D. of fuel camshaft journal 29.000—29.021 mm 29.05 mm 29.000—-29.021 mm 29.05 mm
(1.1417—-1.1426 in) (1.144 in) (1.1417—-1.1426 in) (1.144 in)
Fuel camshaft Shaft journal O.D. 28.935—28.950 mm 28.90 mm 28.935—28.950 mm 28.90 mm
(1.1392—-1.1398 in) (1.138 in) (1.1392—-1.1398 in) (1.138 in)
Shaft-to-cylinder block clearance 0.050—0.086 mm 0.15 mm 0.050—-0.086 mm 0.15 mm
{0.0020—0.0034 in) (0.001 in) (0.0020-—-0.0034 in) (0.001 in)
Fuel cam Cover |.D. 29.000—29.021 mm 29.05 mm 29.000—29.021 mm 29.05 mm
cover (1.1417—-1.1426 in) (1.144 in) (1.1417—1.1426 in) (1.144 in)
Fuel camshaft-to-cover clearance 0.050—0.086 mm 0.15 mm 0.050—0.086 mm 0.15 mm
{0.0020—-0.0034 in) (0.001 in) (0.0020—0.0034 in) (0.001 in)




HONDA

GD1100-GD1250

NORMES D’ENTRETIEN

i GD1100 GD1250
Piéce Elément
Standard Limite de service Standard Limite de service
Moteur Régime maximum SH1 type 2.750 min™' (rpm) —_ 2.750 min™! (rpm) _
SH2 type 3.120 min™! (rpm) _ 3.120 min™ (rpm) —_
SH3 type 3.740 min™! (rpm) — 3.740 min™! (rpm) _—
Régime de ralenti 800 min™ (rpm) — 800 min™! (rpm) —
Compression de cylindre 2647,8 kpa 2647,8 kpa
(27 kg/cm) —_— (27 kg/cm) e
at 200 min™! (rpm) at 200 min™! (rpm)
Soupapes Jeu aux soupapes ADM./ECH. 0,2+0,02 mm —_— 0,2+0,02 mm —_—
Diam. ext. tige. ADM. 6,575—6,590 mm 6,55 mm 6,575—6,590 mm 6,55 mm
ECH. 6,545—6,560 mm 6,52 mm 6,545-6,560 mm 6,52 mm
Diameétre int. de
guide ADM. 6,600—6,615 mm 6,66 mm 6,600—6,615 mm 6,66 mm
ECH. 6,600—6,615 mm 6,72 mm 6,600—6,615 mm 6,72 mm
Jeu de tige-a-guide ADM. 0,010—0,040 mm 0,11 mm 0,010—0,040 mm 0,11 mm
ECH. 0,040—0,070 mm 0,20 mm 0,040—0,070 mm 0,20 mm
Largeur de siége ADM./ECH. 1,25—1,55 mm 2,0 mm 1,25—1,55 mm 2,0 mm
Longueur libre de ressort 38,1 mm 37,1 mm 38,1 mm 37,1 mm
Culbuteur de | Diameétre int. de culbuteur 16,012—16,030 mm 16,04 mm 16,012—16,030 mm 16,04 mm
soupape
Axe de Diameétre ext. d’axe de culbuteur 15,976—16,994 mm 15,96 mm 15,976—16,994 mm 15,96 mm
culbuteur Jeu axe de culbuteur-culbuteur 0,018—0,054 mm 0.08 mm 0,018—0,054 mm 0,08 mm
de soupape
Arbre & cames | Ovalisation axiale de I’arbre 0,05—0,25 mm 0,5 mm 0,05—0,25 mm 0,5 mm
Ovalisation de ’arbre 0,015 mm 0,03 mm 0,015 mm 0,03 mm
Jeu de lubrification de ’arbre 0,050—0.098 mm 0,15 mm 0,050—0.098 mm 0,15 mm
Hauteur du lobe
de came ADM./ECH. 39,538—39,938 mm 39,0 mm 39,538—39,938 mm 39,0 mm
Piston Diametre ext. de piston. Jupe 76,93—76,95 mm 76,90 mm 81,93—81,95 mm 81,90 mm
Diametre int. d’axe de piston 23,002—23,008 mm 23,03 mm 23,002—23,008 mm 23,03 mm
Jeu piston-axe de piston 0,002—0,014 mm 0,04 mm 0,002—0,014 mm 0,04 mm
Jeu piston-fourreau de 0,050—0,087 mm 0,15 mm 0,050—0,087 mm 0,15 mm
cylindre
Segment de Jeu latéral Feu 0.065—0,095 mm 0,15 mm 0.085—0,115 mm 0,17 mm
piston Etanchéité 0,055—0,085 mm 0,13 mm 0,055—0,085 mm 0,13 mm
Récleur 0,020—0,055 mm 0,09 mm 0,020—0,055 mm 0,09 mm
Jeu a la coupe Feu 0,20—0,35 mm 0,6 mm 0,25—0,40 mm 0,6 mm
Etanchéité 0,20—0,35 mm 0,6 mm 0,25—0,40 mm 0,6 mm
RéAcleur 0,20—0,40 mm 0,6 mm (,20—0,40 mm 0,6 mm




HONDA

GD1100-GD1250

GD1100 GD1250
Piéce Elément — -
Standard Limite de service Standard Limite de service
Axe de piston | Diameétre ext. d’axe de pistion 22,994—23,000 mm 22,98 mm 22,994—23,000 mm 22,98 mm
Jeu axe de piston-a-crosse de bielle 0,010—0,034 mm 0,06 mm 0,010—0,034 mm 0,06 mm
Bielle Diameétre int. de crosse de bielle 23,010—23,028 mm 23,04 mm 23,010—23,028 mm 23,04 mm
Jeu de lubrification du coussinet de
bielle 0,026—0,044 mm 0,07 mm 0,026—0,044 mm 0,07 mm
Jeu latéral de crosse de bielle 0,15—0,30 mm 0,40 mm 0,15—0,30 mm 0,40 mm
Vilebrequin Jeu axial d’arbre 0,10—0,35 mm 0,45 mm 0,10—0,35 mm 0,45 mm
Jeu de lubrification du palier 0,026—0,044 mm 0,07 mm 0,026—0,044 mm 0,07 mm
principal
Ovalisation de ’arbre 0,015 mm max. 0,03 mm 0,015 mm max. 0,03 mm
Pompe & huile | Jeu d’extrémité 0,02—0,14 mm 0,20 mm 0,02—0,14 mm 0,20 mm
Jeu de rotor extérieur 0,100—0,175 mm 0,20 mm 0,100—0,175 mm 0,20 mm
Jeu au carter du corps-rotor 0,030—0,080 mm 0,15 mm 0,030—0,080 mm 0,15 mm
Culasse, Diameétre int. de fourreau de
bloc-cylindres | cylindre 76,000—76,017 mm 76,10 mm 82,000—82,017 mm 82,10 mm
Distorsion du bloc-cylindres 0,08 mm 0,10 mm 0,08 mm 0,10 mm
Distorsion de culasse 0,05 mm 0,05 mm 0,05 mm 0,05 mm
Diameétre int. de maneton d’arbre a
cames de carburant 29,000—29,021 mm 29,05 mm 29,000—29,021 mm 29,05 mm
Arbre a cames | Diamétre ext. de maneton d’arbre 28,935—28,950 mm 28,90 mm 28,935—28,950 mm 28,90 mm
de carburant Jeu arbre-a-bloc-cylindres 0,050—0,086 mm 0,15 mm 0,050—0,086 mm 0,15 mm
Carter de came| Diamétre int. de carter 29,00—29,021 mm 29,05 mm 29,000—29,021 mm 29,05 mm
a carburant Jeu d’arbre & cames-a-carter 0,050—0,086 mm 0,15 mm 0,050—0,086 mm 0,15 mm




HONDA
GD1100-GD1250

WARTUNGSNORMEN
GD1100 GD1250
Teil Gegenstand Sollwert Ve&fgﬂz& Sollwert Ve;gsizlfs-
Motor Héchstdrehzahl Typ SH1 2750 min? {U/min) — 2750 min! (U/min) —
Typ SH2 3120 min? {(U/min) - 3120 min! {U/min) -
Typ SH3 3740 min™? (U/min) — 3740 min™! {U/min) —
Drehzahl ohne Last 800 min™* (U/min) - 800 min™ (U/min) -
Zylinderkompression 26478 kPa {27 kg/cm) - 2647,8 kPa (27 kg/cm) —
bei 200 min™? (U/min) bei 200 min! (U/min)
Ventile Ventilspiel EIN/AUS 0,2 +0,02mm — 0,2+0,02mm -
Schaft-AuRen- EIN 6,575—6,590 mm 6,55 mm 6,575—6,590 mm 6,55 mm
durchmesser AUS 6,545—6,560 mm 6,52 mm 6,545—6,560 mm 6,52 mm
Fiihrungs-Innen- EIN 6,600—6,615 mm 6,66 mm 6,600—6,615 mm 6,66 mm
durchmesser AUS 6,600—6,615 mm 6,72 mm 6,600—6,615 mm 6,72 mm
Spiel zwischen Schaft
und Fihrung EIN 0,010—0,040 mm 0,11 mm 0,010—-0,040 mm 0,11 mm
AUS 0,040-0,070 mm 0,20 mm 0,040—0,070 mm 0,20 mm
Sitzbreite EIN/AUS 1,25—-1,55 mm 2,0 mm 1,25—1,55 mm 2,0 mm
Freie Lédnge der Feder 38,1 mm 37,1 mm 38,1 mm 37,1 mm
Ventil- Kipphebel-Innendurchmesser 16,012-16,030 mm 16,04 mm 16,012—-16,030 mm 16,04 mm
kipphebel
Kipp- Kipphebelachsen-AuRendurch- 15,976—-16,994 mm 15,96 mm 15,976~16,994 mm 15,86 mm
hebelachse messer
Spiel zwischen Kipphebelwelle 0,018-0,054 mm 0,08 mm 0,018—-0,054 mm 0,08 mm
und Ventilkipphebel
Nockenwelle Wellenplanschlag 0,05—-0,25 mm 0,5 mm 0,05—-0,25 mm 0,5 mm
Wellenschlag 0,015 mm 0,03 mm 0,015 mm 0,03 mm
Wellenlagerspiel 0,050—0,098 mm 0,15 mm 0,050—-0,098 mm 0,175 mm
Nockenbuckelhthe EIN/AUS 39,638-39,938 mm 39,0 mm 39,638-39,938 mm 39,0 mm
Kolben Kolben-AuRen- Kolben- 76,93—76,95 mm 76,90 mm 81,93—-81,95 mm 81,90 mm
durchmesser mantel
Kolbenbolzenbohrung- 23,002—23,008 mm 23,03 mm 23,002--23,008 mm 23,03 mm
Innendurchmesser
Spiel zwischen Kolben und 0,002-0,014 mm 0,04 mm 0,002-0,014 mm 0,04 mm
Kolbenbolzen
Kolben-Einbauspiel 0,050—-0,087 mm 0,15 mm 0,050—-0,087 mm 0,175 mm
Kolbenring Ringseitenspiel Oberster 0,065—0,095 mm 0,75 mm 0,085-0,115 mm 0,17 mm
Zweiter 0,055-0,085 mm 0,13 mm 0,055-0,085 mm 0,13 mm
Olabstreifring 0,020-0,055 mm 0,00 mm 0,020--0,055 mm 0,09 mm
RingstoRfuge  Oberster 0,20—-0,35 mm 0,6 mm 0,25—-0,40 mm 0,6 mm
Zweiter 0,20—0,35 mm 0,6 mm 0,25-0,40 mm 0,6 mm
Olabstreifring 0,20—-0,40 mm 0,6 mm 0,20—-0,40 mm 0,6 mm

2-3




HONDA

GD1100-GD1250

GD1100 GD1250
Teil Gegenstand Verschleil- Verschleil3-
Sollwert grenze Sollwert grenze
Kolbenbolzen | Kolbenbolzen-AuRendurch- 22,994—23,000 mm 22,98 mm 22,994—23,000 mm 22,98 mm
messer
Spiel zwischen Kolbenzapfen 0,010-0,034 mm 0,06 mm 0,010-0,034 mm 0,06 mm
und Pleuelstangenkopf
Pleuelstange Pleuelstangenkopf-Innen- 23,010—-23,028 mm 23,04 mm 23,010-23,028 mm 23,04 mm
durchmesser
Pleuelstangenlager-Lagerspiel 0,026—0,044 mm 0,07 mm 0,026—0,044 mm 0,07 mm
Pleuelstangenful’-Seitenspiel 0,15—-0,30 mm 0,40 mm 0,15—0,30 mm 0,40 mm
Kurbeiwelle Wellenaxialspiel 0,10-0,35 mm 0,45 mm 0,10-0,35 mm 0,45 mm
Hauptlager-Lagerspiel 0,026—0,044 mm 0,07 mm 0,026—0,044 mm 0,07 mm
Wellenschlag 0,015 mm max, 0,03 mm 0,015 mm max. 0,03 mm
Olpumpe Spitzenspiel 0,02—-0,14 mm 0,20 mm 0,02—0,14 mm 0,20 mm
Aullenrotorspiel 0,100-0,175 mm 0,20 mm 0,100-0,175 mm 0,20 mm
Spiel zwischen Rotor und 0,030-0,080 mm 0,15 mm 0,030-0,080 mm 0,15 mm
Deckel
Zylinderblock, | Zylinderlaufbiichsen- 76,000-76,017 mm 76,10 mm 82,000—82,017 mm 82,10 mm
Zylinderkopf Innendurchmesser
Verzug des Zylinderblocks 0,08 mm 0,170 mm 0,08 mm 0,10 mm
Verzug des Zylinderkopfes 0,056 mm 0,05 mm 0,05 mm 0,05 mm
Innendurchmesser des Kraft- 29,000—29,021 mm 29,05 mm 29,000—29,021 mm 29,05 mm
stoffnockenwellen-Lagerzapfens
Kraftstoff- AuRendurchmesser des 28,935—28,950 mm 28,90 mm 28,935—28,950 mm 28,90 mm
nockenwelle Wellenlagerzapfens
Spiel zwischen Welle und 0,050—0,086 mm 0,15 mm 0,050-0,086 mm 0,175 mm
Zylinderblock
Kraftstoff- Deckel-lnnendurchmesser 29,000—29,021 mm 29,05 mm 29,000—29,021 mm 29,06 mm
nockendeckel | Spiel zwischen Kraftstoff- 0,050—-0,086 mm 0,15 mm 0,060—0,086 mm 0,15 mm
nockenwelle und Deckel




HONDA

GD1100-GD1250

NORMAS DE MANTENIMIENTO

GD1100 GD1250
Pieza Item ;
Valor estandar Limite de servicio Valor estindar Limite de servicio
Motor Méximo de rpm Tipo SH1 2.750 min™! (rpm) — 2.750 min™ (rpm) —
Tipo SH2 3.120 min! (rpm) — 3.120 min™ (rpm) —
Tipo SH3 3.740 min?! (rpm) - 3.740 min! (rpm) -
Rpm en ralenti 800 min™ (rpm) — 800 min™! {rpm) -
Compresidn del cilindro 2647,8 kPa 2647,8 kPa
(27 kg/ecm?) — (27 kgfcm?) -
a 200 min™! (rpm) a 200 min™! (rpm)
Vilvulas Tolerancia de valvula AD./ES. 0,2 +0,02mm - 0,2 £ 0,02 mm -
D.E. del vistago AD. 6,575—6,590 mm 6,55 mm 6,575—-6,590 mm 6,55 mm
ES. 6,545—6,560 mm 6,52 mm 6,545—6,560 mm 6,52 mm
D.l. de la guia AD. 6,600—6,615 mm 6,66 mm 6,600—-6,615 mm 6,66 mm
ES. 6,600—6,615 mm 6,72 mm 6,600—6,615 mm 6,72 mm
Tolerancia entre AD. 0,010—0,040 mm 0,11 mm 0,010-0,040 mm 0,11 mm
vistago y guia ES. 0,040-—-0,070 mm 0,20 mm 0,040—-0,070 mm 0,20 mm
Anchura de asiento AD./ES. 1,25—-1,55 mm 2,0 mm 1,25—-1,55 mm 2,0 mm
Longitud libre del muelle 38,1 mm 37,1 mm 38,1 mm 37,1 mm
Brazo de ba- D.l. del brazo de balancin 16,012—16,030 mm 16,04 mm 16,012—16,030 mm 16,04 mm
lancin de
vilvula
Eje del brazo D.E. del eje del brazo 15,976—16,994 mm 15,96 mm 15,976—16,994 mm 15,96 mm
de balancin Tolerancia del brazo del eje del 0,018—0,054 mm 0,08 mm 0,018—0,054 mm 0,08 mm
brazo al balancin de vilvula
Cigliefial Desviacion axial del eje 0,05—0,25 mm 0,5 mm 0,05-0,25 mm 0,5 mm
Desviacion del eje 0,015 mm 0,03 mm 0,015 mm 0,03 mm
Tolerancia de aceite de eje 0,050—0,098 mm 0,15 mm 0,050—0,098 mm 0,15 mm
Altura del l6bulo de leva AD./ES. 39,538—39,938 mm 39,0 mm 39,538—-39,938 mm 39,0 mm
Embolo D.E. del émbolo Skirt 76,93—76,95 mm 76,90 mm 81,93—-81,95 mm 81,90 mm
D.l. del émbolo 23,002—23,008 mm 23,03 mm 23,002—23,008 mm 23,03 mm
Tolerancia de pasador de 0,002-0,014 mm 0,04 mm 0,002—-0,014 mm 0,04 mm
émbolo a émbolo
Tolerancia de manguito de 0,050—0,087 mm 0,15 mm 0,050—0,087 mm 0,15 mm
émbolo a cilindro
Anillo de Tolerancia del brazo Tope 0,065—0,095 mm 0,15 mm 0,085—-0,115 mm 0,17 mm
émbolo del anillo Segunda 0,055—0,085 mm 0,13 mm 0,055—-0,085 mm 0,13 mm
Aceite 0,020—0,055 mm 0,09 mm 0,020-0,055 mm 0,09 mm
Tolerancia de extremo  Tope 0,20—0,35 mm 0,6 mm 0,25—-0,40 mm 0,6 mm
de anillo Segunda 0,20-0,35 mm 0,6 mm 0,25—0,40 mm 0,6 mm
Aceite 0,20—0,40 mm 0,6 mm 0,20—0,40 mm 0,6 mm




HONDA

GD1100-GD1250

GD1100 GD1250
Pieza ltem - .
Valor estandar Limite de servicio Valor estandar Limite de servicio
Pasador de D.E. del émbolo 22,994—23,000 mm 22,98 mm 22,994-—23,000 mm 22,98 mm
émbolo Tolerancia de pasador de émbolo a 0,010—0,034 mm 0,06 mm 0,010—0,034 mm 0,06 mm
pie de biela pequeio
Biela D.l. del pie de biela pequefo 23,010—23,028 mm 23,04 mm 23,010—23,028 mm 23,04 mm
Tolerancia de aceite de 0,026—0,044 mm 0,07 mm 0,026—0,044 mm 0,07 mm
cojinete de biela
Tolerancia lateral de 0,15—0,30 mm 0,40 mm 0,15—0,30 mm 0,40 mm
pie de biela grande
Cigiienal Tolerancia axial del eje 0,10—0,35 mm 0,45 mm 0,10—0,35 mm 0,45 mm
Tolerancia de aceite de 0,026—0,044 mm 0,07 mm 0,026—0,044 mm 0,07 mm
cojinete principal
Desviacion del eje 0,015 mm max. 0,03 mm 0,015 mm max. 0,03 mm
Bomba de Huelgo radial 0,02—0,14 mm 0,20 mm 0,02—0,14 mm 0,20 mm
aceite Tolerancia del rotor exterior 0,100—0,175 mm 0,20 mm 0,100—0,175 mm 0,20 mm
Tolerancia de la cubierta 0,030—0,080 mm 0,15 mm 0,030—0,080 mm 0,15 mm
de rotor a cuerpo
Blogue de ci- | D.l. del manguito del cilindro 76,000—76,017 mm 76,10 mm 82,000—82,017 mm 82,170 mm
lindros, culata | Distorsién del bloque de 0,08 mm 0,10 mm 0,08 mm 0,10 mm
de cilindro cilindros
Distorsion de la culata 0,05 mm 0,05 mm 0,05 mm 0,05 mm
de cilindro
D.l. del mufién del cigiienal 29,000—29,021 mm 29,05 mm 29,000—29,021 mm 29,05 mm
Cigtienal de D.E. del mufion del eje 28,935—28,950 mm 28,90 mm 28,935--28,950 mm 28,90 mm
combustible Tolerancia del eje al blogue 0,050—0,086 mm 0,15 mm 0,050—0,086 mm 0,15 mm
de cilindros
Cubierta de la | D.I. de la cubierta 29,00—29,021 mm 29,05 mm 29,000—29,021 mm 29,05 mm
leva de Tolerancia del cigiiefial de 0,050—0,086 mm 0,15 mm 0,050—0,086 mm 0,15 mm
combustible combustible a cubierta

2.4




HONDA

GD1100-GD1250

TORQUE VALUES

Torque
Item Thread dia. (mm)

Nem kg-m ft-lb

Camshaft holder bolts M8 x 1.25 22 2.2 15.91
Head cover nuts M6 x 1.0 10 1.0 7.23
Cylinder head bolts *1 M12 x 1.25 45 4.5 32.54
M8 x 1.25 30 3.0 21.70

Timing belt driven pulley bolt M8 x 1.25 38 3.8 27.48
Timing belt adjuster bolt M10 x 1.25 43 4.3 31.10
Crankshaft bearing cap A, B, C, D bolts M11 x 1.5 68 6.8 49.18
Connecting rod cap nuts M8 x 1.25 32 3.2 23.14
Rear end plate bolts M12 x 1.25 b5 5.5 39.78
Flyweel bolts M12 x 1.26 115 11.5 83.17
Flyweel housing M12 x 1.25 55 5.5 39.78
Oil filter holder M22 x 1.5 55 5.5 39.78
Qil filter cartridge M20 x 1.5 22 2.2 15.91
Fuel pipe A, B, C nuts M12 x 1.5 22.5 2.25 16.27
Fuel joint bolts M12 x 1.25 22.5 2.25 16.27
Injection nozzle nuts *2 M6 x 1.0 10 1.0 7.23
Governor shaft M10 x 1.25 43 4.3 31.10
Glow plugs M10 x 1.25 17.5 1.75 12.66
Glow plug nuts M4 x 0.7 1.25 0.125 0.904
Injection pump nut and bolts M8 x 1.25 22 2.2 15.91
Oil pressure switch PT 1/8 20 2.0 14.46
Oil pressure switch screw-washer 2.25 0.225 1.6272
Breathing water bolt M10 x 1.25 10 1.0 7.23
14 mm drain plug bolt M14 x 1.5 45 4.5 32.54
Nozzle fuel joint nuts M8 x 1.0 12.5 1.25 9.04

Fuel pump bolts M6 x 1.0 9 0.9 6.51
Thermostat switch M16 x 1.5 22.5 2.25 16.27
12 mm special bolt (Crankshaft pulley) M12 x 1.25 115 11.5 83.17
Rack cover bolts M6 x 1.0 13 1.3 9.40
Oil pan bolts and nuts M6 x 1.0 12 1.2 8.68
Cooling fan bolts M7 x 1.0 12 1.2 8.68
Timing belt cover bolts M6 x 1.0 10 1.0 7.23
Standard torque values 5 mm bolt, nut 5 0.5 3.62
6 mm bolt, nut 10 1.0 7.23

6 mm SH flange bolt 9 0.9 6.51

6 mm flange bolt, nut 11 1.1 7.96

8 mm bolt, nut 21 2.1 15.19

8 mm flange bolt, nut 22 2.2 15.91

10 mm bolt, nut 35 3.5 25.31

10 mm flange bolt, nut 40 4.0 28.93

12 mm bolt, nut 60 6.0 43.39

*1: First tighten all bolts to 45 Nm (4.5 kg-m, 32.54 ft-Ib), then tighten them 90° and tighten them 90° once more.
*2: Initial: 5 N-m (0.5 kg-m, 3.62 ft-Ib), Final: 10 N-m (1.0 kg-m, 7.23 ft-Ib)




HONDA
GD1100-GD1250

COUPLES DE SERRAGE

Couple
Elément Dia. du filetage (mm)
N-m kg-m
Boulons du support d’arbre a cames M8 x 1,25 22 2,2
Ecrous de cache-culbuteurs M6 x 1,0 10 1,0
Boulons de culasse *] M12x1,25 45 4,5
M8 x 1,25 30 3,0
Boulon de poulie menée de la courroie de M8 x 1,25 38 3,8
distribution
Boulon de tendeur de la courroie de courroie M10 x 1,25 43 4,3
de distribution
Boulons A, B, C, D de chapeau de palier de M1l x 1,5 68 6,8
vilebrequin
Ecrous de capuchons de bielle M8 x 1,25 32 3,2
Boulons de plaquette d’extrémité arriére MI12 x 1,25 55 5,5
Boulons de volant MI12 x 1,25 115 11,5
Carter de volant MI12 x 1,25 55 5,5
Support de filtre a huile M22 x 1,5 55 5,5
Elément de filtre 4 huile M20 x 1,5 22 2,2
Ecrous A, B, C de durite de carburant Mi2x 1,5 22,5 2,25
Ecrous de joints de carburant MI12 x 1,25 22,5 2,25
Ecrous d’injecteur *2 M6 x 1,0 10 1,0
Arbre de régulateur M10 x 1,25 43 4,3
Bougies de préchauffage MI10 x 1,25 17,5 1,75
Ecrous de bougies de préchauffage M4 x 0,7 1,25 0,125
Boulons et écrous de pompe d’injection MS x 1,25 22 2,2
Manocontact d’huile PT 1/8 20 2,0
Rondelle & vis du manocontact d’huile —_— 2,25 0,225
Boulon du trop-plein d’eau MI10 x 1,25 10 1,0
Boulon de bouchon de purge 25 Ml4x 1,5 45 4,5
Ecrous de joint de carburant de I’injecteur M8 x 1,0 12,5 1,25
Boulons de pompe a carburant M6 x 1,0 9 0,9
Thermocontact M16 x 1,5 22,5 2,25
Boulon spécial 12 mm (poulie de vilebrequin) MI12 x 1,25 115 11,5
Boulon de couvercle de racks M6 x 1,0 13 1,3
Ecrous et boulons du carter d’huile M6 x 1,0 12 1,2
Boulons du ventilateur de refroidissement M7 x 1,0 12 1,2
Boulons de couvercle de la courroie de M6 x 1,0 10 1,0
distribution
Valeurs de couples de serrage standard Ecrou, boulon 5 mm 5 0,5
Ecrou, boulon 6 mm 10 1,0
Boulon 4 flasque de cisaillement 6 mm 9 0,9
Ecrou, boulon a flasque 6 mm 11 1,1
Ecrou, boulon 8 mm 21 2,1
Ecrou, boulon & flasque 8 mm 22 2,2
Ecrou, boulon 10 mm 35 3,5
Ecrou, boulon & flasque 10 mm 40 4,0
Ecrou, boulon 12 mm 60 6,0

*1: Serrer d’abord tous les boulons 4 45 N-m (4,5 kg-m), puis les serrer 4 90° et les serrer une fois de plus la 90°

*2: Couple initaial: 5 N-m (0,5 kg-m), couple final: 10 N-m (1,0 kg-m).




HONDA
GD1100-GD1250

ANZUGSWERTE
Anzugsmoment
Gegenstand Gewindedurchmesser (mm) N-m kg-m
Nockenwellenhalterschrauben M8 x 1,26 22 2,2
Zylinderkopfdeckelmuttern M6 x 1,0 10 1,0
Zylinderkopfschrauben *1 M12x 1,26 45 4,5
M8 x 1,25 30 3,0
Steuerriemen-Abtriebsriemenscheiben
schraube M8 x 1,25 38 3.8
Steuerriemen-Einstellerschraube M10x 1,25 43 4,3
Kurbelwellen-Lagerdeckelschrauben
A,B,C,D M1tx 156 68 6,8
Pleuelstangendeckeimuttern M8 x 1,256 32 3,2
Hintere Seitenplattenschrauben rechts M12x 1,25 55 55
Schwungradschrauben M12x 1,25 1156 11,5
Schwungradgehause M12x 1,25 55 5,5
Olfilterhalter M22x 1,56 55 55
Olfilterpatrone M20x 1,5 22 22
Kraftstoffrohrmuttern A, B, C M12x 1,6 225 2,25
Kraftstoffrohr-Verbindungsschrauben M12x 1,25 225 2,25
Einspritzdiisenmuttern *2 M6 x 1,0 10 10
Reglerwelle M10x 1,25 43 4.3
Gliihkerzen M10x 1,25 175 1,75
Glihkerzenmuttern M4 x 0,7 1,25 0,125
Einspritzpumpenmutter und -schrauben M8 x 1,25 22 2.2
Oldruckschalter PT 1/8 20 20
Oldruckschalterschraube mit Unterlegscheibe - 2,25 0,225
Entliftungsschraube M10x 1,26 10 1,0
AblaRstopfenschraube, 14 mm M14x 16 45 4.5
Einspritzdiisen-Kraftstoffrohr-Verbindungs-
muttern M8 x 1,0 125 1.26
Kraftstoffpumpenschrauben M6 x 1,0 9 0,2
Thermostatschalter M16x 1,5 225 2,25
Spezialschraube, 12 mm {Kurbelwellen-
riemenscheibe) M12x 1,25 1156 1156
Zahnstangendeckelschrauben M6 x 1,0 13 13
Olwannenschrauben und -muttern M6 x 1,0 12 1,2
Kiihlgebldseschrauben M7 x 1,0 12 1,2
Steuerriemenabdeckungsschrauben M6 x 1,0 10 1,0
Standard-Anzugwerte Schraube und Mutter, 5 mm 5 05
Schraube und Mutter, 8 mm 10 1,0
SH-Flanschschraube, 6 mm 9 0.9
Flanschschraube und Mutter, 8 mm 1 11
Schraube und Mutter, 8 mm 21 21
Flanschschraube und Mutter, 8 mm 22 2.2
Schraube und Mutter, 10 mm 35 3,5
Flanschschraube und Mutter, 10 mm 40 4,0
Schraube und Mutter, 12 mm 60 6.0

*1: Zunédchst alle Schrauben auf 45 N-m (4,5 kg-m) anziehen, danach um weitere 90° anziehen und schlieRlich noch einmal um 90° anziehen.
*2: Urspriingliches Anzugsmoment: 5 N-m (0,5 kg-m); endgiiltiges Anzugsmoment: 10 N-m (1,0 kg-m)

2-5



HONDA

GD1100-GD1250

VALORES DE APRIETE

Apriete
ltem Diametro de filete de rosca (mm)
N-m kg-m
Pernos sujetadores del cigiiefal M8 x 1,25 22 2,2
Tuercas de la cubierta de la culata M6 x 1,0 10 1,0
Pernos de la culata del cilindro *1 M12x1,25 45 4,5
M8 x 1,25 30 3,0
Perno de la polea impulsora de la correa de M8 x 1,25 38 3,8
sincronizacion
Perno de ajuste de la correa de M10 x 1,25 43 4,3
sincronizaciéon
Pernos A, B, C, D de cabeza del M11 x 1,5 68 6,8
cojinete del cigiienal
Tuercas tapa de biela M8 x 1,25 32 3,2
Pernos de la placa del extremo trasero M12 x 1,25 55 5,5
Pernos del volante M12 x 1,25 115 11,5
Envoltura del volante M12 x 1,25 55 55
Sujetador del filtro de aceite M22 x 1,5 55 5,5
Cartucho del filtro de aceite M20 x 1,5 22 2,2
Tuercas A, B, C del tubo de M12x 1,5 22,5 2,25
combustible
Pernos de junta de combustible M12 x 1,25 22,5 2,25
Tuercas de boquilla de inyeccién *2 M6 x 1,0 10 1,0
Eje del regulador M10 x 1,25 43 4,3
Tap6n encendedor M10 x 1,25 17,5 1,75
Tuercas de tapon encendedor M4 x 0,7 1,25 0,125
Tuerca y perno de la bomba de M8 x 1,25 22 2,2
inyeccion
Interrruptor de presion de aceite PT 1/8 20 2,0
Tornillo-arandela del interruptor JE— 2,25 0,225
de presion de aceite
Perno de agua de respiradero M10 x 1,25 10 1,0
Perno de tapén de drenaje de 14 mm M14 x 1,5 45 4,5
Tuercas de junta de combustible M8 x 1,0 12,5 1,25
de boquilla
Pernos de bomba de combustible Meé x 1,0 9 0,9
Interruptor de termostato M16 x 1,5 22,5 2,25
Perno especial de 12 mm M12 x 1,25 115 11,5
(polea del ciglienal)
Pernos de cubierta de cremallera M6 x 1,0 13 1,3
Pernos y tuercas del colector de aceite M6 x 1,0 12 1,2
Pernos del ventilador M7 x 1,0 12 1,2
Pernos de la cubierta de la correa M6 x 1,0 10 1,0
de sincronizacion
Valores de apriete normal Perno, tuerca de 5 mm 5 0,5
Perno, tuerca de 6 mm 10 1,0
Perno, de brida SH de 6 mm 9 0,9
Perno, tuerca de brida de 6 mm 11 1,1
Perno, tuerca de 8 mm 21 2,1
Perno, tuerca de brida de 8 mm 22 2,2
Perno, tuerca de 10 mm 35 3,5
Perno, tuerca de brida de 10 mm 40 4,0
Perno, tuerca de 12 mm 60 6,0

*1 Primeramente apriete todos los pernos a 45 N-m (4,5 kg-m), luego apriételos 90° y apriételos una vez mas 90°.
final: 10 N-m (1,0 kg-m).

*2 Inicial: 5 N-m (0,5 kg-m),




HONDA
GD1100-GD1250

SPECIAL TOOLS

Tool name

Tool number

Application

. Oil pressure gauge attachment
. Universal holder

. Valve guide driver, 6.6 mm

. Valve spring compressor
Valve seat cutter 45° 29

. Valve seat cutter 45° ¢33

. Valve seat cutter 32° 228

. Valve seat cutter 32° ¢33

. Valve seat cutter 60° 30
10. Valve seat cutter 60° 237.5
11. Cutter holder, 6.6 mm

12. Oil filter wrench

13. Seal outer driver

14. Valve guide reamer, 6.612 mm
15. Joint boot driver

16. Compression gauge set
16-1. Gauge attachment

16-2. Hose assembly

16-3. Meter assembly

16-4. Case set

17. Prelift gauge attachment

18. Nozzle inspection holder

19. Ring gear holder

CONOTRWN

07406 —0030000
07725—-0030000
07742—-0010200
07757—-0010000
07780—0010300
07780—-0010800
07780—-0012100
07780—-0012900
07780—0014000
07780—-0014100
07781—-0010201
07912—-6110001
07947—-7070300
07984 —ZE20001
07GAD—-SD4020
07JPJ—2G30101
07JPJ—2G30110
07JPJ—2ZG30120
07JPJ—-2G30130
07797—-0010400
07JPJ—2G30200
07JPK—2ZG30100
07JPB—2ZG50100

Inspection for oil pressure

Timing belt driven pulley

Valve guide removal/installation
Valve cotter removal/installation
Valve seat refacing EX.

Valve seat refacing IN. EX.

Valve seat refacing EX.

Valve seat refacing IN.

Valve seat refacing EX.

Valve seat refacing IN.

Holder for tools 5, 6, 7, 8, 9 and 10
Oil filter cartridge removal/installation
72 x 92 x 9 mm oil seal installation
Valve guide |.D. reaming

29 x 45 x 8 mm oil seal installation
Inspection for cylinder compression

Injection nozzle adjustment
Injection nozzle adjustment
Flywheel holding

G ),

®e®
®O®

S5 m—)
i'

® @

)2

(9-3
- &

Vg




HONDA
GD1100-GD1250

OUTILS SPECIAUX

Désignation de I’outil

Numéro d’outil

Application

. Accessoire de manometre a huile

. Support universel

. Chassoir, 6,6 mm

. Léve-soupape

. Fraise pour siége de soupape 45° 29 dia
. Fraise pour si¢ge de soupape 45° 33 dia
. Fraise pour siége de soupape 32° 28 dia
. Fraise pour siége de soupape 32° 33 dia
. Fraise pour siége de soupape 60° 30 dia
10. Fraise pour siége de soupape 60° 37,5 dia
11. Porte-fraise, 6,6 mm

12. Démonte-filtre a huile

13. Chassoir ext. de bague d’étanchéité

14. Alésoir pour guide de soupape, 6.612 mm
15. Chassoir de joint d’articulation

16. Ensemble de compressiométre

16-1. Accessoore de manométre

16-2. Tuyau de raccord

16-3. Compteur

16-4. Boitier

17. Accessoire de relevage

18. Contrdle du porte-injecteurs

19. Support de couronne dentée

W0 I WU A W=

07406—0030000
07725—0030000
07742—0010200
07757—0010000
07780—0010300
07780—0010800
07780—0012100
07780—0012900
07780—0014000
07780—0014100
07781—0010201
07912—6110001
07947—7070300
07984—ZE20001
07GAD—SD4020
07JPJ—ZG30101
07JPJ—JG30110
07JPJ—Z2G30120
07JPJ—ZG30130
07797—0010400
07JPJ—ZG30200
07JPK—ZG30100
07JPB—ZG50100

Contrdle pour la pression d’huile

Poulie menée de la courroie de distribution
Dépose/repose du guide de soupape
Dépose/repose de la clavette de soupape
Rectification du siége de soupape ECH.
Rectification du siége de soupape ADM. ECH.
Rectification du siége de soupape ECH.
Rectification du siége de soupape ADM.
Rectification du siége de soupape ECH.
Rectification du siége de soupape ADM.
Support pour outils 5, 6, 7, 8, 9 et 10
Dépose/repose de I'lément du filtre a huile
Pose de la bague d’étanchéité 72 x 92 x 9 mm
Alésage du diameétre du guide de soupape
Pose de la bague d’étanchéité 29 x 45 x § mm
Contrdle pour la compression du cylindre

Rélage de I'injecteur
Réglage de I’injecteur
Porte-volant

@ @

D))

®E®
®@®®

@

O




HONDA

GD1100-GD1250

SPEZIALWERKZEUGE

Werkzeugbezeichnung

Werkzeug-Nr,

Anwendu ngszweck

©COENDO P WN =

. Oldruckmesseranfsatz
. Universaihalter

. Ventilfiihrungstreibdorn, 6,6 mm
. Ventilfederheber
45.Grad-Ventilsitzfraser, 29 mm
45-Grad-Ventilsitzfraser, ¢33 mm

. 32-Grad-Ventilsitzfraser, 28 mm

. 32-Grad-Ventilsitzfraser, 33 mm

. 60-Grad-Ventilsitzfraser, ®30 mm
10. 60-Grad-Ventilsitzfraser, 37,5 mm
11. Fraserhalter, 6,6 mm
12, Olfilterschliissel

13. Simmerringtreibdorn
14. Ventilfihrungsreibahle, 6,612 mm
16, Gelenkmanschettentreibdorn

16. Kompressionsdruckpriifersatz

16-1. Kompressionsdruckpriifer-Aufsatz
16-2, Schlauch

16-3. Kompressionsmesser
16-4, Gehédusesatz

17. Vorhubmesseraufsatz
18. Dusenpriifhalter

19. Zahnkranzhalter

07406—0030000
07725—0030000
07742-0010200
07757—-0010000
07780—-0010300
07780-—-0010800
07780-0012100
07780—0012900
07780—-0014000
07780—-0014100
07781-0010201
07912—6110001
07947-7070300
07984—2ZE20001
07GAD-SD4020
07JPJ—2ZG30101
07JPJ—2G30110
07JPJ—-2G30120
07JPJ—-2G30130
07797-0010400
07JPJ—2G30200
07JPK-2ZG30100
07JPB—-ZG50100

Uberpriifen des Oldrucks
Steuerriemen-Abtriebsriemenscheibe
Ventilfihrung aus- und einbauen
Ventilfederkeil aus- und einbauen
Ventilsitz (AUS) nacharbeiten
Ventilsitz (EIN, AUS) nacharbeiten
Ventilsitz {AUS) nacharbeiten
Ventilsitz (EIN) nacharbeiten

Ventilsitz (AUS) nacharbeiten
Ventilsitz (EIN) nacharbeiten

Halter fir Werkzeug 5, 6, 7,8, 9, und 10
Olfilterpatrone aus- und einbauen
Simmerring, 72 x 92 x 9 mm einbauen
Ventilfihrungs-Innendurchmesser ausreiben
Simmerring, 29 x 45 x 8 mm einbauen
Kompression {iberprifen

Einspritzdiise einstellen
Einspritzdiise einstellen
Schwungrad blockieren

@
O ));

®®®
®®®

B tans —
0
e

i




HONDA

GD1100-GD1250

HERRAMIENTAS ESPECIALES

Nombre de herramienta

Numero de herramienta

Aplicacion

NV R W =

=]

10.
11.
12.
13.
14.
15.
16.

17.
18.
19.

. Accesorio de manémetro de presion de aceite
. Sujetador universal

. Impulsor de guia de valvula de 6,6 mm

. Compresor de muelle de valvula

. Broca de asiento de valvula de 45° 29¢

. Broca de asiento de vélvula de 45° 33@

. Broca de asiento de viélvula de 32° 280

. Broca de asiento de vélvula de 32° 33¢

. Broca de asiento de vélvula de 60° 30@

Broca de asiento de valvula de 60° 37,50
Sujetador de broca de 6,6 mm

Llave de tuercas del fiftro de aceite
Impulsor exterior de sello

Escariador de guia de valvula de 6,612 mm
Impulsor de envoltura de chamnela

Juego de manémetro de compresion

16-1. Accesorio de manémetro
16-2. Conjunto de manguera
16-3. Conjunto de medidor
16-4. juego de carter

Accesorio de manémetro de preelevacién
Sujetador de boquilla de inspeccién
Sujetador de engranaje anular

07406—0030000
07725—0030000
07742—0010200
07757—0010000
07780—0010300
07780—0010800
07780—0012100
07780—0012900
07780—0014000
07780—0014100
07781—0010201
07912—6110001
07947—7070300
07984—ZE20001
07GAD—SD4020
07JP)—ZG30101
07)P)—JG30110
07)P}—ZG30120
07)P)—ZG30130
07797—0010400
07)P)—Z2G30200
07)PK—ZG30100
07)PB—ZG50100

Inspeccion de presién de aceite

Polea impulsora de la correa de sincronizacion
Extraccién/instalacién de guia de valvula
Extraccion/instalacion de chaveta de vélvula
Rectificacion de asiento de valvula ES.
Rectificacion de asiento de vdlvula AD.ES.
Rectificacion de asiento de valvula ES.
Rectificacion de asiento de valvula AD.
Rectificacion de asiento de valvula ES.
Rectificacién de asiento de valvula AD.
Sujetador para herramientas 5, 6, 7, 8, 9y 10

Extraccion/instalacion del cartucho del filtro de aceite
Instalacion del sello de aceite de 72 x 92 x 9 mm

Escariado de guia de vélvula AD.

Instalacion del sello de aceite de 29 x 45 x 8 mm

Inspeccién de compresién de cilindro

Ajuste de boquilla de inyeccion
Ajuste de boquilla de inspeccién
Sujecion del volante

® @

{ma

®e®
®©®®

@




HONDA

GD1100-GD1250

TROUBLESHOOTING

a. Engine does not start.

Check the following before troubleshooting.

® Fuel level

Make sure that the
crankshaft rotates.

TDoes not rotate or rotates slowly —p|
Rotates

]

Make sure that fuel is sup-
plied to the fuel injection
pump.

Not supplied
—I::Supplied

Seized crankshaft main bearing, cylinder,

and/or connecting rod

* Disassemble the engine for servicing.

Incorrect viscosity and grade of engine oil

* Replace with the recommended engine
oil. {See page 3-2.)

y

Make sure that the fuel jets
out. (See pages 3-4 and
3-5.)

Clogged fuel filter

* Replace the fuel filter. (See page 3-3.)
Fauity fuel pump

* Replace the fuel pump.

Damaged fue! tube or loose joint

* Replace the tube.

A

»Fuel does not jet out

—>Fuel jets out

A

Make sure that the cylinder
compression is within the
specification. (See pages
2-8 and 2-9.)

Clogged fuel pipe

* Inspect and clean the fuel pipe.

Faulty fuel injection pump

* Replace the pump.

Loose fuel pipe mounting nut

+ Tighten to the specified torque.

Improper grade of fuel

* Use the recommended grade of fuel.

Faulty injection nozzle

* Check and adjust the injection nozzle.
(See pages 3-4, 3-5 and 4-4 through
4-7.)

Faulty operation of the governor start

system

* Check the start spring.

Low cylinder compression — o

Insufficient compression
* See “Insufficient compression’’ (page
2-8).

Normal cylinder compression —___ |

Clogged fuel tank breather

* Inspect and clean.

Damaged fuel tube or loose joint

* Replace the tube.

Incorrect fuel injection timing, vlave tim-

ing, and vlave clearance

* Adjust gasket under the fuel injection
pump. (See pages 4-9 and 4-10.)

* Check the timing marks on the timing
belt pulleys for alignment. (See page
7-5.)

* Adjust the valve clearance. (See pages
3-5 and 3-6.)

Water in the fuel

» Replace the fuel and drain water from
the fuel system.

Glow plug malfunction (at a temperature

of 0°C or lower)

* Check the glow plug and glow control
unit and replace if necessary.




HONDA
GD1100-GD1250

b. Insufficient cylinder compression

Slzzzli(n;he air cleaner for TCIogged. » Clogged air cleaner
. « Clean the air cleaner element. Replace if
Not clogged (cylinder compres- necessary. (See pages 3-2 and 3-3.)
sion does not change by removing » Check and remove foreign material from
the air cleaner.) the intake port.

improperly tightened injection nozzle

« Check the nozzle gasket and replace if
necessary.

» Tighten the nozzle to the specified tor-
que. (See page 4-2.)

Compression leak from Faulty cylinder head gasket

the cylinder block » Replace the gasket.

Worn, seized, or damaged piston ring

» Replace the piston ring.

Worn cylinder sleeve

» Rebore the cylinder and replace the
piston rings.

Incorrect valve seat width
» Correct the seat width. (See pages 9-11

. Compression leak from _| through 9-13.)
the cylinder head ~| Valve thrust
» Adjust the valve clearance. (See pages
3-5 and 3-6.)

Incorrect valve timing
» *Check the timing marks on the timing
belt pulleys for alignment. (See page 7-5.)

CYLINDER COMPRESSION TEST

AWARNING

« Keep open flames, sparks, and cigarettes away from the
fuel. Move the speed control lever to “"STOP"".

» Clean the area around the nozzle and wash your hands
thoroughly before removing the injection nozzle. After

the removal, take care not to let dust, dirt or other

. . S.T0O
foreign material enter the nozzle. 6 mm FLANGE
COMPRESSION
1) Remove the injection nozzle. (See page 4-2.) Cover the fuel GAUGE
’ ’ ATTACHMENT

pipe with a new plastic bag.

2) Install the gauge attachment (special tool} in the nozzie hole
and tighten the two 6 mm flange nuts. Before tightening the
nuts, grease the flange section of the nuts and tighten them
to the specified torque.

No. 07JPJ—2G30110

Specified torque: 10 N-m (1.0 kg-m, 7.23 ft-Ib)

3) Remove the connector of the stopper solenoid.




HONDA

GD1100-GD1250

4) Securely install the special tool to the compression gauge
attachment. Turn the ignition switch to *’ON’’ and measure
the cylinder compression.

Cylinder

compression

2647.8 kPa (27 kg/cm?, 384.0 psi)
at 200 min-' (rpm)

5) Remove the special tool and measure the cylinder compres-
sion on the other cylinders using the same procedure.

6) After measuring the cylinder compression at three posi-
tions, reinstall the injection nozzles. (See page 4-2.)

HOSE ASSEMBLY
No. 07JPJ—-ZG30120

METER ASSEMBLY
No. 07JPJ—-ZG30130

c. Engine idles irregularly

clogging.

Check the air cleaner for

I Clogged
Not clogged

|

Make sure that fuel is sup-
plied to the fuel injection
pump properly.

\

injection.

Check the fuel for correct

Fuel jets out properly.

~|:Fuel is supplied irregularly. ————
Fuel is supplied properly.

—l:>FueI jets out irregularly, ———»
-

L

Clogged air cleaner

» Clean the air cleaner element. Replace
the element if necessary. (See pages 3-2
and 3-3.)

» Check and remove foreign material from
the intake port.

Clogged fuel filter

* Replace the fuel filter. (See page 3-3.)
Damaged fuel tube or loose joint

* Replace the tube.

Fuel pump malfunction

* Replace the fuel pump.

Faulty fuel injection nozzle

» Check and adjust the injection nozzle.
(See pages 3-4, 3-5 and 4-4 through
4-7.)

Faulty governor
operation.

Faulty governor

« Check governor for binding, distortion or
other defects and repair as necessary.

Improperly installed governor spring

« Install the governor spring properly.

Faulty governor spring

* Replace the governor spring.

Governor operates
properly.

Incorrect fuel injection timing

» Adjust the gasket under the fuel injection
pump. (See pages 4-9 and 4-10.)

Incorrect valve timing and valve clearance

* Check the timing marks on the timing
belt pulleys for alignment. {See page
7-5.)

* Adjust the valve clearance. (See pages
3-5 and 3-6.)

Water in the fuel

« Replace the fuel and drain water from
the fuel system.




HONDA
GD1100-GD1250

d. Exhaust gas is white or blue (Except immediately after cold start).

- Irregular injection is caused by air remaining in the fuel lines after refueling. Although pale smoke is exhausted, it will disap-

pear after one to two minutes at low speed and two to three minutes at high speed.

(During warm up)

« If the engine is initially run at high speed when it has not been warmed up, heavy smoke is exhausted due to the low

temperature in the combustion chamber; it will disappear after warm up.

(After warm up)

Clogged air cleaner

« Inspect the element and replace if
necessary (See pages 3-2 and 3-3).

« Inspect the inlet and remove foreign
material.

Is the air cleaner clogged? Clogged >
Not clogged
|
Y
Check fuel injection. Irregular injection >

Normal injection

Loose injection nozzle

» Tighten the nozzle to the torque (See
page 4-2).

Injection nozzle fault

« Inspect, clean, and readjust the nozzles,
and replace with a new one if necessary.

Y

Check whether the com-
pression pressure is within Low compression pressure —
the specified values by

Insufficient cylinder compression
- See Section “’Insufficient cylinder com-
pression’’ (See page 2-2).

measuring the pressure (See

pages 2-8 and 2-9.)

Normal compression pressure — |

Water or kerosene contamination in the

fuel

» Completely drain fuel (including fuel in
the filter) and supply the recommended
fuel.

Filter clogging caused by use of the diesel

fuel for summer season in winter.

» Replace with the diesel fuel for winter
season.

Improper injection timing and valve timing

« Readjust the gasket under the fuel injec-
tion pump.

« Check whether the timing belt pulley
timing marks match.

Unburnt gas remaining in the muffler

» If continuous load running is required,
replace with a new muffier.

Abnormal engine operation

» Disassemble and inspect the engine, and
repair or replace if necessary.

2-10




HONDA

GD1100-GD1250

e. Exhaust gas is black or dark gray

Is the air cleaner clogged? Clogged

Not clogged

|

4
Is the exhaust system

Clogged

Clogged air cleaner

« Inspect the element and replace if
necessary (See page 3-2).

* Inspect the inlet and remove foreign
material.

clogged?

Not clogged

\i

The exhaust manifold muffler and tail pipe

are clogged.

* Inspect the parts and replace if
necessary.

\J

Overheated (See page 3-6 through 3-8).

Injection nozzle fault

« Check the injection port and gasket, and
replace if necessary.

Improper injection timing, valve timing,

and valve clearance

» Check whether the timing belt pulley
timing marks match.

* Readjust the gasket under the fuel injec-
tion pump.

* Readjust the valve clearance (See pages
3-5 and 3-6).

Insufficient cylinder compression

+ See Section "'Insufficient cylinder com-
pression’’ (See page 2-2).

2-11




HONDA.

GD1100-GD1250

f. A large amount of engine oil is consumed

Does the exhaust gas
have a normal color?

Oil leakage du to faulty packing seal

» Tighten to the torque. Replace the
packing if necessary.

Qil leakage due to faulty oil seal

« Replace the oil seal.

» Normal >

Piston ring abrasion
Exhaust gas seems » Repalce the piston ring.
white and the e . Cylinder sleeve abrasion

. ——— Qil rising in cylinder —»~ . . .
following symp- « Replace with an over-size piston.
toms appear: Piston abrasion
« Replace the piston.

Valve stem seal faulty

» Replace the valve stem seal.

Valve stem seal is not installed

> Low oil pressure —»| « Install the valve stem seal.

Clogged air cleaner

- Inspect the air cleaner (See pages
3-2 and 3-3).

Too much engine oil supplied
» Reduce the oil capacity to the
specified amount (See page 3-2).

Abnormal oil blow- Piston ring abrasion
Leoff from the —— | « Replace the piston ring.
breather tube Cylinder sleeve abrasion

» Replace with an over-size piston.
Piston abrasion
- Replace the piston.

2-12



HONDA
GD1100-GD1250

g. Faulty lubrication system

1) The oil warning light does not turn off after starting the engine.

* Make sure that the engine oil is up to the specified level. (See page 3-2.)

lﬁheck the oil pressure.

n

—»Normal pressure

L>Low pressure

Oil pressure switch malfunction

* Replace the oil pressure switch.

Wire grounded to mass.

» Check the wiring and replace if
necessary.

2) Abnormal oil discharge from the breather tube.
* Make sure that the engine oil is up to the specified level. (See page 3-2.)

Oil pressure too high

Clogged oil filter

* Replace the oil filter.

Dirt in the relief valve

« Disassemble and clean the relief valve.

« Replace the relief valve if necessary.

Faulty relief valve spring

* Replace the relief valve spring.

Excessive main bearing oil clearance

* Select proper main bearing. (See page
12-6.)

Clogged oil passage (intake port side)

» Clean the passage.

Clogged oil filter cartridge

+ Replace the oil filter cartridge.

Improper viscosity and grade of the engine

oil

« Replace with the recommended engine
oil. (See page 3-2.)

Oil pump malfunction

* Replace the oil pump.

Fuel in the engine oil

» Disassemble and adjust the nozzle. (See
pages 3-4, 3-5, 4-4 and 4-7.) Replace
the engine oil.

Excessive connecting rod bearing oil

clearance

» Select proper connecting rod bearing.
{See page 12-7.)

Low oil temperature

* Warm up the engine to normal operating
temperature and recheck.

Faulty relief valve

* Replace the relief valve.

Improper viscosity and grade of engine oil

* Replace with the recommended engine
oil. (See page 3-2.)

Cylinder compression leak due to ex-

cessive piston-to-piston ring and cylinder-

to-piston ring clearances.

« Check the piston and piston rings and
replace if necessary.

* Check and repair the cylinder block.
replace if necessary.

Defective cylinder head gasket

*» Replace the cylinder head gasket with an
other one of the same thickness.

2-13




HONDA
GD1100-GD1250

@ OIL PRESSURE INSPECTION

1) Check engine oil level. (See page 3-2.)

2) Disconnect the oil pressure switch lead and remove the oil
pressure switch.

3} Install the special tool on the oil pressure gauge having a
scale of 980.7 kPa (0— 10 kg/cm?, 142.2 psi) attach them
on the engine and tighten them to the specified torque.

Specified torque: 20 N-m (2.0 kg-m, 14.46 ft-Ib)

CAUTION

» The threaded hole for the oil pressure is tapered. Do not
overtighten the screw as it could be damaged.

4) Start the engine and measure the oil pressure after the
engine is warmed up.

Specified oil pressure 392.3 kPa (4 kg/cm?, 56.9 psi)
[at 800 min-! (rpm)] or more

5) If the oil pressure is below the specification, check the oil
pump rotor and body. (See pages 11-3 and 11-4.)

6) After the inspection, clean the threaded portion of the oil
pressure switch and apply liquid gasket (Three Bond 1201,
1216 or equivalent) to the threads. (Tighten the oil pressure
switch to the specified torque.

Specified torque: 20 N-m (2.0 kg-m, 14.46 ft-Ib)

CAUTION

OIL PRESSURE SWITCH

OIL PRESSURE GAUGE ADAPTER
' No. 07406 —0030000

» Tighten the oil pressure switch with a wrench. Do not
over tighten the switch.

i

APPLY
LIQUID GASKET

2-14



HONDA

GD1100-GD1250

h. Engine overheats.

Check the radiator core for
clogging.

* Clean the radiator screen and radiator

]

Not clogged

level.

Check the radiator coolant

Low level

core.

* Fill the radiator coolant to the specified

\

Coolant level not fow

Check the fan belt.

y

level. (See page 3-8.)

Radiator coolant leaks.

» Check the radiator, radiator hose, and
each gasket and repair or replace if
necessary.

|

—»| Loose or dislocated fan belt

y

/

Check the thermostat.

Abnormal condition

+» Check, repair, and replace if necessary.
(See page 3-4.)

Cut fan belt

* Replace the fan belt.

» Thermostat malfunction

]—I::Abnormal condition
Normal condition

Normal condition

* Replace the thermostat.

Faulty cylinder head gasket

Y

* Replace the gasket with one of the same
thickness.

Incorrect fuel injection timing

*» Adjust the gasket under the fuel injection
pump. (See pages 4-9 through 4-10.)

Improper grade of fuel

« Use the proper grade of fuel.

Excessive engine load

* Reduce the load.

2-15



HONDA

GD1100-GD1250

j. Glow plug does not operate properly.

Check for blown fuse. Fuse blown

Fuse not blown

« Check for proper wiring. Check for
disconnected or loose terminal and
replace the fuse.

Check the battery. }——»Weak battery

« Check the battery fluid level. Add battery
fluid up to the upper level and charge the
battery.

2-16




HONDA

GD1100-GD1250

DEPISTAGE DES PANNES

a. Le moteur ne démarre pas.

Vérifier les points suivants avant la réparation

¢ Niveau de carburant

S’assurer que le moteur tourne
bien.

# Ne tourne pas ou tourne lentement —

— Tourne

Palier principal de vilebrequin, cylindre et/ou
bielle grippés

eDémonter le moteur pour 'entretien

Viscosité et qualité de I’huile moteur incorrecte
*Remplacer avec ’huile préconisée(voir page 3-2).

\

S’assurer que le carburant est ali-
menté a la pompe d’injectin de
carburant.

» Pas alimenté >

Filtre a carburant encrassé

*Remplacer le filtre 4 carburant (voir page 3-3.)
Pompe a carburant défectueuse

eRemplacer la pompe 4 carburant

Durite de carburant endommagée ou joint desserré
*Remplacer la durite.

'—— Alimenté
J

Y

S’assurer que le carburant gicle
(voir pages 3-4 et 3-5).

* Le carburant ne gicle pas ————»

—L e carburant gicle

\

S’assurer que le cylindre de com-
pression est dans la gamme spéci-
fiée (voir pages 2-8 et 2-9).

Durite de carburant encrassée

*Contrdler et nettoyer la durite de carburant

Pompe d’injection de carburant défectueuse
sRemplacer la pompe

Ecrou de montage de la durite de carburant

desserrée

*Resserrer au couple spécifié.

Qualité de carburant impropre

eUtiliser la qualité de carburant préconisée.

Injecteur défectueux

*Controler et régler I'injecteur(voir pages 3-4, 3-5
et 4-4 2 4-7.)

Fonctionnement défectueux du systéme de départ

du régulateur

*Controler le ressort de départ.

Compression insuffisante
*Voire ‘“‘compression insuffisante’’(page 2-8).

— Compression faible du cylindre —]

——»Compression normale du cylindre ——

Reniflard du réservoir a carburant encrassé
eContrdler et nettoyer

Durite de carburant endommagée ou joint desserré

eRemplacer la durite.

Avance a l’injection, réglage de la distribution et

jeu aux soupapes incorrects

eAjuster le joint d’étanchéité sous la pompe
d’injection de carburant (voir pages 4-9 et 4-10)

*S’assurer que les repéres de distribution sur la
courroie de distribution sont bien slignés (voir
page 7-5)

sRégler le jeu aux soupapes (voir pages 3-5 et 3-6)

Eau dans le carburant

3Remplacer le carburant et purger ’eau du circuit
de carburant

Mauvais fonctionnement de la bougie de pré-

chauffage (4 une température de 0° ou inférieure)

*Contrdler la bougie de préchauffage et ’unité de
commande de bougie de préchauffage et, rempla-
cer si nécessaire.




HONDA
GD1100-GD1250

b. Compression insuffisante du cylindre

Contréler que le filtre a air n’est

pas encrassé.

ESSAI DE COMPRESSION DE CYLINDRE

—» Encrassé

o | Filtre a air encrassé

Pas encrassé
(la compression du cylindre ne

change pas lorsque le filtre & air est

déposé)

|| Fuite de compression au
bloc-cylindres

eNettoyer I’élément du filtre a air. Remplacer si
nécessaire (voir page 3-2 et 3-3).

eContrdler et éliminer les matieres étrangéres de la
lumiére d’admission

Fuite de compression au bloc-cylindres
eContrdler le joint d’injecteur et remplacer si
nécessaire
eSerrer I’injecteur au couple spécifié
(voir page 4-2)
Joint d’étanchéité de culasse défectueux
Segment de piston usé, grippé ou endommagé

Fuite de compression a
la culasse

-»| eRemplacer le segment de piston

Fourreau de cylindre usé

eRéaléser le cylindre et remplacer le segment de
piston.

Largeur de siége de soupape incorrecte
eCorriger la largeur de siége (voir pages 9-11 a
9-13)

»| Butée de soupape
*Régler le jeu aux soupapes (voir pages 3-5 et 3-6)

Distribution défectueuse
eVérifier que les repéres de distribution sur la

¢ Ne pas approcher de flammes vives, d’étincelles ou de cigarettes prés
du carburant. Déplacer le levier de commande des vitesses sur

“STOP”’.

e Nettoyer la zone autour de I’injecteur et bien se laver les mains avant
de déposer I’injecteur. Aprés la dépose, faire attention a ce qu’aucune

courroie de distribution sont bien alignés (voir
page 7-5)

poussiére, saleté ou autres matiéres étrangéres ne pénétre dans m

I’injecteur.

1) Déposer 'injecteur (voir page 4-2). Couvrir la durite de carburant d’un

sac en plastique neuf.

2) Monter I’accessoire du compressiomeétre (outil spécial) dans le trou d’injec-
teur et serrer les deux écrous a brides.Avant de resserrer les écrous, grais-
ser la section de bride des écrous et les resserrer au couple spécifié.

Couple spécifié 10 N-m (1,0 kg-m)

3) Enlever le connecteur de 1’électrovanne de solénoide.

[21 ECROU A BRIDE, 6 mm (2)

ACCESSOIRE DE
COMPRESSIOMETRE

N° 07JPJ-ZG30110 /é{)\\
A A=

=




HONDA
GD1100-GD1250

4) Monter fermement I’outil spécial sur 1’accessoir iométre. —
) p e de compressiomeétre S ToOL

Tourner le contacteur d’allumage sur “ON’’ et mesurer la compression

[2] COMPTEUR

du cylindre. [1] TUYAU DE RACCORD N° 07JPJ-ZG30130

Compression 2647,8 kpa a 200 mn™' (tr/mn)
ducylindre

5) Déposer I’outil spécial et mesurer la compression aux autres cylindres
selon la méme procédure.

6) Apres avoir mesuré la compression a trois positions, remonter les injec-
teurs (voir page 4-2).

N° 07JPJ-SG30120

¢. Le moteur tourne de maniére irréguliére au ralenti

Vérifier que le filtre a air n’est

»Encrassé

\i

pas encrassé.

—Pas encrassé

Y

S’assurer que le carburant est
correctement alimenté a la pompe
d’injection de carburant.

—»-[e carburant est alimenté de maniére
irréguliere

t——Le carburant est alimenté

A
Vérifier que I’injection de carbu-
rant est correcte a la pompe

. Le carburant gicle de maniére
" irréguliere

»Le carburant gicle

. | Fonctionnemnt
défectueux

Le régulateur fonctionne
correctement

l

Filtre & air encrassé

eNettoyer I’élément du filtre a air. Remplacer si
nécessaire (voir page 3-2 et 3-3).

*Controler et éliminer les matiéres étrangéres
étrangeres de la lumiére d’admission

Filtre a carburant encrassé

eRemplacer le filtre a carburant (voir page 3-3)
Durite de carburant endmmagée ou joint desserré
*Remplacer la durite.

Pompe a carburant défectueuse

esRemplacer la pompe a carburant

Injecteur de carburant défectueux
eControler et régler I’injecteur (voir pages 3-4, 3-5
et de 4,4 a4 4,7).

Régulateur défectueux

sVérifier que le régulateur n’est pas plié, distordu
ou ne présente pas d’autres défauts et réparer
comme il se doit.

Ressort de régulateur mal monté

sMonter le ressort de régulateur correctement.

Ressort de régulateur défectueux

sRemplacer le ressort de régulateur

Avance a injection

eAjuster le joint d’étanchéité sous la pompe
d’injection de carburant (voir pages 4-9 et 4-10)
Réglage de la distribution et jeu aux soupapes

incorrects

eS’assurer que les repéres de distribution sur la
courroie de distribution sont bien alignés (voir
page 7-5)

eRégler le jeu aux soupapes (voir pages 3-5 et 3-6)

Eau dans le carburant

eRemplacer le carburant et purger I’eau du circuit
de carburant




HONDA
GD1100-GD1250

d. Gaz d’échappement blancs ou bleus (sauf immédiatement aprés un départ a froid)

e L’injection irréguliére est provoquée par 1air restant dans les canalisations de carburant aprés 'appoint de carburant. Bien qu’une fumée pale
s’échappe, elle disparaitra aprés une ou deux minutes a bas régime et aprés deux ou trois minutes a régime élevé.

(Durant I’échauffement)

e Si le moteur tourne initialement 3 un régime élevé alors que le moteur n’a pas été suffisamment échauffé, une fumée épaisse s’échappera du
fait de la basse température dans la chambre de combustion; cette fumée disparaitra aprés I'échauffement.

(Aprés I’échauffement)

" L. . A ——Encrassé
Le filtre & air est-il encrassé?

L—»-Pas encrassé

y

Filtre a air encrassé

eNettoyer 1’élément du filtre & air et remplacer si
nécessaire (voir page 3-2 et 3-3).

eContrdler la ’admission et éliminer les matieres
étrangéres

Vérifier I'injection de carburant }-——-—» Injection irréguliére

\——» [njection normale

y
S’assurer que le cylindre de com-

Desserrer I’injecteur

eSerrer I'injecteur au couple spécifié (voir page
4-2)

Injecteur de carburant défectueux

eContrdler, nettoyer ou régler 4 nouveau les injec-
teurs et remplacer par de nouveaux si nécessaire.

pression est dans la gamme spéci- » Compression faible
fiée en mesurant la pression (voir
pages 2-8 et 2-9).

L—» Compression normale du

Compression insuffisante
eVoir “Compression insuffisante’” (page 2-2).

cylindre ——m

Contamination par 1’eau ou le kéroséne dans le

carburant

eVidanger complétement de carburant (dont le
carburant dans le filtre) et faire le plein avec le
carburant recommandé.

eS’assurer que les repéres de distribution sur la
courroie de distribution sont bien alignés (voir
page 7-5)
Niveau d’huile bas

Encrassement du filtre provoqué par I'utilisation

de carburant diesel pour l'utilisation de carburant

diesel pour I’été en hiver.

sRemplacer avec le carburant diesel préconisé
pour 'hiver.

Avance a l'injection et réglage de la distribution

incorrectes

eRégler a nouveau le joint d’étanchéité sous la
pompe d’injection de carburant.

eS’assurer que les reperes de distribution sur la
courroie de distribution sont bien alignés.

Gaz non briilés présents dans le silencieux

d’échappement

#Si la marche en charge continue est nécessaire,
remplacer par un nouveau silencieux
d’échappement.

Anomalie de fonctionnement du moteur

eDémonter et contrdler le moteur et réparer ou
remplacer si nécessaire.

2-10



HONDA

GD1100-GD1250

e. Gaz d’échappement noirs ou gris foncé

Le filtre a air est-il encrassé?

# Encrassé

—Pas encrassé

\

Le circuit d’échappement est-il
encrassé?

Filtre a air encrassé

sNettoyer 1’élément du filtre & air et le remplacer
si nécessaire (voir page 3-2).

*Contrdler ’admission et éliminer les matiéres
étrangeres.

> Encrassé

—» Pas encrassé

Le collecteur d’échappement, le silencieux et la
conduite arriere d’échappement sont encrassés
eVérifier chaque pigce et remplacer si nécessaire.

Surchauffe (voir pages 3-6 a 3-8)

Injecteur de carburant défectueux

eVérifier la lumi¢re d’injection et le joint, puis
remplacer si nécessaire.

Avance a l'injection, réglage de la distribution et
jeu aux soupapes

eS’assurer que les repéres de distribution sont bien
alignés.

*Régler & nouveau le joint sous la pompe d’injec-
tion de carburant.

sRégler le jeu aux soupapes (voir pages 3-5 et 3-6)

Compression du cylindre insuffisante

eVoir ‘““Compression insuffisante’’ (page 2-2).

2-11



HONDA
GD1100-GD1250

f. Consommation excessive d’huile moteur

Fuite d’huile due a un joint défectueux

*Resserrer au couple spécifié. Remplacer le joint
si nécessaire.

Fuite d’huile due au disque de retenue d’huile

défectueux

eRemplacer le disque de retenue d’huile.

Les gaz d’échappement ont-ils

» Normale -
une couleur normale

Les gaz d’échap-
pement semblent
étre blancs et les

Segments de piston usés
sRemplacer les segments de piston

L symptomes sui L’huile s’éléve Fourreau de cylindre usé
vatp euvent dans le cylindre eRéaléser le fourreau et remonter avec un piston
pe X surdimensionné.
apparaitre: Piston usé

eRemplacer le piston

Joints de queues de soupapes défectueux
eRemplacer les joints de queues de soupapes

Pression d’huile Joints de queues de soupapes non montés

faible eMonter les joints de queues de soupapes
Filtre a air encrassé

eNettoyer le filtre & air (voir pages 3-2 et 3-3)

Alimentation d’huile moteur excessive
sFaire ’appoint d’huile moteur au niveau spécifié
seulement (voir page 3-2.)
Segments de piston usés
eRemplacer les segments de piston.
Fourreau de cylindre usé
sRemplacer avec un piston surdimensionné
Piston usé
eRemplacer le piston

Décharge anor-
male d’huile
dans le tube be
reniflard

2-12




HONDA
GD1100-GD1250

g. Systéme de graissage défectueux

1) Le témoin d’huile ne s’éteint pas au lancement du moteur
e S’assurer que I’huile moteur atteint bien le niveau spécifié (voir page 3-2)

érifi i i Pression normale .
Vérifier la pression d’huile )_—> ©ss10; -

Fonctionnement défectueux du manocontact
d’huile

sRemplacer le manocontact

Fil a la masse

eVérifier et remplacer si nécessaire

L » Pression basse >

2) Décharge anormale d’huile au tube de reniflard
e S’assurer que I’huile moteur est bien au niveau spécifié¢ (voir page 3-2)

Filtre & huile encrassé

eRemplacer le filtre & huile

Poussiéres dans le clapet de décharge

Démonter et nettoyer la soupape de décharge

eRemplacer le clapet de décharge si nécessaire

Ressort de clapet de décharge défectueux

sRemplacer le ressort de clapet de décharge

Jeu de lubrification excessive au palier principal

eSélectionner le palier principal adéquat (voir page

12-6)

Passage d’huile encrassé (c6té lumiere

d’admission)

eNettoyer le passage

Elément de filtre 4 huile encrassé

sRemplacer I’élément de filtre a huile

Viscosité et qualité de I’huile moteur inadéquates

sRemplacer avec ’huile moteur préconisée (voir
page 3-2)

Fonctionnemnt défectueux de la pompe & huile

e*Remplacer la pompe a huile

Carburant dans ’huile moteur

eDémonter et régler I’injecteur (voir pages 3-4,
3-5, 4-4 et 4-7). Remplacer ’huile moteur.

Jeu de lubrification excessif au palier de bielle

eSélectionner le palier de bielle adéquat (voir page
12-7).

Pression d’huile trop élevée } >

Température basse de ’huile

esEchauffer le moteur 4 la température normale de
fonctionnement et vérifier & nouveau.

Clapet de décharge défectueux

eRemplacer le clapet de décharge

Viscosité et qualité de I’huile moteur inadéquates
eRemplacer avec ’huile moteur préconisée (voir
page 3-2)

Fuite de compression au cylindre due 4 des jeux

excessifs piston a segment de piston et cylindre a

segment de piston.

eVérifier les piston et segment de piston et rem-
placer si nécessaire.

eVérifier et réparer le bloc-cylindres. Remplacer si
nécessaire.

Joint de culasse défectueux

*Remplacer le joint de culasse par un autre joint
de méme épaisseur.

2-13




HONDA

GD1100-GD1250

e CONTROLE DE PRESSION D’HUILE

1) Vérifier le niveau d’huile moteur (voir page 3-2)

2) Débrancher le fil du manocontact d’huile et enlever le monocontact
d’huile.

3) Monter I’outil spécial sur manomeétre 4 huile avec une graduation de 980.7
kpa (0—10 kg/cm?), les monter sur le moteur et les serrer au couple
spécifié.

Couple spécifié 20 N-m (2,0 kg-m)

PRECAUTION

¢ Le trou fileté de pression d’huile est conique. Ne pas trop serrer la vis,
sinon elle pourrait étre endommagée.

4) D’marrer le moteur et mesurer la pression d’huile une fois le moteur
échauffé.

Pression d’huile spécifiée

2
[2 800 min'!(tr/mn)] 392.3 kpa (4 kg/cm?) ou plus

5) Sila pression d’huile est en-dessous de la valeur spécifiée, vérifier le corps
et le rotore de pompe a huile (voir pages 11-3 et 11-4).

6) Apres le contrdle, nettoyer la portion filetée du manocontact d’huile et
appliquer du joint liquide (Three Bond 1201 1216, ou équivalent) sur les
filets. Serrer le manocontact au couple spécifié

Couple spécifié 20 N-m (2,0 kg-m)

PRECAUCION

L ¢ Serrer le manocontact d’huile avec une clef. Ne pas le serrer trop fort. ]

[11] MANOCONTACT D’HUILE

[11 ADAPTATEUR DE MONOMETRE A HUILE
N° 07406—0030000

]

{11 APPLIQUER DU
JOINT LIQUIDE

2-14




HONDA

GD1100-GD1250

h. Le moteur surchauffe

Vérifier que le faisceau du radia-

) Encrassé
teur n’est pas bouché. I :
pas encrassé

A

eNettoyer la calandre et le faisceau de radiateur

A

Veérifier le niveau de liquide de

» Niveau bas —

refroidissement.

Niveau de liquide de refroidissement

normal

eFaire I’appoint de liquide de refroidissement au
niveau spécifié (voir page 3-8).

Fuite de liquide de refroidissement du radiateur
Vérifier le radiateur, la durite de radiateur et
tous les joints et réparer ou remplacer si
nécessaire.

Y

Vérifier la courroie de ventilateur

— Condition anormale ———————p»|

L—» Condition normale

Courroie de ventilateur desserrée ou déplacée

eVérifier, réparer ou remplacer si nécessaire (voir
page 3-4)

Courroie de ventilateur coupée

eRemplacer la courroie de ventilateur.

Y

Vérifier le thermostat }——

—» Condition anormale —— ——p

L—»Condition normale

Thermostat défectueux
eRemplacer le thermostat.

Y

Joint de culasse défectueux

eRemplacer le joint par un joint de la méme
épaisseur.

Avance a I'injection défectueuse

eAjuster le joint d’étanchéité sous la pompe
d’injection de carburant (voir pages 4-9 et 4-10).

Qualité du carburant inadéquate

sUtiliser la qualité préconisée de carburant

Charge excessive au moteur

eRéduire la charge

2-15




HONDA

GD1100-GD1250

J. La bougie de préchauffage ne fonctionne pas normalement

» Fusible sauté

Vérifier si le fusible a sauté

——— Fusible normal

|
Y

sVérifier la filerie. Vérifier les bornes débranchées
ou desserrées et remplacer le fusible.

Vérifier la batterie }-——>Batterie faible

sVérifier le niveau de liquide de batteie. Faire
I’appoint de liquide au niveau supérieur et
recharger la batterie.

2-16



HONDA
GD1100-GD1250

STORUNGSBESEITIGUNG

a. Motor springt nicht an.

Zunéchst folgende Punkte (berprifen:

e Kraftstoffstand

Sicherstellen, da Kurbelwelle dreht.

_ Dreht nicht oder mit

. —_—
zu geringer Drehzahl,

——® Dreht einwandfrei

Kurbelwellen-Hauptiager, Zylinder und/oder

Pleuelstange festgefressen

+ Motor zerlegen und warten,

Falsche Viskositdt und Sorte des Motordls

- Gegen empfohlenes Motordl austauschen
(siehe Seite 3-2).

Y

Nachpriifen, daR Kraftstoff an Kraft-
stoffeinspritzpumpe gelangt.

» Keine Zufuhr >

———»Wird zugefiihrt

Kraftstoffilter zugesetzt

- Kraftstoffilter auswechseln,

Kraftstoffpumpe defekt

- Kraftstoffpumpe auswechseln,
Kraftstoffschlauch gerissen oder Verbindung lose
- Schlauch auswechseln,

'

Nachpriifen, ob Kraftstoff aus den
Diisen tritt.

—wKraftstoff tritt nicht aus,———

L—»-Kraftstoff tritt aus.

Nachpriifen, daR sich die Kompression
im vorgeschriebenen Bereich bewegt
(siehe Seite 2-8 und 2-9).

Kraftstoffrohr zugesetzt

.- Kraftstoffrohr Gberprifen und reinigen.

Kraftstoffeinspritzpumpe defekt

« Pumpe auswechseln.

Kraftstoffrohr-Befestigungsmutter lose

- Mutter auf vorgeschriebenes Anzugsmoment
anziehen,

Falsche Kraftstoffsorte

. Empfohlene Kraftstoffsorte verwenden,

Einspritzdiise defekt

- Einspritzdiise Uberprifen und einstellen (siehe
Seite 3-4, 3-5 und 4-4 bis 4-7).

Funktionsstdrung des Reglerstartsystems

- Startfeder iiberpriifen.

- Unzureichende Kompression ————gm

Kompression unzureichend
Siehe den Absatz '"Unzureichende Kompression®’
auf Seite 2-8,

——— K ompression norma| ——————-|

Kraftstofftank-Entliftungsloch verstopft

- Uberpriifen und reinigen.

Kraftstoffschlauch gerissen oder Verbindung lose

« Schlauch auswechseln,

Einspritzverstellung, Ventilsteuerzeiten oder

Ventilspiel falsch

- Dichtung unter Kraftstoffeinspritzpumpe
justieren (siehe Seite 4-9 und 4-10},

+ Nachpriifen, daf3 Einstellmarken an Steuer-
riemenscheiben fluchten (siehe Seite 7-5).

- Ventilspiel einstellen {siehe Seite 3-5 und 3-6).

Wasser im Kraftstoff

. Kraftstoff austauschen und Wasser aus
Kraftstoffsystem ablassen,

Funktionsstorung der Glilhkerze (bei Tempera-

turen unter Null)

- Gliihkerze und Glilhregeleinheit Uberpriifen
und ggf. auswechseln,

2-7




HONDA
GD1100-GD1250

b. Unzureichende Kompression

Nachprifen, ob der Luftfilter

» Zugesetzt

zugesetzt ist.

filters unverdndert.)

Nicht zugesetzt (Kompression
— bleibt nach Ausbau des Luft-

an Zylinderblock

Kompressionsverlust

Luftfilter zugesetzt

+ Luftfiltereinsatz reinigen und ggf. auswechseln
(siehe Seite 3-2 und 3-3),

+ EinlaRkanal Gberpriifen und Fremdkorper ggf.
entfernen,

an Zylinderkopf

Kompressionsverlust

\

Einspritzdise auf das falsche Anzugsmoment

angezogen

- Disendichtung iiberpriifen und ggf. auswech-
seln,

- Diise auf das vorgeschriebene Anzugsmoment
anziehen (siehe Seite 4-2).

Zylinderkopfdichtung defekt

- Dichtung auswechseln,

Kolbenring beschadigt, festgefressen oder ver-

schlissen

- Kolbenring auswechseln,

Zylinderlaufbiichse verschlissen

« Zylinder aufbohren und Kolbenringe
austauschen,

y

Falsche Ventilsitzbreite

- Sitzbreite nachbessern (siehe Seite 9-11 bis
9-13).

Ventilschub

- Ventilspiel einstellen (siehe Seite 3-5 und 3-6).

KOMPRESSIONSPRUFUNG

AWARNUNG

Funken und offene Flammen fernhalten und den Reglerhebel
auf “STOP” einstellen.

Vor dem Ausbau der Einspritzdiise den Bereich um die Diise
reinigen. Nach dem Ausbau ein Eindringen von Staub, Schmutz
und Fremdké&érpern in die Diise verhindern.

1) Die Einspritzdise ausbauen {siehe Seite 4-2), Das Kraftstoffrohr mit
einem sauberen Kunststoffbeutel umwickeln.

2) Den Kompressionsdruckpriifer-Aufsatz (Spezialwerkzeug) in die
Diisenbohrung einsetzen. Die Bundmuttern einfetten und auf das
vorgeschriebene Anzugsmoment anziehen.

Vorgeschriebenes Anzugsmoment: 10 N-m (1,0 kg-m)

3) Den Steckverbinder des Abstellmagnetschalters entfernen.

Falsche Ventilsteuerzeiten
+ Nachpriifen, daf3 Einstellmarken an Steuer-
riemenscheiben fluchten (siehe Seite 7-5).

[1] KOMPHESSIONSDRUCKPRUFEVS mm (2)

8

AUFSATZ

Nr.07JPJ—-2G30110

[21 BUNDMUTTER,




HONDA

GD1100-GD1250

4

Das Spezialwerkzeug fest am Kompressionsdruckpriifer-Aufsatz
anbringen, Den Zindschalter auf “ON’ stellen und den Kompres-
sionsdruck messen,

Zylinderkompression 26478 kPa (27,0 kg/cm?)
bei 200 min™! (U/min)

5

6

c

)} Das Spezialwerkzeug entfernen und die Kompression an den tbrigen
Zylindern anhand des gleichen Verfahrens messen,

) Nach Messen der Kompression an drei Stelien die Einspritzdiisen
wieder einbauen (siehe Seite 4-2).

. Unruhiger Leerlauf

Nachprifen, ob der Luftfilter

[1] SCHLAUCH

Nr. 07JPJ—-Z2G30120

[2] KOMPRESSIONSMESSER
Nr. 07JPJ—ZG30130

zugesetzt ist. > Zugesetzt

—— Nicht %ugesetzt

i

Sicherstellen, da Kraftstoff
einwandfrei an die Kraftstoff-
einspritzpumpe gelangt.

Y

Kontrollieren, wie der Kraft-
stoff aus der Dise spritzt.

» Normales Ausspritzen,

» Kraftstoff wird unregelmaiig zugefihrt, ——|

— Kraftstoff wird einwandfrei zugefihrt,

» UnregeimaRiges Ausspritzen, ——————p|

einwandfrei.

Luftfilter zugesetzt

- Luftfiltereinsatz reinigen und ggf. auswechsein
(siehe Seite 3-2 und 3-3).

- EinlaRkanal dberprifen und Fremdk&rper ggf.
entfernen.

Kraftstoffilter zugesetzt

- Kraftstoffilter auswechseln (siehe Seite 3-3).
Kraftstoffschlauch gerissen oder Verbindung lose
+ Schiauch auswechseln,

Kraftstoffpumpe defekt

+ Kraftstoffpumpe auswechseln,

Einspritzdiise defekt
- Einspritzduse lberpriifen und einstellen
(siehe Seite 3-4, 3-5 und 4-4 bis 4-7),

| Regler arbeitet nicht

wandfrei.

- Regler arbeitet ein-

\J

Regler defekt

- Regler auf Klemmen, Verzug und andere
Defekte untersuchen und Mangel beseitigen.

Reglerfeder falsch eingebaut

- Reglerfeder richtig einbauen,

Reglerfeder defekt

- Reglerfeder auswechseln.

\J

Falsche Kraftstoff-Einspritzverstellung

. Dichtung unter Kraftstoffeinspritzpumpe
justieren (siehe Seite 4-Q und 4-10).

Ventilsteuerzeiten und Ventilspiel falsch

- Nachprifen, daR Einstelimarken an Steuer-
riemenscheiben fluchten (siehe Seite 7-6).

- Ventilspiel einstellen (siehe 3-5 und 3-6).

Wasser im Kraftstoff

+ Kraftstoff austauschen und Wasser aus
Kraftstoffsystem ablassen,

2-9




HONDA

GD1100-GD1250

d. Weiles oder blaues Auspuffgas (auBer unmittelbar nach Kaltstart).

o UnregelmaBige Einspritzung wird durch Luft verursacht, die nach dem Auftanken in den Kraftstoffleitungen verbleibt. Heller Rauch tritt
zwar aus dem Auspuff, verschwindet aber bei niedriger Drehzahl nach ein oder zwei Minuten, bei hoher Drehzah| nach zwei bis drei Minuten.

(Bei Warmlaufen)
e Wenn der Motor mit hoher Drehzahl 1auft, ohne vorher warmgelaufen zu sein, tritt aufgrund der niedrigen Temperatur in der Verbrennungs-
kammer starker Rauch aus dem Auspuff, der verschwindet, sobald der Motor warmgelaufen ist,

{Nach Warmlaufen)

Nachpriifen, ob der Luftfilter 7 Luftfilter zugesetzt
zugesetzt ist. ugesetzt | . Luftfiltereinsatz reinigen und ggf. auswechseln
(siehe Seite 3-2 und 3-3).
Nicht zugesetzt - EinlaRkanal Uberpriifen und Fremdk&rper ggf.
| entfernen,
| ]
Kraftstoffeinspritzung iiber- U ImaRiges A . Einspritzdiise locker,
prifen, nregelmalSiges Ausspritzen ™ . Einspritzdiise auf das vorgeschriebene Anzugs-
moment anziehen (siehe Seite 4-2).
. Einspritzdise defekt
Normales Ausspritzen - Einspritzdiisen tGberprifen, reinigen und ein-
stelien oder ggf. auswechseln,
|
Nachmessen, daR sich der Zylinderkompressions unzureichend
Kompressionsdruck im vorge- Unzureichender Kompressionsdruck — .| - Siehe den Absatz ’Unzureichende Kompression”
schriebenen Bereich bewegt auf Seite 2-2,
(siehe Seite 2-8 und 2-9).
Kompressionsdruck normal — .| Wasser oder Kerosin im Kraftstoff.

- Kraftstoff vollstdndig ablassen (einschlieRlich
des Kraftstoffs im Filter) und mit dem emp-
fohlenen Kraftstoff auffiillen.

Filter zugesetzt, weil Dieselkraftstoff fir den

Sommer im Winter benutzt wurde.

- Gegen Dieselkraftstoff fiir den Winter aus-
wechselin,

Falsche Einspritzverstellung und Ventilsteuer-

zeiten

- Dichtung unter Kraftstoffeinspritzpumpe
justieren,

- Nachpriifen, daR Einstelimarken an Steuer-
riemenscheiben fluchten,

Unverbranntes Gas bieibt im Schalldédmpfer zuriick.

» Wenn Betrieb unter Dauerlast erforderlich ist,
den Schalldédmpfer auswechseln.

Anormaler Betrieb des Motors

+ Motor zerlegen und lberpriifen, reparieren oder
ggf. austauschen.

- 210



HONDA

GD1100-GD1250

e. Schwarzes oder dunkelgraues Auspuffgas.

Nachpriifen, ob der Luftfilter
zugesetzt ist.

L

Zugesetzt

Nicht zugesetzt

|

i

Nachpriifen, ob die Auspuffanlage
verstopft ist.

Luftfilter zugesetzt

- Luftfiltereinsatz reinigen und ggf. auswechseln
{siehe Seite 3-2).

- EinlaRkanal Gberprifen und Fremdkorper ggf,
entfernen.

Verstopft

Nicht verstopft

Auspuffkrimmer, Schalldampfer und Auspuff-
rohr verstopft
- Alle Teile iberprifen und ggf. auswechseln.

Uberhitzen (siehe Seite 3-6 bis 3-8).

Einspritzduse defekt

- Einspritzkanal und Dichtung tiberprifen und
ggf. auswechseln,

Einspritzverstellung, Ventilsteuerzeiten und

Ventilspiel falsch

. Nachprifen, daR Einstellmarken an Steuer-
riemenscheiben fluchten.

-+ Dichtung unter Kraftstoffeinspritzpumpe
justieren,

- Ventilspiel einstellen (siehe Seite 3-5 und
3-6).

Zylinderkompression unzureichend

. Siehe den Absatz “’Unzureichende Kompres-
sion” auf Seite 2-2.

2-11




HONDA

GD1100-GD1250

f. UbermaRig hoher Motordlverbrauch

Auspuffgas auf normate Farbe
Normal

Uberprifen,

Auspuffgas ist
weil, was auf
folgende Ursachen
zurickzufahren
sein kann:

—————

Ol Buft wegen defekter Dichtung aus.

- Aufdas vorgeschriebene Anzugsmoment
anziehen. Falls erforderlich, Dichtung
auswechseln,

Ol |3uft wegen defektem Simmerring aus.

- Simmerring auswechseln.

Ol steigt

im Zylinder. »

Kolbenringe verschlissen

- Kolbenringe auswechseln,

Zylinderfaufbiichse verschlissen

- Kolben gegen Kolben in UbergroRe auswech-
seln.

Kolben verschlissen

- Kolben auswechseln.

Oldruck zu
niedrig

Ventilschaftdichtungen defekt

- Ventilschaftdichtungen auswechseln.
Fehlende Ventilschaftdichtungen

- Ventilschaftdichtungen montieren.
Luftfilter zugesetzt

- Luftfilter reinigen (siehe Seite 3-2 und 3-3).

Anormales

L Austreten von —p
Ol aus dem
Entliftungs-

rohr

Zu viel Motordl

- Auf die vorgeschriebene Menge verringern
(siehe Seite 3-2).

Kolbenringe verschlissen

+ Kolbenringe auswechseln,

Zylinderlaufbiichse verschlissen

- Kolben gegen Kolben in UbergroRe auswech-
sein.

Kolben verschlissen

+ Kolben auswechseln,

2-12



HONDA

GD1100-GD1250

g. Schmiersystem defekt

1) Nach Anlassen des Motors leuchtet die Oldruckwarnlampe nicht auf.
- Sicherstellen, daf? Motordl bis auf den vorgeschriebenen Stand eingefiilt ist (siehe Seite 3-2).

Oldruckschalter defekt

Oldruck lberpriifen. #»Druck normal >

- Oldruckschalter auswechseln,
Draht an Masse gelegt
L - Verdrahtung tberprifen und ggf. korrigieren.

Otfilter zugesetzt
- Olfilter auswechseln.

b———»-Druck zu niedrig >

2) Anormales Austreten von Ol aus dem Entliiftungsrohr
- Sicherstellen, daR Motordl bis auf den vorgeschriebenen Stand eingefiilit ist (siehe Seite 3-2).

Schmutz im Uberdruckventil

- Uberdruckventil zerlegen und reinigen.

« Uberdruckventil ggf. auswechseln,

Uberdruckventilfeder defekt

- Uberdruckventilfeder auswechseln.

Lagerspiel des Hauptlagers zu grofR

- Richtiges Hauptlager auswéhlen (siehe Seite
12-6}.

Oldurchfiinrung (EinlaRkanalseite) verstopft

+ Durchfiihrung reinigen.

Olfilterpatrone zugesetzt.

- Olfilterpatrone auswechseln,

Falsche Viskositat und Sorte des Motordls

- Gegen vorgeschriebenes Motordl austauschen
(siehe Seite 3-2).

Olpumpe defekt

- Olpumpe auswechseln,

Kraftstoff im Motordl

- Dise zeriegen und einstellen (siehe Seite 3-4,
3-5,4-4 und 4-7), Motordl wechseln.

Lagerspiel des Pleuelstangenlagers zu grof}

- Richtiges Pleuelstangenlager auswahlen (siehe
Seite 12-7).

Oltemperatur zu niedrig

[ Oldruck zu hoch 1 » . Druck mit Motor auf Betriebstemperatur nach-

1 >

kontrollieren,

Uberdruckventil defekt

- Uberdruckventil auswechseln,

Falsche Viskositat und Sorte des Motoréls

- Gegen vorgeschriebenes Motordi austauschen
(siehe Seite 3-2).

Kompressionsveriust wegen zu grofiem Spiel

zwischen Kolben und Kolbenring sowie zwischen

Zylinder und Kolbenring

- Kolben und Kolbenringe iberprifen und ggf.
auswechseln,

+ Zylinderblock iberpriifen, reparieren und ggf.
auswechseln,

Zylinderkopfdichtung defekt

- Gegen Zylinderkopfdichtung gleicher Starke
auswechseln,

2-13



HONDA

GD1100-GD1250

1)
2)

3

OLDRUCKPRUFUNG

Den Motordistand liberpriifen (siehe Seite 3-2).

Die Zuleitung des Oldruckschalters abtrennen und den Oldruck-
schalter entfernen,

Das Spezialwerkzeug an einem Oldruckmesser mit einer Skala von
980,7 kPa {0 bis 10 kg/cm?) anbringen, an den Motor ansetzen und
auf das vorgeschriebene Anzugsmoment anziehen,

Vorgeschriebenes Anzugsmoment: 20 N'm (2,0 kg-m)

VORSICHT

Die Bohrung des Oldruckschalters besitzt ein Kegelgewinde. Die
Schraube nicht zu stark anziehen, um ein AusreiBen des Ge-
windes zu vermeiden.

4) Den Motor anlassen und den Oldruck messen, sobald der Motor

die normale Betriebstemperatur erreicht hat.

[1] OLDRUCKSCHALTER

OJ“ - {

3923 kPa (4,0 kg/cm?)
oder hdher

Vorgeschriebener Oldruck
[bei 800 min™ (U/min)]

5

6

Wenn der Oldruck unter dem Sollwert liegt, den Rotor und das
Gehause der Olpumpe tberpriifen (siehe Seite 11-3 und 11-4).

Nach der obigen Priifung das Gewinde des Oldruckschalters reinigen
und flissiges Dichtmittel (THREE BOND 1201, 1216 oder gleich-
wertiges) auftragen. Danach den Oldruckschalter auf das vorge-
schriebene Anzugsmoment anziehen.

Vorgeschriebenes Anzugsmoment: 20 N-m (2,0 kg-m})

VORSICHT

[11 OLDRUCKMESSER-AUFSATZ
Nr. 07406—0030000

Zum Anziehen des Oldruckschalters einen Drehmomentschliissel
verwenden und iibermaRiges Anziehen vermeiden.

[11 FLUSSIGES
DICHTMITTEL
AUFTRAGEN

2-14



HONDA

GD1100-GD1250

h. Motoriiberhitzt.

Nachpriifen, ob der Kihlerblock
verstopft ist.

Verstopft

L

Nicht vtirstopft

4

KihImittelstand kontrotlieren,

- Klhiersieb und Kihlerblock reinigen.

Stand zu niedrig

Kuhlmi}telstand einwandfrei

/

Gebléseriemen Uberpriifen.

- KihImittel bis auf den vorgeschriebenen Stand
einfiillen (siehe Seite 3-8).

Kahimittel lduft aus.

- Kihler, Kiihlwasserschiauch und alle Dichtungen
Uberprifen und ggf, reparieren oder auswechseln,

Anormaler Zustand

Normaler Zustand

4

Thermostat Uiberpriifen.

Geblaseriemen lose oder abgesprungen

- Uberpriifen und ggf. reparieren oder auswechseln
(siehe Seite 3-4).

Geblaseriemen gerissen

- Gebléseriemen auswechseln,

Anormaler Zustand

— | |-

Thermostat defekt
- Thermostat auswechseln.

Normaler Zustand

Zylinderkopfdichtung defekt

- Gegen Zylinderkopfdichtung gleicher Starke
auswechseln,

Einspritzverstellung falsch

+ Dichtung unter Kraftstoffeinspritzpumpe
justieren (siehe Seite 4-9 und 4-10).

Falsche Kraftstoffsorte

+ Vorgeschriebene Kraftstoffsorte verwenden.

Motorlast zu hoch

- Last verringern,

2-15




HONDA
GD1100-GD1250

j. Gliihkerze arbeitet nicht einwandfrei.

- Auf einwandfreie Verdrahtung kontroilieren,
- Sicherung durchgebrannt————————  Auf abgetrennte oder lose Kiemme lberpriifen
und die Sicherung auswechsein,

Auf durchgebrannte Sicherung
kontrotlieren,

—->‘Sicheru ng nicht durchgebrannt

Y

Batterie Uberpriifen. ——————— Batterie entladen >

- Den Stand der Batteriefiiissigkeit kontrollieren.
Batteriefliissigkeit bis auf die obere Pegelmarke
nachfiilien und die Batterie aufladen,

2-16




HONDA
GD1100-GD1250

LOCALIZACION DE AVERIAS

a. No arranca el motor

Compruebe lo siguiente antes de proceder a la localizacién de averias.

e Nivel de combustible

Asegurese de que gira el eje

manivela

*No gira o gira lentamente —————®

—— Gira

\i
Aseglrese de que el combustible
se estd suministrando a la bomba

de inyeccion

»No se suministra

L—-Se suministra

\

Asegurese de que el combusteble
sale a chorro (Vea las péginas 3-4

y 3-5.)

combustible

———Sale achorro el
combustible

]

Y
Aseglrese de que la compresién
del cilindro estd dentro de la es-

-» Compresion del

pecificacién. (Vea las paginas 2-8
y 2-9.)

cilindro baja

Compresion del
cilindro normal

Cojinete principal del cigiiefal, cilindro y/o biela

agarrotado

*Desensamble el motor para servicio.

Viscosidad y calidad de aceite de motor incorrecta

sCambie el aceite de motor por el recomendado
(Vea la pdgina 3-2.)

\J

»No sale a chorro ¢l ——m

Filtro de combustible obstruido

eCambie el filtro de combustible (Vea la pagina
3-3)

Bomba de combustible defectuosa

eCambie la bomba de combustible.

Tubo de combustible dafiado o juntura floja

eCambie el tubo.

Tubo de combustible obstruide

*|nspeccione y limpie el tubo de combustible.

Bomba de inyeccién de combustible averiadas

eCambie la bomba.

Tuerca de montaje del tubo de combustible floja.

eApriete al par torsor especificado.

Calidad de combustible impropio

eUtilice el combustible de la calidad
recomendada.

Boquilla de inyeccion estropeada

eCompruebe y ajuste la boquilla de inyeccion.
(Vea las péginas 3-4, 3-5 y de 4-4 a 4-7.)

Operacion defectuosa del sistema activador del

regulador

eCompruebe el muelle activador.

Compresion insuficiente
*Vea el item “Compresion insuficiente’”
(pagina 2-8).

\

Respiradero del tanque de combustible obstruido

eInspeccione y limpie.

Tubo de combustible dafado o junta floja

eCambie el tubo.

Sincronizacion de inyeccion de combustible

Sincronizacion de valvula y tolerancia de vélvula

incorrectas.

sAjuste la empaquetadura debajo de la bomba de
inyeccién de combustible. (Vea las paginas 4-9 y
4-10))

eCompruebe las marcas de sincronizacion en las
poleas de la correa de sincronizacién y alineelas.
(Vea la pagina 7-5.)

eAjuste la tolerancia de la vélvula. (Vea las pagi-
nas 3-5 y 3-6.)

Agua en el tanque de combustible

eCambie el combustible y drene el agua del siste-
ma de combustible.

Maifuncionamiento del tapén encendedor (a una

temperatura de 0°C menos)

eCompruebe el tapon encendor y la unidad de
control de encendido y cambie si es necessaro.




HONDA

GD1100-GD1250

b. Compresion del cilindro insuficiente

Filtro de aire obstruido

eLimpie el elemento del filtro. Cambielo si es ne-
cesario. (Vea las paginas 3-2 y 3-3.)

eCompruebe y elimine las materias extraias del

Compruebe el filtro de aire para
ver si esta obstruido

» Estd obstruido

A

No estd obstruido orificio de admision.
——(la compresion del cilindro no cam-
bia extrayendo el filtro de aire.) Boquilla de inyeccién apretada incorrectamente

*Compruebe la empaquetadura de la boquilla y
cambiela si es necesario.

eApriete la boquilla al par torsor especificado.
(Vea la pagina 4-2.)

Empaquetadura de la culata de cilindro defectuosa

eCambie la empaquetadura.

El anillo del émbolo dafiado desgastado o

agarrotado

Fuga de compresién por

> ol bl de cilind ——=| #Cambie el anillo del émbolo.
el bloque de cilindros Manguito del cilindro desgastado
*Reperfore el cilindro y cambie los anillos de
émbolo.
Anchura de asiento de vélvula incorrecta
Fuga de compresién por *Corrija la anchura del asiento. (Vea las paginas
. re > 9.11a9-13)
la culata del cilindro .
Empuje de valvula

sAjuste la tolerancia de la valvula. {(Vea las pagi-
nas 3-5 y 3-6.)

Sincronizacién de vélvula incorrecta

eCompruebe las marcas de sincronizacion en las
poleas de la correa de sincronizacion y alinéelas.
(Vea la pagina 7-5.)

PRUEBA DE COMPRESION DE CILINDRO

¢ Aleje del combustible tido tipo de llamas chispas y cigarrillos encen-

didos. Posicione en “STOP” la palanca de control de velocidad. S TOOL .
¢ Limpie el 4rea circundante de la boquilla y livese bien las manos an- [1] ACCESORIO DEL (2] TUERCA DE LA
tes de extraer la boquilla de inyeccién. Después de extraida tenga cuida- MANOMETRO /BRIDA DE 6 mm (2)

do en que no entre polvo suciedad ni nunguna otra materia extrana

en la boquilla. DE COMPRESION

NO. 07)JPJ-SG30110

1) Extraiga la boquilla de inyeccion. (Vea la pagina 4-2.) Cubra el tubo de
combustible con una bolsa nueva de plastico.

2) Instale el accesorio del mandémetro (herramienta especial) en el agujero
de la boquilla y apriete las dos tuercas de brida de 6 mm. antes de apre-
tar las tuercas engrase la seccion de la brida de las tuercas y apriételas
al par torsor suficiente.

i

AN
O

Par torsor especificado: 10 N-m (0,1 kg-m)

3) Extraiga el conector del solenoide del retentor.

2-8



HONDA
GD1100-GD1250

L2

Instale con seguridad la herramienta especial en el accesorio del mané-
metro de compresién. Posicione en “ON"" el interruptor de ignici6n y
mida la compresioén del cilindro.

2647,8 kpa (27 kg/cm?)
a 200 min” (rpm)

Compresién del
cilindro

Extraiga la herramienta especial y mida la compresién del cilindro en los
otros cilindros siguiendo el mismo procedimiento.

Después de medir la compresién del cilindro en tres posiciones vuelva
a instalar las boquillas de inyeccidn. (Vea la pagina 4-2.)

. El motor funciona en ralenti irreguralarmente

Compruebe el filtro de aire para

[1] CONJUNTO DE MANGUERA
No. 07)PJ)-ZG30120

[2] CONJUNTO DE MEDIDOR
No. 07]P)-ZG30130

Filtro de aire obstruido
eLimpie el elemento del filtro de aire. Cambielo si

# Estd obstruido

ver si estd obstruido.

— No esta obstruido

Y

Aseglrese de que se estd sumi-
nistrando combustible a la bomba
de inyeccion adecuadamente,

irregularemente

adecuadamente.

l

Compruebe el combustible para
ver si estd correcta la inyeccién
del mismo

achorro irregularmente.

»-El combustible sale

- Se suministra combustible —————

—— Se suminisitra combustible

»F| combustible sale » | Boquilla de inyeccién de combustible defectuosa

a chorro adecuadamente.

\J

es necesario. (Vea las paginas 3-2 y 3-3.)
sCompruebe si hay materias extramas por el orifi-
cio de admision y eliminelas.

Filtro de combustible obstruido

eCambie el filtro de combustible. (Vea la pagina
3-3)

Tubo del combustible dafado o junta floja

e*Cambie el tubo.

Malfuncionamiento de la bomba de combustible

e*Cambie la bomba de combustible.

eCompruebe y ajuste la boquilla de inyeccion.
(Vea las paginas 3-4, 3-5y 4-4 a 4-7.)

Regulador defectuoso

*Compruebe el regulador para ver si estd doblado
distorsionado o si tiene algun otro defecto y repé-
relo si es necesario.

defectuosa

»| Operacion del regulador

Muelle del regulador ajustado inpropiamente
——| eInstale adecuadamente el muelle del regulador.
Muelle del regulador defectuoso

eCambie el muelle del regulador.

Sincronizacién de inyeccién de combustible

correctamente.

o | El relgulador funciona

incorrecta
I | *Ajuste l[a empaguetadura debajo de la bomba de
inyeccién. (Vea las paginas 4-9 y 4-10.)

Sincronizacién de la valvula y tolerancia de la val-

vula incorrectas

eCompruebe las marcas de sincronizacion en las
poleas de correa de sincronizacién para ver si es-
tan alineadas. (Vea la pagina 7-5.)

eAjuste la tolerancia de la vélvula. (Vea las pagi-
nas 3-5 y 3-6.)

Agua en el combustible

eCambie el combustible y drene el agua del siste-
ma de combustible.




HONDA

GD1100-GD1250

d. Los gases de escape son de color blanco o azulado (Excepto inmediatamente después de arrancar en frio).

® La inyeccidn irregular estd causada por el aire que queda en las lineas de combustible después de repostar. Aunque se den humos de color
claro desapareceran después de uno o dos minutos a poca velocidad y dos o tres minutos a alta velocidad.

(Durante el calentamiento)

e Si el motor se pone en funcionamiento a alta velocidad cuando no se ha calentado, se dan humos pesados debido a la baja temperatura en la
camara de combustién, desaparecerd después del calentamiento.

(Después del calentamiento)

¢Estd atascado el depurador

#» Atascado >

de aire?

— Sin atascar

Depurador de aire atascado

+ Inspeccione el elemento y cambie si fuera
necesario (pdg. 3-2 y 3-3).

- Compruebe el orificio de entrada y quite la
materias extrafias,

Y

Compruebe la inyeccién de

» Inyeccibén irregular

combustible

L—»- [nyeccidon normal

|

_ | Tobera de inyeccion floja:
“| - Apriete la tobera al par correcto {pdg. 4-2)

Defectos en la tobera de inyeccién
- Inspeccione, limpie y reajuste las toberas y
cambie con una nueva si fuera necesario,

Y

Compruebe si la presion de
compresion estd dentro de los

» Presion de compresion baja ———————p»

valores especificados midiendo
la presién (pdg. 2-8 y 2-9).

Insuficiente compresion en el cilindro
« Vea la seccién “Insudiciente compresion en
el cilindro” (pig. 2-2).

L— Presién de compresién normal —m—— .|

Combustible mezclado con agua o keroseno.

- Drene completamente el combustible
{(incluyendo en que hay en el filtro) y alimente
el combustible recomendado.

El atasco del filtro estd causado por el uso de

diesel para estacidn estival durante el invierno.

- Cambie por diesel para invierno.

Mala regulacién de inyeccidén y sincronizacién de

vélvulas

+ Reajuste la junta debajo de la bomba de com-
bustible

- Compruebe si las marcas de regulacién de la
polea de distribucién coinciden.

Quedan gases sin quemar en el silenciador

- Si se necesita circular continuamente por fa
carretera, cambie por un silenciador nuevo.

Funcionamiento anormal del motor

- Desarme e inspeccione el motor y repare o
cambie si fuera necesario,

2-10




HONDA
GD1100-GD1250

e. Los gases de escape son de color negro o gris oscuro

{Estd atascado el depurador
de aire?

» Atascado

L Sin atascar

Y

i Estd atascado el sistema
de escape?

Depurador de aire atascado

+ Compruebe el elemento y cambielo si fuera
necesario (pag. 3-2)

- Compruebe el orificio de entrada y elimine las
materias extrafas.

» Atascado

L—— Sin atascar

Estdn atascados el silenciador del nlltiple de

escape y el tubo de escape

« Compruebe las piezas y cambie si fuera
necesario.

Sobrecalentamiento (pdg. 3-6 a 3-8)

Defectos en la boquilla de inyeccién

- Compruebe la lumbrera de inyeccion y la junta,
y cambie si es necesario,

Mala regulacion de inyeccién, sincronizacién de

valvulas y holgura de vdlvulas

- Compruebe si las marcas de regulacidn de la
polea de la correa de distribucidn coinciden.

- Reajuste la junta debajo de la bomba de inyec-
cién de combustible,

- Reajuste la holgura de vdlvulas (pag. 3-5y 3-6).

Insuficiente compresién en el cilindro

+ Vea la seccion “Insuficiente compresion en el
cilindro” (pag. 2-2).

2-11



HONDA

GD1100-GD1250

f.  Se consume una gran cantidad de aceite de motor

{Tienen los gases de

» Normal

escape un color normal?

Los gases de
escape parecen
La- de color blanco
y se notan los
siguientes
sintomas:

> Apriete al par correcto. Cambie la empaqueta-

Fugas de aceite debido a defectos en la junta.

dura si fuera necesario.
Fugas de aceite debido a defectos en la junta
de aceite.
- Cambie la junta de aceite

Subida de
—» aceite en e| —————p|
cilindro

Abrasién de segmentos

+ Cambie el segmento

Abrasién del manguito del cilindro

+ Cambie por un piston de tamafio superior
Abrasidn del piston

« Cambie el pistdn.

Presidn de
aceite baja

Defectos en la junta del vistago de la vilvula

« Cambie la junta del vastago de la vilvula

No estd instalada [a junta del vdstago de la védlvula

- Instale la junta del vdstago de la valvula

Depurador de aire atascado

- Compruebe el depurador de aire (pag. 3-2 y
3-3).

Salida anormal

de aire por el
tubo de
respiracion

Se alimenta demasiado aceite de motor.

- Reduzca la capacidad de aceite a la cantidad
especificada (pédg. 3-2).

Abrasién de segmentos

- Cambie el segmento

Abrasién del manguito del cilindro

- Cambie por un pistén de tamafo superior

Abrasidn del pistén

- Cambie el pistdn




HONDA

GD1100-GD1250

g. Sistema de lubricacion defectuoso

1) No se apaga la lampara indicadora de aviso de aceite después de poner en marcha el motor.

* Aseglrese de que el aceite de motor esta hasta el nivel especificado. (Vea la pagina 3-2.)

Compruebe la presion de aceite.

»Presién normal

—»Presion baja

Funciona mal el interruptor de presién de aceite

eCambie el interruptor de presién de aceite.

Hilo conectado a tierra.

eCompruebe el cableado y cambielo si es
necesario.

2) Descarga de aceite anormal por el tubo repiradero.

* Aseglrese de que el aceite de motor estd hasta el nivel especificado. (Vea la pagina 3-2.)

Presion de aceite demasiado alta

Filtro de aceite obstruido

eCambie el filtro de aceite.

Suciedad en la valvula de alivio

eDesensamble y limpie la valvula de alivio

eCambie la valvula de alivio si es necesario.

Resorte de la valvula de alivio defectuoso

eCambie el resorte de la valvula de alivio.

Excesiva tolerancia del aceite del cojinete principal

eSeleccione el cojinete principal apropiado. (Vea
la pagina 12-6.)

Paso del aceite obstruido (lado del orificio de

admision)

eLimpie el paso del aceite.

Cartucho del filtro de aceite obstruido

*Cambie el cartucho del filtro de aceite.

Viscosidad y calidad del aceite de motor

impropias.

*Cambie el aceite por el aceite de motor recomen-
dado (Vea la pagina 3-2.)

Malfuncionamiento de la bomba de aceite

eCambie la bomba de aceite.

Combustible en el aceite de motor

eDesensamble y ajuste la boquilla. (Vea las pagi-
nas 3-4, 3-5, 4-4 y 4-7). Cambie el aceite de
motor.

Excesiva tolerancia en el aceite del cojinete de la

biela

eSeleccione el cojinete adecuado de la biela. (Vea
la pagina 12-7.)

J

\i

Temperatura del aceite baja

*Caliente el motor hasta la temperatura de opera-
cién normal y vuelva a comprobar.

Vélvula de alivio defectuosa

eCambie la valvula de alivio.

Viscosidad y calidad de aceite de motor

impropias.

eCambie el aceite de motor por otro recomenda-
do. (Vea la pagina 3-2.)

Fuga de compresion de cilindro debido a toleran-

cias excesivas de anillo de émbolo a émbolo y de

cilindro a anillo de émbolo.

eCompruebe los anillos de émbolo a émbolo y
cambie si es necesario.

*Compruebe y repare el bloque de cilindros. Cam-
bielo si es necesario.

Empaquetadura de la culada de cilindro defectuosa

eCambie la empaquetadura de la culata de ci-
lindro por otra del mismo grosor.

2-13




HONDA

GD1100-GD1250

*INSPECCION DE LA PRESION DE ACEITE

1) Cmpruebe el nivel del aceite de motor. (Vea la pagina 3-2.)

2) Desconecte el conductor del interruptor de presién de aceite y extraiga
el conmutador de presion de aceite.

3) Instale la herramienta especial en el man6émetro de presién de aceite te-
niendo una escala de 980.7 kpa (0—10 kg/cm? 142,2 psi), apliquela al
motor y apriétela al par torsor especificado.

Par torsor especificado: 20 N-m (2,0 kg-m)

PRECAUCION

* El agujero roscado para la presion de aceite es ahusado. No apriete
demasiado el tornillo pues se podria dafar.

4) Ponga en marcha el motor y mida la presién de aceite después de calen-
tado el motor.

[11 CONMUTADOR DE PRESION DE ACEITE

Presion especificada de 392,3 kpa (4 kg/em?) o mas.

aceite (a 800 min”'(rpm))

5) Si la presién de aceite est4 por debajo de la especificacién compruebe
el rotor y el cuerpo de la bomba de aceite. (Vea las paginas 11-3 y 11-4.)

6) Después de la inspeccién limpie la porcion roscada del conmutador de
presion y aplique empaquetadura de liquidos (Three Bond 1201 1216,
o equivalente a las roscas. Apriete el conmutador de presién de aceite
al par torsor especificado.

Par torsor especificado: 20 N-m (2,0 kg-m)

PRECAUCION

* Apriete el conmutador de presion de aceite con una llave de tuercas.
No apriete demasiado el conmutador.

— (1] ADAPTADOR DE MANOMETRO DE
PRESION DE ACEITE
No. 07406-0030000

[11 APLIQUE FLUIDO DE
EMPAQUETADURA

2-14



HONDA
GD1100-GD1250

h. Recalentamiento del motor.

Compruebe el niacleo del ra-
diador para ver si estd obstruido.

» Esta obstruido

L— No esta obstruido

Compruebe el nivel de enfriante
del radiador.

sLimpie la malla del radiador y el ndcleo del
radiador.

»Estd bajo el nivel

No esta bajo el nivel
de enfriante

\J

Compruebe la correa del
ventilador

Y

sl lene enfriante de radiador hasta el nivel especifi-
cado. (Vea la pagina 3-8.)

Hay fugas de enfriante de radiador

sCompruebe el radiador la manguera del radiador
y cada empaquetadura y repare o cambie si es
necesario.

—» Condicién anormal

L— Condicién normal

Y

Compruebe el termostado

Correa del ventilador dislocada o floja

eCompruebe repare y cambie si es necesario. (Vea
la pagina 3-4.)

Correa del ventilador cortada

eCambie la correa del ventilador.

l————-> Condicién anormal

L Condiciéon normal

Funciona mal el termostato
eCambie el termostato.

y

Junta de culata defectuosa

eCambie la empaquetadura por otra del mismo
grosor.

Sincronizacidn de inyeccién de combustible

incorrecta

eAjuste la empaquetadura bedajo de la bomba de
inyeccién de combustible. (Vea las paginas 4-9 a
4-10.)

Grado de combustible impropio

eUtilice grado de combustible apropiado.

Carga del motor excesiva

eReduzca la carga del motor.

2-15




HONDA

GD1100-GD1250

j. El tapon encendedor no funciona adecuadamente.

Compruebe el fusible para ver
si estd quemado

—E| fusible estd quemado —————»

—» E| fusible no estd quemado

\

Compruebe la bateria

}-——»Baten’a débil -

*Compruebe el cableado para ver si estd correcto.
Compruebe y vea si el terminal estd desconecta-
do o flojo y cambie el fusible.

*Compruebe el nivel de fluido de la bateria. Afa-
da fluido de bateria hasta el nivel superior y car-
gue la baterfa.

2-16



HONDA

GD1100-GD1250

MAINTENANCE SCHEDULE

REGULAR SERVICE PERIOD EVERY EVERY EVERY EVERY EVERY
ITEM  Perform at every indicated Ejé:: ZT.')IRI-lSF.(rS 3 M%ﬁTHS 6 MggTHS 200 HRS YSQR 2 YSQRS 3 YSQRS REMARKS
month or operating hour
interval, whichever comes first. 50 HRS 100 HRS 300 HRS 500 HRS | 1000 HRS
Engine oil Check O
Change e} O
Engine oil filter Change @] Every other
oit change
Fuel filter Check O Water drain
Change le]
Radiator coolant Check O
Change Every 2 years
Radiator screen Clean (@]
Air cleaner Check-clean (o]
Change (e}
Fan belt Check (e}
Injection nozzle Check O
Fuel tank Clean O
Fuel line Check o
(Replace if necessary)
Combustion chamber, valves Clean-Lap e}
and piston rings
Valve clearance Check- o
Adjust
All fasteners (for tightness):  Check- o Without special
Fuel system etc. Retighten cylinder head bolts

NOTE 1: When the air cleaner is used in dusty areas, clean it every 10 hours or every time the generator is used.
NOTE 2: Replace the oil filter every other time when the engine oil is replaced.
NOTE 3: Except for the cylinder head bolt (special bolt).

2-17



HONDA

GD1100-GD1250

PROGRAMME D’ENTRETIEN

Fréquence d’entretien Tous les 3 Tous les 6 Tous les ans [Tous les 2 ans[Tous les 3 ans
Trem Entreteni intervall A moi A chaque | Les 20 pre- mois ou les 50mois ou toutes 200 heures | ou toutes les | ou toutes les pu toutes les 1 Observations
em ELrelenlr aux Itervates Communiques en mois ou en utilisation |micres heures| heures  |les 100 heures 300 heures | 500 heures | 000 heures
heures de fonctionnement selon le cas qui se présnte en
premier.
Huile moteur Vérifier O
Changer O O
Filtre b"huil moteur Changer O A tous les autres
changements d’huile
Filtre & carburant Vérifier ¢} Changer
Vidange d’eau )
Liquide de refroidissement du radiateur Vérifier O
Changer Tous les deux
ans
Calandre de radiateur Nettoyer O
Filtre a air Virage-Nettoyer O
Changer O
Courroie de ventilateur Vérifier O
Injecteur Vérifier O
Réservoir & carburant Nettoyer 0]
Canalisation de carburant Vérifier O
(Remplacer si
nécessaire)
Chambre de combusion, Nettoyer-roder O
soupapes et segments de pistons
Jeu aux soupapes Vérifier-ajuster O
Toutes les fixations (pour le serrage):
Systéme de carburant, etc. Vérifier-resserrer O Sans boulons spé-
claux de culasse

NOTE 1: Quand le filtre & air est utilisé dans des endroits poussiéreux, le nettoyer toutes les 10 heures ou chaque fois que la machine est utilisée.
NOTE 2: Remplacer le filtre & huile toutes les autres fois que I'huile est remplacée.
NOTE 3: Sauf les boulons de culasse (boulons spéciaux)

2-17



HONDA
GD1100-GD1250

WARTUNGSPLAN
HAUFIGKEIT BEl NACH | ALLE3 | ALLE® PINMAL | ALLE2 | ALLE3
GEGENSTAND JEDEM DEN MONATE | MONATE ALLE ODER JAHRE JAHRE Bemerkungen
20 o fqefihrten Monats. oder Betriebs BETRIER | ERSTEN ODER ODER 200 STD. ALLE ODER ODER
Jedem auigeitinrten Monats- oder Betriebs- 20STD 60STD. | 100STD. 500 STD. |1000STD.
stunden-Intervall ausfihren, welches immer . 300STD.
zuerst eintritt.
Motordi Uberpriifen o
Wechseln o] O
Motordlfilter Auswechseln [e] Bei jedem
! zweiten Ol-
wechsel
Kraftstoffilter Uberpriifen ' (o] Wasser ablassen
Auswechseln fe]
Kihimittel Uberpriifen o
Wechsein Alle 2 Jahre
Kihlersieb Reinigen o
Luftfilter Uberpriifen-Reinigen [e)
Auswechseln [e]
Geblédseriemen Uberprifen e}
Einspritzdiise Uberpriifen o
Kraftstofftank Reinigen [e]
Kraftstoffieitung Uberprifen e]
(ggf. auswechseln)
Verbrennungskammer, Reinigen-Ventile (e}
Ventile und Kolbenringe tappen
Ventilspiel Uberpriifen-Ein- o
stellen
Alle Befestigungsteile (auf festen Sitz): o] Auler Spezial-
Kraftstoffsystem usw.) Uberpriifen-Nach- Zylinderkopf-
ziehen schrauben

ZUR BEACHTUNG 1: Bei Betrieb in staubiger Umgebung den Luftfilter alle 10 Betriebsstunden oder nach jedem Betrieb reinigen.
ZUR BEACHTUNG 2: Den Olfilter bei jedem zweiten Olwechsel auswechseln,
ZUR BEACHTUNG 3: Mit Ausnahme der Zylinderkopfschraube (Spezialschraube)

2-17



HONDA

GD1100-GD1250

PROGRAMA DE MANTENIMIENTO

PERIODO DE SERVICIO REGULAR CADA vEz | VAS PRIME- | CADA TRES | CADA SElS CADA ANO | CADA DOS | CADA TRES
ITEM. Ejecute el mantenimiento cada mes indicado u horas QUE SE USA RAS20 | MESES O 50| MESES O | 200 HORAS 0 ANOS O ANOSO | OBSERVACIONES
- . HORAS HORAS 100 HORAS 300 HORAS | 500 HORAS |1000 HORAS
de operacién lo que antes ocurra

Aceite de motor Comprobar O
Cambiar o] 6]

Filtro de aceite de motor Comprobar O Un cambio sin otro

Filtro de combustible Comprobar O Drenar el agua
Cambiar O

Enfriante del radiador Comprobar C
Cambiar Cada 2 afios

Malla del radiador Limpiar C

Filtro de aite Comprobar-limpiar C
Cambiar 0

Correa del ventilador Comprobar C

Boquilla de inyeccion Comprobar (@]

Tanque de combustible Limpiar [¢]

Tuberia de combustible Comprobar e}
Cambiar si es necesario

Cémara de combustible val- Limpiar-recubrir @]

vulas y anillos de émbolo

Tolerancia de vélvula Compraobar-ajustar O

Todos los sujetadores (para ver si estan bien apretados): Sistema C Sin permos de

de combustible, etc. Comprobar-reapretar culata de cilindro

especiales

NOTA 1: Cuando se usa el depurador de aire en zonas polvorosas, limpie cada 10 horas o cada vez que se use el generador.
NOTA 2: Cambie el filtro de aceite cada dos cambios del aceite del motor.
NOTA 3: Excepto para el perno de culata (perno especial).

2-17



NOTE




HONDA

GD1100-GD1250

ENGINE OIL

1) Warm up the engine. Remove the 14 mm drain plug and the
oil filler cap and drain the oil.

2) When the oil is completely drained, torque the 14 mm drain
plug as specified and fill with new engine oil through the oil
filler cap hole.

Specified torque: 45 N-m (4.5 kg-m, 32.54 ft-lb)

[1] OIL FILLER

[2] 14 mm DRAIN PLUG

Recommended SAE 10 W—230 diesel oil certified to
engine oil meet or US automobile manufac-
turer’s requirements for APl Service
Classification CC or CD (Diesel oils in-
tended for Service CC or CD will
show this designation on the con-
tainer}. SAE 10 W—30 is recom-
mended for general, all temperature
use. Select the appropriate viscosity
for the average temperature in your
area.

Engine oil | GD1100
capacity SH1 type: 2.9 f (3.07 US gt, 2.55 Imp. qt)
SH2/SH3 types:

4.8¢ (5.07 US qt, 4.22 Imp. qt)
GD1250
SH1 type: 2.9 ¢ (3.07 US qgt, 2.55 Imp. qt)
SH2/SH3 types:

4.8 ¢ (5.07 US qt, 4.22 Imp. gt}

CAUTION

« Do not fill engine oil in excess of specified amount.
+ Check engine oil with the engine positioned horizontally.

3) After filling with engine oil, remove the dipstick and check
the oil level. Wipe the dipstick with a clean cloth and insert
into oil tank. Remove the dipstick again. When the engine
oil level is below or near the lower level mark, fill with the
specified oil until level is between the upper and lower
marks.

AIR CLEANER

1) Unfasten the two clips on both sides of the air cleaner case
cover and remove the cover.

2) Remove the wing bolt, then remove the element from the
air cleaner case.

SAE [TOW

30 |

C30)

10_W:'3('J H

-20-10 0 10 20 30 40°C

i ] | ! i

0 20 40 60 80 100°F

[1] Ambient
temperature

(1] DIPSTICK

MARK
[3] LOWER
MARK

[2] WING BOLT

[
AIR CLEANER
CASE COVER

[3] ELEMENT
[4] CLIP




HONDA

GD1100-GD1250

HUILE MOTEUR

1) Echauffer le moteur. Déposer le bouchon de
vidange de 14 mm et le bouchon de remplis-
sage d’huile, puis vidanger I’huile.

2) Quand I’huile est complétement vidangée,
serrer le bouchon de vidange de 14 mm au
couple spécifié et remplir par le trou de bou-
chon de remplissage avec de 1’huile moteur
neuve.

Couple spécifié: 45 N-m (4,5 kg-m)
[11 BOUCHON DE REMPLISSAGE
D’HUILE
[2] BOUCHON DE VIDANGE 14 mm
Huile moteur| L’huile diesel SAE10W-30
préconisée certifiée ou les exigences des
constructeurs automobiles
américains pour la classifica-
tion de service API CC ou
CD (I’usage des huiles diesel
destinées au service CC ou au
service CD est mentionné sur
le bidon). La SAE10W-30 est
recommandée en général
pour toutes les températures.
Sélectionner la viscosité
appropriée pour la tempéra-
ture moyenne de sa région.
Capacité GD1100
d’huile Type SH1: 2,9 ¢
moteur Type SH2/SH3: 4,8 ¢
GD 1250
Type SHI: 2,9 £
Type SH2/SH3: 4,8 2
[11 Temperatue ambiante

PRECAUTION

Ne pas remplir d’huile moteur au-dela du
niveau spécifié

Vérifier le nivean d’huile moteur quand le
moteur est a ’horizontale.

3

i
121
(31

Apres avoir fait ’appoint d’huile moteur,
enlever la jauge et vérifier le niveau d’huile.
Essuyer la jauge avec un chiffon propre et
I’insérer a nouveau dans le réservoir d’huile.
Enlever la jauge a nouveau. Quand le niveau
d’huile moteur se trouve en dessous ou prés
du repeére de niveau inférieur, faire I’appoint
avec I'huile préconisée jusqu’a ce que son
niveau se trouve entre les deux repéres, infé-
rieur et supérieur.

JAUGE

REPERE SUPERIEUR

REPERE INFERIEUR

FILTRE A AIR

1

2)
(1]
(21

[31
41

Détacher les deux agrafes sur les deux cotés
du filtre a air du couvercle de carter du fil-
tre a air et enlever le couvercle
Déposer les boulons a oreilles, puis déposer
I’élément du carter de filtre a air.
COUVERCLE DE CARTER DE FILTRE
A AIR
BOULONS A OREILLES
ELEMENT
AGRAFE

MOTOROL

1

2

[1]

) Den Motor warmlaufen lassen, Die 14-mm-
AblaRschraube herausdrehen, den Olein-
flllstutzendeckel abschrauben und das
Motordi ablassen.

Nach vollstdndigem Ablassen des Ols die
14-mm-AblaRschraube auf das vorge-
schriebene Anzugsmoment anziehen und
frisches Motordl durch das Loch im Olein-
flllstutzendeckel einfiillen,

Vorgeschriebenes Anzugsmoment:
45 N-m (4,5 kg-m)
OLEINFULLSTUTZENDECKEL

[21 ABLASS-SCHRAUBE, 14 mm

SAE 10W-30 Dieseldl, API-
Service-Klasse CC oder CD (die
Kennzeichnung der Eigung fiir
Service-Klasse CC oder CD ist
auf dem Behalter angegeben).
SAE 10W-30 wird fiir allge-
meinen Betrieb bei allen Tem-
peraturen empfohlen, Die
richtige Viskositat je nach
Durchschnittstemperatur im
Einsatzgebiet auswahlen,

Emp-
fohlenes
Motordl

GD1100

Typ SH1: 29 Liter

Typ SH2/SH3: 4,8 Liter
GD1250

Typ SH1: 29 Liter

Motordl-
fillmenge

Typ SH2/SH3: 4,8 Liter

[11 Umgebungstemperatur
VORSICHT

Nur die vorgeschriebene Menge Motor-
ol einfillen.

Den Motordlstand bei waagerechtem
Motor kontrollieren,

3

) Nach dem Auffiillen mit Motordl den Ol-
meRstab entfernen und den Olstand kon-
trollieren. Den OlmeRstab mit einem
sauberen Lappen abwischen und wieder in
den Olbehilter einsetzen. Danach den Ol-
mefdstab erneut entfernen, Falls der Stand
under oder in der Nahe der unteren Pegel-
marke liegt, das vorgeschriebene Motordl
bis auf einen Stand zwischen der unteren
und der oberen Pegelmarke nachflllen,

[11 OLMESS-STAB
(2] OBERE PEGELMARKE

(3]

UNTERE PEGELMARKE

LUFTFILTER

1

2

1]
[2]

) Die zwei Klammern auf beiden Seiten des
Luftfiltergehdusedeckels l6sen und den
Deckel abnehmen.

) Die Fligelschraube abschrauben und den
Einsatz aus dem Luftfiltergehduse ziehen.

LUFTFILTERGEHAUSEDECKEL
FLUGELSCHRAUBE

[3] EINSATZ
[4] KLAMMER

ACEITE DE MOTOR

1)

2)

(1]
(2]

Caliente el motor. Extraiga el tapon de dre-
naje y la tapa del filtro de aceite y drene el
aceite.
Cuando haya drenado completamente el
aceite apriete el tapon de drenaje de 14 mm
como se especifica y llene aceite nuevo de
motor por el agujero del tapon rellenador.
Par torsor especificado: 45 N-m (4,5 kg-m)
TAPON RELLENNADOR DE ACEITE
TAPON DE DRENAJE DE 14 mm

Aceite de
motor reco-
mendado

Aceite diesel SAE 10W-30
garantizado para satisfacer
los requisitos del fabricante
de automoviles de US para
Clasificacion CC o CD de
Servicio APl {Los aceites
diesel para servicio CCo CD
mostraran esta designacion
en en el recibiente). SAE
10W-30 se recomienda para
uso general en todas las tem-
peraturas. Seleccione la vis-
cosidad apropiada para la
temperatura promedio en su
area.

Capacidad
de aceite de
motor

GD1100

Tipo SH1: 2,9 2
Tipos SH2/SH3: 4,8 2
GD1250

Tipo SH1: 2,9 2
Tipos SH2/SH3: 4,8 2

1

Temperatura ambiente

PRECAUCION

* No llene aceite de motor sobrepassando

* Compruebe el aceite de motor con el mo-

la cantidad especificada.

tor posicionado horizontalmente.

3)

(1]
[2]
[31

Después de llenar con aceite de motor,
extraiga la variila para medir la profundidad
y compruebe el nivel de aceite. Limpie la va-
rilla con un pafio limpio e insértela en el tan-
que de aceite. Vuelva a sacar dicha varilla.
Cuando el nivel de aceite de motor esta por
debajo o cerca de [a marca de nivel inferior,
llene aceite especificado hasta el nivel entre
las marcas de nivel superior e inferior.

VARILLA

MARCA SUPERIOR

MARCA INFERIOR

DEPURADOR DE AIRE

1

2)
(11
(2]

[3]
[4]

Suelte las dos grapas en ambos lados de la
cubierta de la caja del depurador de aire y
quite la cubierta.
Saque el perno de mariposa luego extraiga
el elemento de la caja del depurador de aire.
CUBIERTA DE LA CAJA DEL DEPURADOR
DE AIRE
PERNO DE MARIPOSA
ELEMENTO
ABRAZADERA




HONDA
GD1100-GD1250

3) Remove dirt from the element by blowing compressed air
from the inside out along the folds of the element.

CAUTION

* Do not operate the engine with the element removed.

Replace element if it is excessively dirty, worn or damage.

OIL FILTER CARTRIDGE

1) Drain engine oil. (See page 3-2.)
2) Attach special tool to oil filter cartridge and remove it.

3) Clean cartridge mounting section. Coat the new cartridge
O-ring with a thin film of engine oil, install the cartridge on
the engine and hand-tighten it.

4) Tighten the oil filter cartridge to the specified torque by us-
ing the special tool used for cartridge removal.

Specified torque: 22 N-m (2.2 kg-m, 15.91 ft-lb)

5) Fill the oil tank with the specified amount of engine oil and
run the engine for several minutes. Check the oil filter car-
tridge for oil leaks.

6) Stop the engine and check the oil level. If the oil ievel is low,
fill to the correct level.

FUEL FILTER

AWARNING

« Danger of fire! Keep sparks, open flames and cigarettes
away from fuel.

1) Turn the fuel valve lever to *‘OFF"’.

2) Remove the set ring and strainer.

3) Install coil spring and the new strainer in strainer chamber
and tighten with the set ring.

[1] OIL FILTER
WRENCH
No. 07912—
6110001

‘‘‘‘‘‘

R
VRN L
Y \\\@\‘,\(Ve_;ﬁu\{ L f‘h

\//

[1] STRAINER

CHAMBER ~ [

[6] SET
RING

\,\ [4] coIL

SPRING

3-3



HONDA

GD1100-GD1250

3) Enlever la poussiére de I'élément avec de I’air
comprimé, de I'intérieur vers I’extérieur dans
les parties repliées de I’élément.

PRECAUTION

* Ne pas faire tourner le moteur quand I’élé-
ment est déposé.

Remplacer 1’élément s’il est excessivement
sale, usé ou endommagé.

ELEMENT DE FILTRE A
HUILE

1) Vidanger I’huile moteur (voir page 3-2).
2) Monter I’outil spécial sur I’élément de filtre
a huile et le déposer.

[11 CLE DE FILTRE A HUILE
N°07912-6110001

3) Nettoyer la section de montage de I’élément.
Enduire le joint torique du nouvel élément
d’un film mince d’huile moteur, puis mon-
ter I’élément sur le moteur et le serrer a la
main,

4) Resserrer I’élément de filtre a huile au cou-
ple spécifi¢ en utilisant 1’outil spécial qui a
servi a enlever 1’élément.

Couple spécifié : 22 N-m (2,2 kg-m)

5) Remplir le réservoir d’huile avec la quantité
spécifiée d’huile moteur et faire tourner le
moteur pendant quelques minutes. Vérifier
que I’élément de filtre & huile ne fuit pas.

6) Arréter le moteur et vérifier le niveau d’huile.
S’il est bas, faire ’appoint au niveau correct.

FILTRE A CARBURANT

,A ATTENTION

¢ Risques d’incendie. Eloigner les étincelles,
les flammes vives et les cigarettes du
carburant.

1) Mettre le robinet de carburant sur ‘“‘OFF”’,

2) Déposer la bague de fixation et la crépine.

3) Monter le ressort a boudin et une nouvelle
crépine dans le logement de crépine et res-
serrer avec la bague de fixation.

[11 LOGEMENT DE CREPINE

[21 LEVIER DE ROBINET DE

CARBURANT

[31 CREPINE

[4]1 RESSORT A BOUDIN

[51 BAGUE DE FIXATION

3) Den Einsatz mit Druckluft von der Innen-
seite aus nach auRen entlang den Falgen
des Einsatzes ausblasen, um Schmutz zu
entfernen.

VORSICHT

Den Motor bei entferntem Einsatz

nicht laufen lassen.

Den Einsatz auswechseln, falls er (ber-
maRig verschmutzt, abgenutzt oder be-
schadigt ist.

OLFILTERPATRONE

1) Das Motordl ablassen (siehe Seite 3-2).

2) Das Spezialwerkzeug an der Olfilter-
patrone anbringen und die Patrone ent-
fernen.

[1] OLFILTERSCHLUSSEL
Nr.07912—6110001

3) Die Befestigungsstelle der Patrone rei-
nigen. Eine dinne Schicht Motordl auf den
O-Ring der neuen Patrone auftragen, die
Patrone am Motor anbringen und finger-
fest anziehen.

Die Olifilterpatrone mit dem zum Ausbau
der Patrone verwendeten Spezialwerkzeug
auf das vorgeschriebene Anzugsmoment
anziehen,

4

Vorgeschriebenes Anzugsmoment:
22 N-m (2,2 kg-m)

5

Den Olbehalter mit der vorgeschriebenen
Menge Motordl fillen und den Motor
mehrere Minuten lang laufen lassen, Die
Olfilterpatrone danach auf Austreten von
Ol iiberpriifen.

Den Motor abstellen und den Olstand kon-
trollieren. Falls der Stand zu niedrig ist,
Motordl bis auf den richtigen Pegel nach-
fallen.

KRAFTSTOFFILTER

AWARNUNG

Feuergefahr! Funken, offene Flammen
und Zigaretten vom Kraftstoff fern-
halten,

6

1) Den Kraftstoffventilhebel
stellen.

2) Den Haltering und das Sieb entfernen,

3) Die Schraubenfeder und das neue Sieb in
die Siebkammer montieren und mit dem
Haltering sichern,

[11 SIEBKAMMER

[2] KRAFTSTOFFVENTILHEBEL
[3] siEB

[4] SCHRAUBENFEDER

[5] HALTERING

auf 'OFF’"

3) Elimine la suciendad el elemento insuflando
aire comprimido desde el interior hacia afuera
a lo largo de los pliegues del elemento.

PRECAUCION

* No opere el motor con elemento extraido.

Combie el elemento si esta demasiado sucio
desgastado o dafiado.

CARTUCHO DEL FILTRO
DE ACEITE

1) Drene el aceite de motor. (Vea la pagina 3-2.)
2) Aplique la herramienta especial al cartucho
del filtro de aceite y extraigalo.
[1] LLAVE DE TUERCAS DEL FILTRO DE
ACEITE No0.07912-6110001

3) Limpie la seccién de montaje del cartucho.
Recubra la junta torica del nuevo cartucho
con una capa fina de aceite de motor instale
el cartucho en elmotor y apriételo con la
mano.

4) Apriete el cartucho del filtro de aceite al par
torsor especificado utilizando la herramien-
ta especial que se usa para extraer cartuchos.

Par torsor especificado: 22 N:m (2,2 kg-m)

5) Llene el tanque de aceite con la cantidad es-
pecificada de aceite de motor y deje en
marcha el motor durante varios minutos.
Compruebe el cartucho del filtro de aceite pa-
ra ver si hay fuga de aceite.

6) Pare el motor y compruebe el nivel del aceite.
Si el nivel del aceite esta bajo llene aceite has-
ta el nivel correcto.

FILTRO DE COMBUSTIBLE

¢ ;Peligro de incendio! Mantenga lejos del
combustible todo tipo de chispas llamas y
cigarrillos encendidos.

1) Posicione en “OFF’ la palanca de la valvula
de combustible.

2) Extraiga el anillo de fijacion y el colador.

3) Instale el resorte helicoidal y el nuevo cola-
dor en la camara del colador y apriete con
el anillo de sujecion.

[1] CAMARA DEL COLADOR

[2] PALANCA DE VALVULA DE COM-

BUSTIBLE

[31 COLADOR

[4] RESORTE HELICOIDAL

[5] ANILLO DE SUJECION

3-3



HONDA

GD1100-GD1250

ALTERNATOR BELT

1) Check the alternator beit and replace if it is worn or damag-
ed. To replace the belt, loosen the two boits shown in the

drawing.

2) Push on the belt midway between water pump pulley and
alternator pulley with a force of 10 kg (72.3 ft-lb) and
measure the belt slack.

11—13 mm (0.43—0.51 in)
[10—12 mm (0.39—-0.47 in) when
the belt is new]

Specified belt slack

3} If the belt slack is out of specification, remove the two bolts
and move alternator to adjust the belt slack.
After the adjustment, tighten bolts to the specified torque.

Specified torque: 22 N-m (2.2 kg-m, 15.91 ft-lb)

INJECTION NOZZLE

AWARNING

No sparks or open flames.

« Before removing the injection nozzle, clean your hands
and the area around the injection nozzle. After removing,
take care not to allow dust, dirt or foreign materials to

enter the fuel pipes, nozzle, and the cylinders.

1) Remove fuel pipe A, B and C from each injection nozzle.
Remove each fuel tube.

2) Loosen the nuts on each injection nozzle. Turn the air
breather joint B to remove the two nozzle mounting nuts,
then remove nozzle.

3) Remove the carbon from the bottom of the injection nozzie
with a wire brush, and wipe the bottom of nozzle with a
clean cloth.

10 kg (72.3 ft-Ib)

11—13 mm
{0.43—0.51 in)

[3]1 ALTERNATO

PULLEY

[1]1 WATER
PUMP
PULLEY

[2] NUT

[1]1 AIR
BREATHER
JOINT B

[4] FUEL TUBE™

[31 NUT (2}

q\U[s] FUEL PIPE

<D
TS

3-4



HONDA

GD1100-GD1250

COURROIE D’ALTERNATEUR

1) Vérifier la courroie d’alternateur et la

remplacer si elle est usée ou endomma-
gée. Pour remplacer la courroie, desser-
rer les deux boulons indiqués sur
I’illustration.

2) Pousser sur la courroie a mi-chemin

entre la poulie de pompe et la poulie
d’alternateur avec une force de 10 kg et
mesurer la fleche de la courroie.

Fleche de 11—13 mm
la courroie (Quand la courroie est
spécifiée neuve: 10—12 mm)

3) Si la fléche de la courroie est hors des

spécifications, enlever les deux boulons
et déplacer I’alternateur pour régler la
fleche de la courroie.

Aprés le réglage, resserrer les boulons
au couple spécifié.

Couple spécifié: 22 N-m (2,2 kg-m)

[1}POULIE DE POMPE A EAU
[2]BOULONS (2)
[31POULIE D’ALTERNATEUR

I

NJECTEUR

A ATTENTION

® Ecarter les étincelles ou les flammes.

* Avant d’enlever I'injecteur, se laver les
mains et nettoyer la zone qui entoure
Pinjecteur. Aprés la dépose, prendre garde
a ne pas laisser pénétrer de la poussiére, des
saletés ou des matiéres étrangéres dans les
durites de carburant, I’injecteur et les
cylindres.

1

2

~

Enlever la canalisation A, le ruban C i
chaque injecteur.

Enlever chaque conduite de carburant.
Desserrer les écrous sur chaque injecteur.
Tourner le joint B du reniflard d’air pour
enlever les deux écrous de montage de I’injec-
teur, puis déposer I'injecteur.

~

[1] JOINT B DU RENIFLARD
2] ECROU

[31 ECROU (2)

[4] DURITE DE CARBURANT
[5]1 TUYAU DE CARBURANT

3

) Déposer le charbon au bas de ’injecteur avec
une brosse métallique et essuyer le fond de
I’injecteur avec un chiffon propre.

LI
1}

N

CHTMASCHINENRIEMEN

Den Lichtmaschinenriemen Uberpriifen
und auswechseln, falls er verschlissen oder
beschadigt ist. Zum Auswechseln des
Riemens die beiden in der Abbildung ge-
zeigten Schrauben |6sen,

Mit einer Kraft von 10 kg auf den Riemen
in der Mitte zwischen Wasserpumpen-
riemenscheibe und Lichtmaschinenriemen-
scheibe driicken und den Riemendurch-
hang messen,

R

hang

Vorgeschriebener | 11-=13 mm

iemendurch- {10—12 mm bei

| neuem Riemen)

3)

[1]
[21
(3l

El

A WARNUNG

Falls der Durchhang nicht der Vorschrift
entspricht, die zwei Schrauben heraus-
drehen und die Lage der Lichtmaschine
verandern, um den Riemen zu straffen.
Nach beendeter Einstellung die Schrauben
auf das vorgeschriebene Anzugsmoment
anziehen,

Vorgeschriebenes Anzugsmoment:
22 N'm (2,2 kg-m)

WASSERPUMPEN-RIEMENSCHEIBE
SCHRAUBE (2)
LICHTMASCHINEN-RIEMENSCHEIBE

NSPRITZDUSE

Funken und offene Flammen fern-
halten.

Vor dem Ausbau der Einspritzdiise die
Hénde waschen und den Bereich um
die Dise reinigen. Nach dem Ausbau
der Diise dafiir sorgen, dal weder Staub
oder Schmutz noch Fremdkdrper in
die Kraftstoffrohre, die Einspritzdiise
und die Zylinder eindringen kann.

1)

(1]
(2]
(3]
[4]
(5]

3)

Kraftstoffrohr A, B und C von jeder Ein-
spritzdlise trennen, Jeden Kraftstoff-
schlauch ausbauen.

Die Muttern an jeder Einspritzdiise los-
drehen, Das Entliftergelenk B drehen, um
die zwei Diusenbefestigungsmuttern zu
entfernen, und die Einspritzdise vom
Motor entfernen,

ENTLUFTERGELENK B

MUTTER

MUTTER (2)
KRAFTSTOFFSCHLAUCH
KRAFTSTOFFROHR
Olkohleablagerungen mit einer Draht-

birste von der Unterserte der Einspritz-
diise entfernen und die Unterseite der Diise
mit einem sauberen Lappen abwischen,

CORREA DEL GENERADOR
ELECTRICO

1)

Compruebe la correa del generador eléctri-
co y cambiela si estd gastada o danada. para
cambiar la correa afloje los dos pernos que
se muestran en el plano.

Presione la correa hacia la mitad entre la
polea de la bomba de agua y la polea del
generador eléctrico con una fuerza de 10
kg y mida la holgura de la correa.

Holgura espe- 11~13 mm
cificada de (10~12 mm cuando
la correa la correa es nueva)
3) Sila holgura de la correa esta fuera de la es-

(1
(2
3

B

A ADVIRTFNCIA

pecificacién saque los dos pernos y extraiga
el generador eléctrico para ajustar la holgu-
ra de la corea.

Después del ajuste apriete los pernos al par
torsor especificado.

Par torsor especificado: 22 N'm (2,2 kg-m)

1 POLELA DE LA BOMBA DE AGUA
] PERNO (2)
1 POLEA DEL GENERADOR ELECTRICO

OQUILLA DE INYECCION

* No permita chispas ni llamas.

* Antes de extraer la boquilla de inyeccion
lavese bien las manos y limpie el drea alre-
dedor de la boquilla de inyeccién. Después
de extraida tenga cuidado en no permitir
que entre polvo ni materias extrafas en los
tubos del combustible, boquilla y cilindros.

[
[2
3
[4
[5

3)

Extraiga los tubos de combustible A, By C
de cada boquilla de inyeccién. Extraiga ca-
da tubo.
Afloje las dos tuercas en cada boquilla de in-
sercion. Gire la junta del respiradero de aire
B para extraer las dos tuercas de montaje de
la boquilla luego extraiga la boquilla.

) JUNTA B DEL RESPIRADERO DE AIRE

1 TUERCA

] TUERCA (2)

] TUBE DE COMBUSTIBLE

] TUBE DE COMBUSTIBLE

Elimine el carbdn de la parte inferior de la
boquilla de inyeccion con un cepillo de
alambre y frote bien el fondo de la boquilla
con un pano limpio.




HONDA
GD1100-GD1250

4) Install each nozzle on a commercially available nozzle
tester.

Make sure fuel jets out equally from each nozzle.

5) Remove the gasket from each nozzle and replace with a
new one. Install each nozzle.

6) Coat the flange nut threads with grease and tighten the
nuts to the specified torque.

Specified torque:
10 N-m (1.0 kg-m, 7.23 ft-ib)
[Tighten to 5 N-m (0.5 kg-m, 3.62 ft-Ib) initially, then to
10 N-m (1.0 kg-m, 7.23 ft-Ib)]

CAUTION

[1]
NOZZLE TESTER

(COMMERCIALLY
AVAILABLE}

(' Equally tighten both flange nuts on each injection nozzle.

VALVE CLEARANCE

* Adjust the valve clearance when the engine is cold.

1) Remove the two 6 mm cap nuts and the head cover.

2} Attach the wrench to the 12 mm special bolt located below
the cooling fan.

[2] 6 mm CAP
NUT (2)

SRV
L1112 mm
«._ - SPECIAL

3-5



HONDA

GD1100-GD1250

4) Monter chaque injecteur sur un appareil
d’essai d’injecteur vendu dans le commerce.

APPAREIL D’ESSAI D’INJECTEUR
VENDU DANS LE COMMERCE

R

S’assurer que le carburant gicle de la méme
maniere par chaque injecteur.

5) Déposer le joint de chaque injecteur et le rem-
placer par un nouveau. Remonter chaque
injecteur.

6) Enduire les filets de 1’écrou a embase avec
de la graisse et serrer les écrous au couple
spécifié.

Couple spécifié: 10N-m (1,0 kg-m)
[Resserrer d’abord a4 5§ N-m (0,5 kg-m),
puis 2 10N-m (1,0 kg-m]

PRECAUTION

¢ Serrer les deux écrous a embase de la méme

maniére sur les injecteurs.

JEU AUX SOUPAPES

*  Régler le jeu aux soupapes quand le moteur
est froid.

1) Enlever les deux écrous de capuchon de 6 mm
et le cache-culbuteurs

[1]1 CACHE-CULBUTEURS
[2] ECROU DE CAPUCHON 6 mm (2)

2) Monter la clé sur le boulon spécial de 12 mm
situé sous le ventilateur.
[1] BOULON SPECIAL 12 mm

4) Die Duse an einem handelsiiblichen Diisen-
prifgerat anbringen.

DUSENPRUFGERAT
(IM HANDEL ERHALTLICH)

[1]

Sicherstellen, da Kraftstoff gleichméRig aus
der Diise spritzt,

5) Die Dichtung von der Dise entfernen und
gegen eine neue Dichtung auswechseln,
Die Duse an den Motor montieren.

6} Die Gewinde der Bundmuttern einfetten
und die Muttern auf das vorgeschriebene
Anzugsmoment anziehen.
Vorgeschriebenes Anzugsmoment:

10 N-m (1,0 kg-m)
[Zunidchst auf 5 N-m (0,5 kg-m), dann
auf 10 N-m {1,0 kg-m) anziehen.]

VORSICHT

Beide Bundmuttern an jeder Einspriitz-
diise gleichmaRig anziehen.

VENTILSPIEL

* Das Ventilspiel bei kaltem Maotor einstellen.
1) Die zwei 6mm-Hutmuttern losdrehen
und den Zylinderkopfdeckel entfernen.

(11 ZYLINDERKOPFDECKEL
[2] HUTMUTTER, 6 mm (2}

2} Einen Schliissel an die 12-mm-Spezial-
schraube unterhalb des Kiihlgeblases an-
setzen.

[1] SPEZIALSCHRAUBE, 12 mm

4) Instale cada boquilla en un probador de bo-
quilla disponible en el mercado.

[11 PROBADOR DE BOQUILLA (DISPONIBLE

EN EL MERCADOQO)

Asegurese de que el combustible sale a chorro

igualmente de cada boquilla.

5) Extraiga la empaquetadura de cada boquilla
y cambielas por otras nuevas. Instale cada
boquilla.

6) Aplique una capa de grasa sobre la brida y
roscas de la tuerca y apruete las tuercas al par
torsor especificado.

Par torsor especificado:
10 N'm (1,0 kg-m)
[Apriete a 5 N'm (0,5 kg-m) inicial-
mente luego a 10 N-m (1,0 kg-m)
PRECAUCION

¢ Apriete uniformemente ambas tuercas de
brida en cada bogquilla de inyeccién.

TOLERANCIA DE VALVULA

* Ajuste la tolerancia de valvula cuando el mo-
tor esta frio.
1) Saque las dos tuercas ciegas de 6 mmy la cu-
bierta de la culata.

CUBIERTA DE CULATA
TUERCA CIEGA DE 6 mm (2)

[1]
(21

2) Aplique la llave de sacar tuercas a cada per-
no especial de 12 mm ubicado debajo del
ventilador.

[11 PERNO ESPECIAL DE 12 mm




HONDA
GD1100-GD1250

3) Turn the wrench in the direction shown, and align the mark
on the camshaft holder A with the ** ) "“mark. (The No. 1
piston is at top dead center of the compression stroke at
this time.) With the No. 1 piston held at top dead center, ad-
just the intake and exhaust vaive clearance of No. 1
cylinder.

Loosen tappet adjusting nut, insert feeler gauge between
rocker arm and valve stem, and turn tappet adjusting screw
for adjustment.

0.2 + 0.02 mm
(0.0078 + 0.0008 in)

Valve clearance IN/EX:

4) After adjustment, tighten tappet adjusting nut to the
specified torque and recheck the valve clearance.

5) Turn the 12 mm special bolt described in step 2) further un-
til the '€ '" mark aligns with the mark on the camshaft
holder. Adjust intake and exhaust valve clearance of the
No. 3 piston. Turn the bolt further until the &'’ mark
aligns with the mark on the camshaft holder. (No.2 piston is
at top dead center of the compression stroke.) Adjust the
intake and exhaust valve clearance of No. 2 piston.

Camshaft mark
120° 120°
— ' mark — '’ mark
No. 3 cylinder No. 2 cylinder

1 @ re mark
No. 1 cylinder

6) Install head cover after adjusting the valve clearance.

RADIATOR COOLANT

1) Loosen radiator filler cap to release the pressure, then
retighten the radiator filler cap.

A WARNING

Radiator coolant is under pressure and may squirt out
when the radiator filler cap is loosened suddenly. Wait
until the engine cools down, wrap the cap with a cloth,
and loosen it slowly.

2) Loosen the drain bolt, remove the radiator filler cap, and
drain the radiator coolant.

AWARNING

» The radiator coolant drains quickly. Take care not to get
it on your face or hands.

After draining the coolant completely, tighten the drain bolt
securely.

[11 MARK

[3] TAPPET ADJUSTING

[4] TAPPET ADJUSTING
21 " § " MARK NUT

[1] "¢ " MARK (No. 3 PISTON AT TOP DEAD
CENTER OF COMPRESSION STROKE)

[2] s " MARK (No. 2 PISTON
AT TOP DEAD CENTER OF
COMPRESSION STROKE

[1] RADIATOR FILLER

{11 DRAIN BOLT;

3-6



HONDA
GD1100-GD1250

3) Tourner la clef dans la direction indiquée et
aligner le repére sur le support d’arbre a
cames A avec le repére ‘&), (Le piston n°
1 est au point-mort haut du temps de com-
pression 4 ce moment). Pendant que le pis-
ton n° 1 est maintenu au point-mort haut,
régler le jeu aux soupapes d’admission et
d’échappement du cylindre n® 1.

Desserrer I’écrou de réglage du poussoir, insé-
rer le calibre d’épaisseur entre le culbuteur
et la queue de soupape et tourner la vis de
réglage de poussoir pour ajuster.

Jeu aux soupapes
ADM./ECH.

0,2 * 0,02 mm

[11 REPERE

[21 REPERE “ §”

[3] VIS DE REGLAGE DE POUSSOIR

[4] ECROU DE REGLAGE DE POUSSOIR

4) Apres le réglage, resserrer I'écrou au couple
spécifié et vérifier a nouvau le jeu aux
soupapes.

5) Tourner le boulon spécial de 12 mm de la
phase 2), jusqu'a ce que le repére ‘i s’ali-
gne avec le repére sur le support de came.
Régler le jeu aux soupapes d’admission et
d’échappement du piston n® 3. Tourner
encore le boulon jusqu’a ce que le repére *

&’ g’aligne sur le repére du support d’arbre
A came. (Le piston n” 2 est au point-mort
haut du temps de compression). Régler le jeu
aux soupapes d’admission et d’échappement
du piston n° 3.

Repére d’arbre a cames

120° 120°

Repere ““ §) ' —Repére ‘=" —Repére ‘e

du cylindre du cylindre du cylindre

n° 1 n°3 n° 2

6) Monter le cache-culbuteurs apres avoir réglé
le jeu aux soupapes.

{11 REPERE ‘"’ (LE PISTON N° 3 EST
AU POINT MORT HAUT DU TEMPS
DE COMPRESSION)

[2] REPERE “‘&x (LE PISTON N° 2 EST
AU POINT MORT HAUT DU TEMPS
DE COMPRESSION)

LIQUIDE DE REFROIDISSE-
MENT DU RADIATEUR

1) Desserrer le bouchon de remplissage du
radiateur pour relacher la pression puis res-
serrer le bouchon.

® Le liquide de refroidi t du radiateur
est sous pression et peut jaillir lorsque le
bouchon de remplissage est desserré brus-
quement. Attendre jusqu’a ce que le moteur
refroidisse, envelopper le bouchon dans un
chiffon et le desserrer lentement.

[11 CAPUCHON DE REMPLISSAGE DE
RADIATEUR

2)  Resserrer le boulon de vidange, déposer le
capuchon de remplissage de radiateur et
vidanger le liquide de refroidissement.

¢ Le liquide de refroidissement se vidange
rapidement. Faire attention & ne pas en pro-
jeter sur les mains ou le visage.

Lorsque la vidange du liquide de refroidissement
est terminée, resserrer fermement le boulon de
vidange.

[1] OULON DE VIDANGE

3) Den Schiiissel in der gezeigten Richtung

drehen und die Marke an Nockenwellen-
halter A auf die *J "-Marke ausrichten,
{Zu diesem Zeitpunkt befindet sich Kol-
ben Nr. 1 am oberen Totpunkt im Ver-
dichtungstakt.) Kolben Nr. 1 am oberen
Totpunkt halten und das Spiel des EinlaR-
und des AuslaRventils von Zylinder Nr. 1
einstellen.
Die StoReleinstelimutter i0sen, eine Fihler-
lehre zwischen Kipphebel und Ventil-
schaft einfihren und die St&Releinstell-
schraube drehen, um die Einstellung vor-
zunehmen.

Ventilspiel EIN/AUS: | 0,2+ 0,02mm

I+

1] MARKE

[2] ¥ "-MARKE

13] STUSSELEINSTELLSCHRAUBE

[4] STOSSELEINSTELLMUTTER

4} Nach beendeter Einstellung die StoRelein-
stelimutter auf das vorgeschriebene An-
zugsmoment anziehen und das Ventilspiel
nachkontrollieren.

Die in Schritt 2) oben genannte 12-mm-
Spezialschraube weiter drehen, bis die
“¢n"-Marke mit der Marke am Nocken-
wellenhalter zur Deckung kommt, Das
Spiel des Einla® und des AuslaRventils
von Kolben Nr. einstellen. Die Schraube
weiter drehen, bis die "g='"-Marke mit der
Marke am Nockenwellenhalter zur Deckung
kommt. (Zu diesem Zeitpunkt befindet
sich Kolben Nr. 1 am oberen Totpunkt im
Verdichtungstakt.) Kolben Nr. 2 am
oberen Totpunkt halten und das Spiel des
Einlak- und des AuslaRventils von Zylinder
Nr. 2 einstellen.

5

Nockenwellenmarke

120° 120°
" "Marke | en-Marke ey -Marke
Zylinder Zylinder Zylinder
Nr. 1 Nr. 3 Nr. 2

6) Nach beendeter Einstellung des Ventil-
spiels den Zylinderkopfdecke! wieder ein-
bauen.

(1] “<"-MARKE (KOLBEN NR. 3 AM
OBEREN TOTPUNKT IM VER-
DICHTUNGSTAKT}

(2] *‘e=/"-MARKE (KOLBEN NR. 2 AM
OBEREN TOTPUNKT IM VER-
DICHTUNGSTAKT)

KUHLMITTEL

1) Den KihlerverschluRdeckel 16sen, um
Druck abzulassen, und den Deckel danach
wieder anziehen,

AWARNUNG

Das Kihlmittel steht unter Druck und
kann herausspritzen, wenn der Kihler-
verschluBdeckel zu pldtzlich abge-
schraubt wird. Zundchst warten, bis
sich der Motor abgekiihit hat, dann
einen Lappen um den Dackel wickeln
und diesen langsam abschrauben.

[11 KUHLERVERSCHLUSSDECKEL

2} Die AblaRschraube I6sen, den Kihlerver-
schluRdeckel entfernen und das Kihimittel
ablassen.

ARNUNG

Das Kiihimittel lsuft sehr schnell ab. |
i Darauf achten, daR es nicht ins Gesicht
1 oder an die Hande gerat. \

Nach vollstandigem Ablassen des Kiihimittels
die AblaRschraube wieder fest anziehen,

[1] ABLASS-SCHRAUBE

3) Gira la llave de sacar tuercas en la direccién

que se muestra en la figura y alinee la marca
en el sujetador del ciguenal A con la marca
3" (El émbolo No.1 esta en este momen-
to en el punto muerto tope de la carrera de
compresién.) Manteniendo el @émbolo No.1
en el centro muerto superior ajuste la tole-
rancia de vélvula de expulsion del cilindro
No.1.
Afloje la tuerca del alzavélvulas inserte el ma-
németro del calibrador entre el brazo de ba-
lancin y el vastago de la vélvula y gire el tor-
nillo de ajuste del alzavalvulas para hacer el
ajuste.

Tolerancia de valvula
ADJ/ES

[1] MARCA

21 “” MARCA

{31 TORNILLO DE AJUSTE DEL ALZA-
VALVULAS

[4] TUERCA DE AJUSTE DEL ALZAVALVULAS

0,2%0,02 mm

4) Después del ajuste apriete la tuerca de ajuste
del alzavalvulas al par torsor especificado y
vuelva a comprobar la tolerancia de valvula.
Gire el perno especial de 12 mm descrito en
el paso 2) hasta que la marca “={ quede ali-
neada con la marca en el sujetador del eje
de levas. Ajuste la tolerancia de la valvula
de admision y de expulsién del émbolo No.3.
Gire mas el perno hasta que la marca “>
quede alineada con la marca en el sujetador
del eje de levas. (El émbolo No.2 esta ahora
en el centro muerto tope de la carrera de
compresion.) Ajuste la tolerancia de valvu-
la de admisién y de expulsion del émbolo
No.2.
Marca del eje de levas

5

120° 120°
“J’ marca - ‘=" marca — “&>% marca
Cilindro Cilindro Cilindro
No.1 No.3 No.2

6) Instale la cubierta del cubezal después de
ajustar la tolerancia de valvula.

[1] MARCA "=’ (EMBOLO NO.3 EN
EL CENTRO MUERTO TOPE DE
LA CARRERA DE COMPRESION)
[2] MARCA “={ (EMBOLO NO.2 EN
EL CENTRO MUERTO TOPE DE LA
CARRERA DE COMPRESION)

ENFRIANTE DEL RADIADOR

1) Afloje el tap6n rellendor del radiador para li-
berar la presion luego vuelva a apretar dicho
tapon.

¢ El enfriante del radiador estd a presién y
se puede escapar a chorro cuando se aflo-
ja de repente el tapén rellenador del ra-
diador. Espere hasta que se enfrie el mo-
tor envuelva el tap6n con un paiio y aflé-
jelo despacio.

[11 TAPON RELENADOR DEL RADIADOR

2) Afioje el perno de drenaje extraiga el tapon
rellenador del radiador y drene el enfriante
del radiador.

¢ El enfriante del radiador se drena rapida-
mente. Tenga cuidado en que no llegue a
su cara 0 manos.

Después de drenar completamente el enfriante
apruete bien el perno de drenaje.

[1] PERNO DE DRENAJE




HONDA

GD1100-GD1250

3) Remove the 12 mm drain plug located behind the alter-
nator, and drain the radiator coolant from the cylinder
block.

CAUTION

« Protect the alternator from the radiator coolant while
draining.

After draining the coolant completely, tighten the 12 mm
drain piug securely.

4) Fili radiator with tap water (soft water) and Honda Ultra
Radiator Coolant mixture to the upper edge of the filler
neck. Loosen breather bolt on the top of the water outiet
joint to bleed the cooling system. After the air is removed
and radiator coolant flows from the breather bolt, tighten
the bolt securely.

CAUTION

[2] ALTERNATOR

» Be sure to mix tap water and Honda Uitra Radiator
Coolant. Do not mix with any other brand of coolant.

» Radiator coolant is poisonous!

+  Water and coolant mixture ratio should have a 5° margin

to the lowest temperature in the area.

{11 BREATHING BOLT

5) Fill radiator coolant to the upper edge of the radiator filler
neck and tighten the radiator filler cap.

6) Start the engine and run it for several minutes. Stop the
engine, remove the radiator filler cap, and check the
radiator level. If the level is low, refill to the upper edge of
the radiator filler neck. Repeat this procedure 2 or 3 times
until the coolant level does not drop any more. Tighten the
radiator filler cap securely.

Specified radiator coolant | Honda Ultra Radiator Coolant

Specified mixing ratio 30% (50% in cold areas)

[1]1 UPPER LIMIT

3-7




HONDA

GD1100-GD1250

3) Déposer le bouchon de vidange situé derriére
I’alternateur et vidanger le liquide de refroi-
dissement du radiator depuis le
bloc-cylindres.

PRECAUTION

* Pendant la vidange, protéger I’alternateur
du liquide de refroidissement de radiateur.

Apres avoir complétement vidangé le liquide
de refroidissement, resserrer fermement le
bouchon de vidange de 12 mm.

[1] BOUCHON DE VIDANGE 12 mm

[2] ALTERNATEUR

4) Remplir le radiateur avec un mélange d’eau
du robinet (eau non calcaire) et de liquide de
refroidissement Honda Ultra Radiator Coo-
lant jusqu’au bord supérieur du tube de rem-
plissage. Desserrer le boulon de reniflard sur
le dessus du joint de sortie d’eau pour pur-
ger le circuit de refroidissement. Une fois que
I’air est purgé, le liquide de refroidissement
du radiateur s’écoule par le boulon de reni-
flard, resserrer I’écrou fermement.

PRECAUTION

¢ Ne pas oublier de mélanger de I’eau du
robinet avec le liquide de refroidissement
Honda Ultra Radiator Coolant.

Ne pas le mélanger avec une autre marque
de liquide de refroidissement.

Le liquide de refroidissement de radiateur
est un poison !

La proportion du mélange d’eau et de
liquide de refroidissement doit étre de 50
% par rapport aux températures les plus
basses de la région.

{1l BOULON DE RENIFLARD

5) Remplir le radiateur jusqu’au bord supérieur
du tube de remplissage et resserrer le bouchon
de remplissage du réservoir.

6) Lancer le moteur et le faire tourner pendant
quelques minutes. Arréter le moteur, enlever
le capuchon de remplissage du radiateur et
vérifier le niveau du radiateur. Si le niveau
est bas, faire ’appoint jusqu’au bord supé-
rieur du tube de remplissage. Répéter cette
procédure 2 ou 3 fois jusqu’a ce que le niveau
de liquide de refroidissement ne goutte plus.
Resserrer fermement le bouchon de remplis-
sage du radiateur.

Liquide de .
refroidissement gonlda tUltra Radiator
spécifié oolan

30 (50 % dans les
régions froides)

Ratio de mélange
spécifié

[1] LIMITE SUPERIEURE

3) Die

12-mm-Abla3schraube hinter der
Lichtmaschine herausdrehen und Kduhi-
mittel aus dem Zylinderblock ablassen,

VORSICHT

3) Extraiga el tapon de drenaje de 12 mm ubi-

cado detras del generador eléctrico, y drene
el enfriante del radiador desde el bloque de
cilindros.

PRECAUCION

Beim Ablassen die Lichtmaschine vor
Kihimittel schiitzen.

* Proteja el generador eléctrico del enfriante
del radiador mientras hace el drenaje.

Nach vollstdandigem Ablassen des Kihl-
mittels die 12-mm-AblalRschraube wieder
fest anziehen,

[11 ABLASS-SCHRAUBE, 12 mm
[2] LICHTMASCHINE

4) Den Kihler mit einem Gemisch aus Lei-

tungswasser {weichem Wasser) und Honda
Ultra Radiator Coolant bis an den oberen
Rand des Einfilistutzens fillen. Die Ent-
liftungsschraube oben am Wasserauslaf3-
gelenk I6sen, um das Kihlsystem zu ent-
liften. Sobald keine Luft mehr austritt
und Kihlmittel aus der Entliftungs-
schraube flieRt, die Schraube fest anziehen.

VORSICHT

Después de drenar completamente el enfrian-
te apriete bien seguro el tapon de drenaje de
12 mm.

[11 TAPON DE DRENAJE DE 12 mm
[2] GENERADOR ELECTRICO

4) Llene el radiador con agua de grifo (agua blan-

da) y con mezcla de Ultra Enfriante de Ra-
diador Honda hasta el borde superior del
cuello del rellenador. Afloje el perno del res-
piradero en el tope de la junta de descraga
del agua para sangrar el sistema enfriador.
Después de purgado el aire y que el enfrian-
te fluya por el perno del respiradero apriete
bien el perno.

AVISO

Unbedingt ein Gemisch aus Leitungs-
wasser und Honda Ultra Radiator
Coolant einfillen. Keine andere Kihl-
mittelmarke verwenden.

Kihimittel ist giftig!

Das Wasser-KithImittel-Gemisch sollte
um etwa 5% liber dem Mischverhaltnis
fir die tiefste Temperatur im Einsatz-
gebiet liegen.

* Asegurese de mezclar agua de grifo y Ultra
Enfriante de Radiador Honda.
No mezcle con ninguna otra marca de
enfriante.

» ;El enfriante de radiador es venenoso!

* La proporcién de mezcla de agua y enfrian-
te deberd tener un margen de 5 a la tem-
peratura mas baja del drea.

{11 ENTLUFTUNGSSCHRAUBE

5

6

) Kihimittel bis an den oberen Rand des
Kihlereinfullstutzen einfiillen und den
KuhlerverschiuRdeckel wieder einschrau-
ben.

Den Motor anlassen und mehrere Minuten
laufen lassen, Danach den Motor ab-
stellen, den KihlerverschluBdecke! ent-
fernen und den KihImittelstand nachkon-
trollieren, Falls der Stand zu niedrig ist,
KuhImittel bis an den oberen Rand des
Einfillstutzens nachfiillen., Dieses Ver-
fahren zwei bis drei Mal wiederholen, bis
der Kiuhlmittelstand nicht mehr sinkt. Den

[1] PERNO DEL RESPIRADERO
5) Rellene enfriante de radiador hasta el borde

superior del cuello del rellenador de radiador
y apriete el tapon rellenador del radiador.

6) Ponga en marcha el motor y déjelo en marcha

durante varios minutos. Pare el motor extraiga
el tapon rellenador del radiador y compruebe
el nivel del radiador. Si el nivel esta bajo relle-
ne hasta el borde superior del cuelio del relle-
nador del radiador. Repita este procedimiento
2 6 3 veces hasta que el nivel del enfriante
no baje mas. Apriete bien el tapon rellena-
dor del radiador.

Ultra Enfriante de
Radiador Honda

Enfriante de radiador
especificado

KihlerverschluRdeckel wieder fest ein-
schrauben,
Vorgeschriebenes Honda Ultra

Kihimittel Radiator Coolant

30%
(50% en dareas frias)

Proporcion de mezcla
especificada

30% (60% in kalten
Gebieten)

Vorgeschriebenes
Gemisch

[1] OBERE GRENZE

{11 LIMITE SUPERIOR

3-7






